TVC(cbch)(OOO) TVC(cbch)(OOl) TVC(cbch)(OOZ) TVC(cbch)(003)
A7 zzze+04 /25 AT rnuLzuie+ud [ 25 A7 1 nui 1ooe+u4 /25 AT 1 nuiLzoae+ud [ 25

40008 po 4139+ 0.0 4000, po 4145+ 0.0 4000, po 4146+ 0.0 4000, po 4145+ 0.0
pl -34.3+ 0.0 pl -34.45+ 0.00 r pl -34.33+ 0.00 pl -33.7+ 0.0

3000

E 3000 - 3000 - 3000 [ B

2000 - 2000 -1 2000 = 2000

1000 -1 1000 - 1000

ol C = 29.68 [ps/ch]

L 1 L
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (0,0,4 TVC(cbch) (0,0,5 TVC(cbch) (0,0,6 TVC(c, bch) (0,0,7

Tnug 1zze+04 / 25 “ U Yyrye+ud [ 25 ~ 1 nug bole+ud / 25 S bze+ud [ 25
4000E pO 4182+ 0.0 4000, pO 4185+ 0.0 4000, pO 4178+ 0.0 4000, pO 4204+ 0.0
Pl -34.45:000 Pl 3475+ 000 [ PL_ 3335+ 000 347+ 00

3000 [~ - 3000 - 3000 L ] 3000 |- -
2000~ - 2000 -1 2000 -_ _- 2000 -
w00 C . 7] 1000 ] w0l C = 29.98 [ps/ch] ™. 7 woor C = 28.82 [ps/ch] _ 7]
1 1 - [ 1 1 - 1 1 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (O 0,8 TVC(cbch) (0 0,9 TVC(cbch) (0, 0 10 TVC(c, bch) (0, O

T i 313e+u4 / 25 Tz y3re+ud [ 25 T nuiL4zZ1e+04 /25 T 1we+u4/25
4000w, pO 4240+ 0.0 4000 f pO 42412 0.0 4000 f, DO 4264+ 0.0 4000 i, p0 4271 00
pl 37.2+ 0.0 359+ 0.0 L pl -36.12:+ 0.00 pL -35.62:+ 0.00

3000 - T 3000 B 3000 B 3000 B

2000 - 4 2000 - 2000 N 2000 B

1000~ C ] 1000 1 1000 T 1000 1

- -
" LS
1 1 1
0 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(CbCh)(OOl ) TVC(cbch)(OOlB) TVC(cbch)(0014) TVC(cbch)(OOlS)
~ g, yope+u4 / 25 Tinug.az/e+ud [ 25 T 1nug.g31e+04 /25 T nug szae+u4 [ 25
4000 4243+ 0.0 4000 4256+ 0.0 4000 PD 4241 0.0 4000 42441 0.0
-36.11 + 0.00 -35.41+ 0.00 r pl -35.09 + 0.00 -34.41+ 0.00

3000

N 3000 - 3000 N 3000

2000 2000 - 2000 2000

1000

= 1000

. 1o . wor C = 29,06 [ps/ch]™, 1
IS(I)Illllc:ol- Illlglﬁlllllﬂlol- Igéllllll;l]l-

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch)(OlO) TVC(cbch)(Oll) TVC(cbch)(OlZ) TVC(cbch)(013)
AT 1w uzie+ud /25 “rnan g ipe+ud [ 25 A™ 1L usbe+u4 [ 25 A~ 1L ubze+ud | 25
4000 e, po 41853‘ 4000 [, po 41943‘ 4000, po 42163‘ 4000 PO 4217?‘
pl -34.4+ 0.0 pl -35.22+ 0.00 : pl -36.15i_0.00 pl -36.26 + 0.00

-1 3000

- 3000 1

3000 =1 3000

2000 4 2000 - 2000 B 2000

] 1000 . 1000 - 1000

1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (0.1,4 TVC(cbch) (0.1, TVC(cbch) (0,1,6 TVC(cbch) (0.1,

TN g l?lleﬂjd 125 Tnarg 1)4ze+04/25 T Z)Uue+U4 125 T nan, L)lje+U4/25
4000 fom pO 4210+ 0.0 4000 Fem, pO 4217+ 0.0 4000 [, pO 4231 0.0 4000 s pO 42341 0.0
pl -34.61+ 0.00 pl -34.66 + 0.00 - pl -35.39+ 0.00 pl -34.61+ 0.00
3000 - -1 3000 - 3000 -— —- 3000 -
2000 1 2000 - 2000 __ __ 2000 - -
- —_ . - 1000~ - -1 L .
woF C = 28.90 [ps/ch] ™, 1000 FC=28.25[ps/chly, 7 ok C = 28.90 [ps/ch]™_
1 1 - [ 1 1 -4 1 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eh.ch=(0,1,8) TVC(e.e=(0,1,9) TVC(eh.eh=(0, 1, 10) TVC(ebe)=(0, 1, 1)
~ 1 nuiLyoze+ud / 25 T g1e+04/ 25 T rnuzuLie+u4 / 25 T rybe+u4 [ 25
4000 pO 4212400 4000 pO 4228+ 00 4000 DO 4246+ 00 4000, p0 4245+ 0.0
Pl -3521+0.00 Pl 3447000 L PL_ -3546% 0.00 Pl 3548+ 000

3000

-1 3000 - 3000 -1 3000 -1

2000 2000 ] 2000 E 2000

1000 . 1000 - 1000

1o00F C = 29.01 [ps/ch]

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(Oll ) TVC(cbch)(OllB) TVC(cbch)(Oll ) TVC(cbch)(0115)
T i ss4e+04 / 25 <1 nuiLqp5e+ud [ 25 T Lo e+u4 [ 25 T inuibive+ud [ 25
4000 fm, pO 4265+ 0.0 4000 [, pO 4271+ 0.0 4000 fm, PD 4255+ 0.0 4000 fe pO 4264+ 0.0
pl -37.22+ 0.00 pl -37.94+ 0.00 I pl -36.97 + 0.00 pl -37.07 + 0.00

3000

-1 3000 -1 3000 - 3000 -1

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 - 1000 - 1000
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50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,0)

- po

A7 1nun szoe+ud /25
4203+ 0.0
-36.43+ 0.00

pl

TP delay [ns]

TVC(cbch) (02,4

= o,

11be+04 / 25
4186+ 0.0
-35.8+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (O 2,8

T zuse+u4 /25
4228+ 0.0
-35.78 + 0.00

TP delay [ns]

TVC(cbch) (0,212

T L roe+u4 / 25
4246+ 0.0
-36.87 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,1)

=, po

AT 1 nuiLlive+ud /25
4197+ 0.0
-35.6 £ 0.0

p1

TP delay [ns]

TVC(c,b ch) (0 2,5

-1 nu Zoze+u4 [ 25
4205+ 0.0
-36.66 + 0.00

TP delay [ns]

TVC(c,b ch) (0 2,9

— po

pl

T nun 3o1e+ud [ 25
4260+ 0.0
-36.45 + 0.00

TP delay [ns]

TVC(C, bch) (0,213

T nuiLoove+ud /25
4231+ 0.0
-36.89+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

TVC(cbch) (0,2,2)

i

- po
p1

yo09 /25
4213+ 0.0
-35.95+ 0.00

TP delay [ns]

TVC(cbch) (0,2,6

©1nuiL44pe+04 | 25
4203+ 0.0
-36.43 + 0.00

- PO

: o

F C = 27.45 [ps/ch .
5 s

TP delay [ns]

TVC(cbch) (0, 2 10

F= b

~ 1 nuizpbbe+ud | 25
4262+ 0.0
-36.28 + 0.00

pl

TP delay [ns]

TVC(cbch) (0,214

~ 1L boe+U4 / 25
4247+ 0.0
-37.24+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,3)

o=, po

pl

AT rnuiLsr1e+ud [ 25
4222+ 0.0
-36.7 £ 0.0

TP delay [ns]

TVC(c,b ch) (0 2,7

- 11 buse+u4 / 25
4230+ 0.0
-37.3+ 0.0

1
50 100

TP delay [ns]

TVC(c,b ch) (0, 2

= pO

pl

T, uue+u4/25
4260+ 0.0
-36.07 + 0.00

TP delay [ns]

TVC(C, bch) (0,2, 15

A1 nan g

bye+ud / 25
4245+ 0.0
-37.07 + 0.00

TP delay [ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,0)

A1,

241e+04 /25
4201+ 0.0
-36.28 + 0.00

TP delay [ns]

TVC(cbch) (0,34

pee-. pO
pL

S i 09e+u4 /25
4189+ 0.0
-34.93+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 3,8

©1nuz.29pe+u4 | 25
= po 4223+ 0.0
pl -34.85+ 0.00

TP delay [ns]

TVC(cbch) (0,312

©rnuiL4sve+u4 / 25
= po 4258+ 0.0
pl -36.85+ 0.00

TP delay [ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,1)

= po

AT 1 nunLzose+ud [ 25
4200+ 0.0
-35.12+ 0.00

p1

TVC(c,b ch) (0 3,5

pO
pl

1
100

TP delay [ns]

=1 nui Zobe+u4 [ 25
4194+ 0.0
-35.41+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 3,9

T nun.yule+ud / 25
po 4237+ 0.0
pl -35.34 + 0.00

TP delay [ns]

TVC(C, bch) (0,3,13

Tinai s1ze+ud [ 25
pO 4249+ 0.0
-35.29+ 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

2000

4000

2000

1000

1000

TVC(cbch) (0,3,2)

po

AT 1nunzzae+04 /25
4213+ 0.0
-36.25+ 0.00

pl

TP delay [ns]

TVC(cbch) (0,36

T4 r5e+04 [ 25
4213+ 0.0
-36.86 + 0.00

- PO

[ o

F C = 27.13 [ps/ch .
5(') 100 -

TP delay [ns]

TVC(cbch) (0, 3 10

1000

T inuiz1y1e+u4 [ 25
- po 4247+ 0.0
- pl -35.16 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,3 14

T gs1e+u4 / 25
- pD 4269+ 0.0
L pl -36.42+ 0.00

3000

TP delay [ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,3)

e po

pl

AT 1 nuiL2yae+u4 [ 25
4225+ 0.0
-36.05+ 0.00

TVC(c,b ch) (0 3,7

E pO
pl

1
100

TP delay [ns]

Cnun131e+04 /25
4226+ 0.0
-35.61+ 0.00

TVC(c,b ch) (0, 3

TP delay [ns]

T, /zze+u4/25
po 4256+ 0.0
pl -35.87 + 0.00

TP delay [ns]

TVC(C, bch) (0,3,15

T nai z43e+04 [ 25
pO 4265+ 0.0
-35.41+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,0)

' po

X~ 1 zsbe+U4 [ 25

pl -37.13+ 0.00

4205+ 0.0

TP delay [ns]

TVC(cbch) (04,4

- i zs4e+u4 [ 25
= pO 4201% 0.0
pl -36.52:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 4,8

T L, fobe+u4 / 25
- pO 4221+ 0.0
pl -35.05+ 0.00

TP delay [ns]

TVC(cbch) (0,4,12

T4 e+04 /25
= po 4229+ 0.0
pl -36.56 + 0.00

TP delay [ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,1

AT 1nuiLgo/e+u4 [ 25
P, po 4185+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(c,b ch) (0 4,5

= rnuiL 3 ve+ud / 25
== po 4203+ 0.0
pl -36.95+ 0.00

TP delay [ns]

TVC(c,b ch) (0 4,9

Tinug1/ze+u4 [ 25
- po 4236+ 0.0
pl -35.12 + 0.00

TP delay [ns]

TVC(C, bch) (0,4,13

T inuiLasse+ud [ 25
4237+ 0.0
-36.51+ 0.00

TP delay [ns]
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3000
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1000

4000
3000
2000

1000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (0,4,2)

K™ 1 nui4nse+u4 /25
po 4221+ 0.0
pl -38.19+ 0.00

TP delay [ns]

TVC(cbch) (04,6

S rnun 1 ble+ud /25
pO 4224+ 0.0
pl -38.04 + 0.00

TP delay [ns]

TVC(cbch) (0, 4 10

T a1 rpe+u4 [ 25
. po 4258+ 0.0
- pl -35.69+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,4,14

~ 1L b44e+04 / 25
4228+ 0.0
-36.8 + 0.0
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50 100

TP delay [ns]

4000

3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,3)

AT rnu 1be+u4 /25
- po 4228+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(c,b ch) (0 4,7

-1 nui base+u4d / 25
- pO 4219+ 0.0
pl -37.27 + 0.00

50 100
TP delay [ns]

TVC(c,b ch) (0, 4

T ba/e+u4/25
- po 4265+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(C, bch) (0,4,15

<1 nui sboe+ud / 25
- pO 4237+ 0.0
p1 -37.57 + 0.00

TP delay [ns]



4000

3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,5,0)

e, po

K™ 1nuiLuyie+ud /25
4177+ 0.0
-36.77 + 0.00

pl

TP delay [ns]

TVC(cbch) (05,4

=i ub3e+ud / 25
4191+ 0.0
-35.32+ 0.00

TP delay [ns]

TVC(cbch) (O 58

B pD

p1

© il ysse+u4 / 25
4182+ 0.0
-34.54 + 0.00

TP delay [ns]

TVC(cbch) (0,5,12

e, po
p1

T L syse+u4 / 25
4195+ 0.0
-34.81+ 0.00

TP delay [ns]
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1000
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3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,51)

B, po

T z.uoe+ud / 25
4176+ 0.0
-37.68 + 0.00

p1

TP delay [ns]

TVC(c,b ch) (0 55

pO

pl

- nui 138e+04 / 25
4181+ 0.0
-36.24 + 0.00

TP delay [ns]

TVC(c,b ch) (0 59

= po

T inaiz14e+04 /25
4201% 0.0
-35.48 + 0.00

pl

TP delay [ns]

TVC(C, bch) (0,5,13

= pO

Tinaizrve+ud [ 25
4201+ 0.0
-34.68 + 0.00

TP delay [ns]

4000

3000
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1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

TVC(cbch) (0,5,2)

=, PO

A7 1nuizose+ud /25
4182+ 0.0
pl -36.85+ 0.00

TP delay

TVC(cbch) (0,56

pO
p1

[ns]

- rnuiL141e+04 / 25
4191+ 0.0
-36.04 + 0.00

TP delay

TVC(cbch) (0, 5 10

= pO

[ns]

© 1z 1z8e+04 | 25
4224+ 0.0
pl -35.29+ 0.00

TP delay

TVC(cbch) (0,5,14

F=. DD

[ns]

~ i zspe+ud | 25
4205+ 0.0
pl -35.64 + 0.00

TP delay

[ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,5,3)

e po

AT 1 nuiLzqoe+ud [ 25
4183+ 0.0
-36.27 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (0 57

E pO
pl

-1 nui 38be+u4 / 25

4203+ 0.0
-33.91+ 0.00

[ C =29.49 [ps/ch]

1
50 100

TP delay [ns]

TVC(c,b ch) (0, 5

= pO

T bb/e+U4/25
4218+ 0.0
-34.79 + 0.00

TP delay [ns]

TVC(C, bch) (0,5, 15

A rnan g

== po

3ve+ud /25
4203+ 0.0
-35.18 + 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,6,0

AT 1nun z43e+04 /25
., po 4206+ 0.0
pl -36.56 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (06,4

T 1 .38e+ud / 25
pO 4195+ 0.0
p1 -36.46+ 0.00

TP delay [ns]

TVC(cbch) (O 6,8

1z poze+u4 | 25
po 4212+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(cbch) (0,6,12

T rnuiLb1oe+u4 / 25
4223+ 0.0
-35.01+ 0.00
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TP delay [ns]
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1000
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1000

4000

3000
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1000

TVC(cbch) (0,6,1

AT rnuiLzioe+ud [ 25
Fee,, po 4197+ 0.0
p1 36+ 0.0

TP delay [ns]

TVC(c,b ch) (0 6,5

-1 nui 383e+04 / 25
e, pO 4178+ 0.0
pL -35.31% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 6,9

T nai fbbe+ud 25
4227+ 0.0
-36.4 + 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (0,6,13

T nuiLasse+ud [ 25
= pO 4216+ 0.0
pl -35.19+ 0.00

TP delay [ns]
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1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (0,6,2)

K™ 1 nui tove+u4 /25
o=, po 4202+ 0.0
L pl -35.72+ 0.00

3000

TP delay [ns]

TVC(cbch) (06,6

T nuiL431e+u4 / 25
- pO 4197 00
F Pl 3594+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 6 10

1000

0

Tinugzr1e+04 /25
. po 4252+ 0.0
- pl -37.23+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,6,14

~1nuiL4z4e+04 [ 25
- pD 4220+ 0.0
[ p1 -35.88 + 0.00

3000

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

TVC(cbch) (0,6,3

AT rnuiLlroe+ud [ 25
- po 4219+ 0.0
pl -36.35+ 0.00

TP delay [ns]

TVC(c,b ch) (0 6,7

=1 nui bye+u4 / 25
- pO 4194+ 0.0
p1 -34.98+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 6

T, /ibe+U4/25
= po 4266+ 0.0
pl -37.58 + 0.00

TP delay [ns]

TVC(C, bch) (0,6,15

T nui syve+ud / 25
4221+ 0.0
-35.61+ 0.00

TP delay [ns]
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1000

TVC(cbch) (0,7,0

A7 nui 1use+ud / 25
e po 4201+ 0.0
pl -37.51+ 0.00

TP delay [ns]

TVC(cbch) (07,4

T b r1e+u4 /25
- pO 42214 0.0
pl -35.51+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 7,8

©1nuzpape+u4 | 25
= po 4235+ 0.0
pl -36.72+ 0.00

TP delay [ns]

TVC(cbch) (0,7,12

T rnuiLpLse+u4 / 25
= po 4221+ 0.0
pl -34.61+ 0.00

TP delay [ns]
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TVC(cbch) (0,7,1

A1 Zave+Ud | 25
P, po 4212+ 0.0
pL -37.81% 0.00

TP delay [ns]

TVC(c,b ch) (0 7,5

- nun /38e+04 / 25
- pO 4224+ 0.0
pL -36.18+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,9

T nai1z3e+u4 [ 25
- pO 4242+ 0.0
pl -36.79 + 0.00

TP delay [ns]

TVC(C, bch) (0,7,13

T nuiL p3be+ud / 25
= pO 4238+ 0.0
pl -36.62+ 0.00

TP delay [ns]
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TVC(cbch) (0,7,2)

AT rnun 1 se+ud /25
po 4235+ 0.0
pl -38.09 + 0.00

TP delay [ns]

TVC(cbch) (0,7,6

S i1 81e+u4 /25
- pO 4224+ 0.0
[ pl -35.43+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 7 10

1000

T nuig.gloe+ud / 25
= po 4257+ 0.0
- pl -36.26 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,7,14

~ 1L puse+u4 / 25
- pD 4239+ 0.0
L pl -35.86 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,7,3)

AT 1 nuiLli4e+u4 /25
- po 4232+ 0.0
pl -37.15+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,7

-1 nui yzae+u4 [ 25
- pO 4219+ 0.0
p1 -34.81% 0.00

TP delay [ns]

TVC(c,b ch) (0, 7

T uze+u4/25
4260+ 0.0
-37.1+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (07,15

Tinuiorze+ud /25
e pO 4251+ 0.0
p1 -36.24 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,8,0

A7 1 nui zyye+ud [ 25
., po 4215+ 0.0
pl -36.24 + 0.00

TP delay [ns]

TVC(cbch) (08,4

T rnunL131e+u4 / 25
pO 4218+ 0.0
pl -35.08:+ 0.00

0

TP delay [ns]
TVC(cbch) (0.88) _
T rnug.uure+U4 5
- po 4238:‘
pl -36.55+ 0.00
TP delay [ns]
TVC(c,b ch) (0o, 8 12

~rnuiLbyse+u4 / 25
pO 4255+ 0.0
pl -37.21+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,81

AT 1 nunLloze+ud [ 25
P, po 4200+ 0.0
pl -35.08 + 0.00

TP delay [ns]

TVC(c,b ch) (0 8,5

- 1nui 1ble+u4 / 25
- pO 4212+ 0.0
p1 -34.49 + 0.00

TP delay [ns]

TVC(c,b ch) (0 8,9

T nun 5 ¥oe+u4 [ 25
- pO 4254+ 0.0
pl -36.02 + 0.00

TP delay [ns]

TVC(C, bch) (0,8,13

T nuiLpb/e+ud [ 25
= pO 4266+ 0.0
pl -37.19+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,8,2)

X~ 1w ziie+ud [ 25
po 4213+ 0.0
pl -35.83+ 0.00

TP delay [ns]

TVC(cbch) (0,86

T UL 3/0e+u4 / 25
4235+ 0.0
-35.8+ 0.0

TP delay [ns]

TVC(cbch) (0, 8 10

T nug.20/e+04 /25
po 4282+ 0.0
p1 -37.14 + 0.00

TP delay [ns]

TVC(cbch) (0,814

T rnuiLbo1e+U4 /25
pD 4264+ 0.0
pl -37.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,3

AT 1L szse+ud [ 25
- po 4231+ 0.0
pl -36.26 + 0.00

TP delay [ns]

TVC(c,b ch) (0 8,7

Srnan 1pe+ud /25
pO 4239+ 0.0
p1 -35.64 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 8

T, 1/ue+u4/25
= pO 4274+ 0.0
pl -36.86 + 0.00

TP delay [ns]

TVC(C, bch) (0,815

T inuiprse+ud [ 25
- pO 4256+ 0.0
p1 -36.59 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(0, 9,0)

T LAl Yub6 / 25
[, PO 4184+ 0.0
pl -35.68 + 0.00

TP delay [ns]

TVC(cbch) (0,9,4

- i zsge+ud | 25
= pO 4182 0.0
pl -35.53+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 9,8

1 nuiz.4uve+u4 | 25
PD 4216+ 0.0
pl -35.52+ 0.00

TP delay [ns]

TVC(cbch) (0,9,12

T nuiLob3e+u4 / 25
- PO 4221+ 0.0
pl -35.42 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,1

AT 1 nuiL 38be+u4 [ 25
- Y 4179+ 0.0
pl -35.04 + 0.00

TP delay [ns]

TVC(c,b ch) (0 9,5

-1 nui 463e+04 / 25
e, pO 4199+ 0.0
p1 -35.41% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 9,9

-1 nub.Ugbe+ud / 25
= DO 4212+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(C, bch) (0,9,13

T 1w 444e+04 [ 25
F=. pO 4198+ 0.0
pl -34.55 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (0,9,2)

o Lsoe+ud [ 25
- PO 4200+ 0.0
r pl -36.35+ 0.00

TP delay [ns]

TVC(cbch) (0,9,6

- L 553e+04 / 25
- pO 4199+ 0.0
r pl -35.79 + 0.00

TP delay [ns]

TVC(cbch) (0, 9 10

1000

T, [ r3e+04 [ 25
- DO 4248+ 0.0
r pl -36.04 + 0.00

TP delay [ns]

TVC(cbch) (0,9,14

T nuiLag1e+u4 [ 25
- PD 4209+ 0.0
F pl -34.25+ 0.00

- C = 29.20 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,3

AT 1 nuiL4uie+u4 /25
- Y 4201+ 0.0
pl -35.6 + 0.0

TP delay [ns]

TVC(c,b ch) (0 9,7

- nui /45e+04 / 25
= PO 4216+ 0.0
pL -36.77  0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0, 9

T nan a/4e+u4/25
- pO 4246 £ 0.0
pl -36.74 + 0.00

TP delay [ns]

TVC(C, bch) (0,9,15

T naisuse+ud / 25
4224+ 0.0
-35.01+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 10 0)

[ C =29.19 [ps/ch]

T yzze+ud [ 25
™ pO 4209+ 0.0
p1 -34.26 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,104

-1 nuiLa35e+04 / 25
e, pO 4226+ 0.0
pl -36.65 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 10 8

T 143e+04 /25
= po 4215+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(cbch) (0,10, 12

T L bsse+u4 / 25
= po 4260+ 0.0
pl -36.73+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,10,1)

[ C =29.06 [ps/ch]

AT rnunL13ie+ud /25
e, po 4206+ 0.0
pl -34.41+ 0.00

1 1
50 100

TP delay [ns]

TVC(c, bch) (0,10,5

=1 i boye+u4 / 25
- pO 4233+ 0.0
pL -37.37+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 10

-1 nuiz.yyae+ud 25
= po 4233+ 0.0
pl -36.63 + 0.00

TP delay [ns]

TVC(cbch) (010,13

T nuiayse+ud [ 25
- pO 4254+ 0.0
pl -36.13+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(CbCh) (0,10,2)

TP delay [ns]

TVC(cbch) (0.10,6

1000

=1 1uiL bobe+ud / 25
- pO 4235+ 0.0
[ pl -36.82+ 0.00

A7 1 nun ssoe+u4 / 25
__ po 4214+ 0.0
L pl -34.77 + 0.00

3000

TP delay [ns]

TVC(cbch) (0, 10 10

1000

0

Tz 1 rve+u4 | 25
- po 4254+ 0.0
- pl -36.73+ 0.00

TP delay [ns]

TVC(cbch) (0.10, 14

1000

T grve+u4 [ 25
- pD 4262+ 0.0
L pl -36.99 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,10,3)

AT rnuiLzrze+ud | 25
o po 4229+ 0.0
p1 -34.94+ 0.00

TP delay [ns]

TVC(c, bch) (0,10,7

- nun g3ze+u4 / 25
- pO 4258+ 0.0
-37.3+ 0.0

50 1(;0
TP delay [ns]

TVC(cbch) (o, 10 1

~ 1 nuia4ae+04 / 25
= pO 4249+ 0.0
pl -35.22 + 0.00

TP delay [ns]

TVC(cbch) (0,10,15

Tinan1sle+ud [ 25
= pO 4257+ 0.0
p1 -37.26 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (0,11,0)

A1 L soe+ud /25
P po 4158+ 0.0
p1 -34.72+ 0.00

TP delay [ns]

TVC(cbch) (0,11,4

-1 138e+04 / 25
™, pO 4165+ 0.0
pl -34.14 + 0.00

TP delay [ns]

TVC(cbch) (0, 11 8

1 nuiLysbe+U4 / 25
= po 4187+ 0.0
p1 -34.8+ 0.0

TP delay [ns]

TVC(cbch) (0,11, 12

X~ 1 bane+04 [ 25
- po 4212+ 0.0
pl -35.76 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,11,1)

A~ 1 nuiL4uve+ud [ 25
== po 4161+ 0.0
pl -35.28 + 0.00

TP delay [ns]

TVC(cbch) (0,11,5

-1 nuiL 304e+04 / 25
e, pO 4191% 0.0
p1 -34.95+ 0.00

TP delay [ns]

TVC(eh.eh)=(0, 11, 9

Tinuar p.ae+ud /25
= po 4209+ 0.0
p1 -34.78 + 0.00

TP delay [ns]

TVC(cbch) (0,11,13

Tinuis/1e+ud [ 25
== pO 4206+ 0.0
pl -35.58 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (o, 11 2)

1 nui z40e+U4 | 25

__— pO 4175+ 0.0
- pl -35.18+ 0.00

TP delay [ns]

TVC(cbch) (0,11,6

T rnuiLz5e+04 [ 25
- pO 4212+ 0.0
3 pl -36.05 + 0.00

TP delay [ns]

TVC(cbch) (0,11, 10

— X~ 1wz z1be+04 [ 25
bese, po 4198+ 0.0
o pl -34.38+ 0.00

TP delay [ns]

TVC(cbch) (0,11, 14

X~ 1 bz8e+04 [ 25
pee. po 4218+ 0.0
L p1 -36.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (o, 11 3)

T Ls1e+ud /25
poes, pO 4185+ 0.0
pl -35.11+ 0.00

TP delay [ns]

TVC(cbch) (0,11,7

S nun1.39e+04 [ 25
- pO 4197 0.0
p1 -34.29+ 0.00

TP delay [ns]

TVC(e.beh=(0, 11, 11

- -1 nuiL oyye+ud / 25
= pO 4214+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(c, bch) (0,11, 15

T nui so3e+ud [ 25
= pO 4211+ 0.0
-34.9+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,12,0)

T nuiL isoe+ud / 25
[ PO 4208+ 0.0
pl -35.47 + 0.00

TP delay [ns]

TVC(cbch) (0,124

-1 nuiLuple+ud / 25
pO 4218 0.0
pl -37.88 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 12 8

i s3/e+04 /25
- PD 4204+ 0.0
pl -36.79 + 0.00

TP delay [ns]

TVC(cbch) (0,12,12

TinuiLozie+u4 / 25
- PO 4220+ 0.0
pl -35.73+ 0.00

TP delay [ns]

TVC(cbch) (0,12,1)

3000

2000

1000

A L7 U4 25
4000 o, po 4217+ 0.0
pl -37.75+ 0.00

TP delay [ns]

TVC(cbch) (0,125

4000 o

3000

2000

1000 [~

- Hulidbe+04/25
DU 4208+ 0.0
pL -37.32+ 0.00

TP delay [ns]

TVC(c,b ch) (0,12,9

4000 e

3000

2000

1000

T nup.183e+U4 / 25
DO 4224+ 0.0
pl -36.76 + 0.00

TP delay [ns]

TVC(cbch) (012,13

4000 e

3000

2000

1000

T ) be+ud /25
PO 4222+ 0.0
pl -36.23 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (0,12,2)

X~ 1L s4pe+04 [ 25
- po 4214 0.0
I pl -36.51+ 0.00

3000

TP delay [ns]

TVC(cbch) (0.12,6

“ 1L bhe+u4 [ 25
- pO 4213+ 0.0
I pl -37.03:+ 0.00

TP delay [ns]

TVC(cbch) (0, 12 10

T 1nuzpsbe+ud | 25
- DO 4238+ 0.0
r pl -36.51+ 0.00

3000

1000

0

TP delay [ns]

TVC(cbch) (0.12,14

~ i a8se+U4 [ 25
- PD 4229+ 0.0
I pl -35.84 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,12,3)

A~ shae+ud 25
- po 4238+ 0.0
pl -37:+ 0.0

TP delay [ns]

TVC(c, bch) (0,12,7

- B33e+u4 [ 25
- PO 4241 0.0
Pl -37.31% 0.00

50 100
TP delay [ns]

TVC(cbch) (0,12, 11

-1 nuiz.uzge+ud / 25
- pO 4250+ 0.0
pl -36.74 + 0.00

TP delay [ns]

TVC(cbch) (0,12,15

S rna1sle+ud /25
- PO 4229+ 0.0
pl -36.34 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000 e
3000~ 7
2000 [~ 7
1000~ C 7]
O 5(') 10'0 =
TP delay [ns]
TVC(cb, ch) (0.13,8)
T nug,b38e+u4 / 25
4000 fame, pD 4262+ 0.0
-34.55 + 0.00
3000 7
2000 T
wor C =28.94 [ps/chl™, 1
| L
0 50 100

4000

3000

2000

1000

TVC(CbCh) (o, 13 0)

T rnuLssoe+u4 [ 25
pO 4216+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(cbch) (0,134

“rnun1.99e+u4 / 25
pO 4235+ 0.0
pl -37.12:+ 0.00

TP delay [ns]

TVC(cbch) (0,13,12

T rnuiz41ve+u4 / 25
= po 4251+ 0.0
-34.56 + 0.00

[ C =28.93 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,13,1)

AT 1 nuLysve+ud [ 25
po 4214+ 0.0
pl 37+ 0.0

TP delay [ns]

TVC(c, bch) (0,135

=1 Ui bobe+u4 / 25
pO 4238+ 0.0
pL -37.15+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 13

~ 1 naig bz2ye+ud [ 25
po 4285+ 0.0
p1 -34.57 + 0.00

[ C =28.93 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (013,13

T nuizn4ve+ud [ 25
- pO 4251+ 0.0
pl -35.89+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (0,13,2)

AT inuLyire+u4 /25
po 4220+ 0.0
p1 -35.64 + 0.00

TP delay [ns]

TVC(cbch) (0.13,6

- rnuz191e+u4 / 25
pO 4260+ 0.0
pl -37.33+ 0.00

TP delay [ns]

TVC(cbch) (0, 13 10

T rnug.zsie+u4 [ 25
po 4304+ 0.0
p1 -34.84 + 0.00

- C = 28.70 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (0.13,14

4000 [
3000
2000

1000

T zooe+u4 /25
pD 4250+ 0.0
pl -35.19+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,13,3)

AT 1 nuz.zzoe+ud [ 25
po 4239+ 0.0
pl -37.32+ 0.00

TP delay [ns]

TVC(c, bch) (0,13,7

-1 nuz.uyge+u4 / 25
pO 4251+ 0.0
pL -36.67+ 0.00

1(;0
TP delay [ns]

TVC(cbch) (o, 13 1

T nuiggloe+u4 / 25
po 4303+ 0.0
pl -35.84 + 0.00

TP delay [ns]

TVC(cbch) (0,13,15

Tinai.fr3e+u4 /25
= po 4268+ 0.0
p1 -36.69+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 14 0)

e, pO

© L sube+u4 / 25
4182+ 0.0
pl -36.58 + 0.00

TP delay

TVC(cbch) (0,144

[ns]

-1 nuiL340e+04 / 25
4203+ 0.0
-34.78 + 0.00

= po
p1
FC B
| =
50 100
TP delay [ns]
TVC(eb,oh)=(0, 14,8)
T 3.04e+04 /25
= po 4203+ 0.0
pl -35.51+ 0.00

TP delay

TVC(cbch) (0,14,12

- pO

[ns]

T rnuiLgsze+u4 [ 25
4223+ 0.0
pl -36.09 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,14,1)

e, po

AT rmuiLzroe+ud [ 25
4195+ 0.0
-35.9 + 0.0

p1

TP delay [ns]

TVC(c, bch) (0,14,5

- nui 3z1e+04 / 25
4207+ 0.0
pl -35.02+ 0.00

TP delay [ns]

TVC(ebeh)=(0, 14,9

==, po

<1 nub.Ubse+ud / 25
4219+ 0.0
pl -36.17 + 0.00

TP delay

TVC(cbch) (0.14,13

- pO
p1

[ns]

T nuivb3e+ud / 25
4226+ 0.0
-36.5+ 0.0

TP delay

[ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

1000

TVC(CbCh) (0,14,2)

= po

AT 1nuis1ve+u4 /25
4201+ 0.0
pl -35.99 + 0.00

TP delay

TVC(cbch) (0.14,6

pO
p1

[ns]

=1 1uiL400e+04 / 25
4206+ 0.0
-34.15+ 0.00

- C = 29.28 [ps/ch]

50 10‘0
TP delay

TVC(cbch) (0, 14 10

= 90

[ns]

TrnuzQ/re+u4 /25
4232+ 0.0
pl -36.11+ 0.00

TP delay

TVC(cbch) (0.14,14

- PD

[ns]

~ 1L ps4e+u4 [ 25
4240+ 0.0
pl -37.26 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,14,3)

o po

AT rnuiLzroe+ud [ 25
4198+ 0.0
pl -35.33+ 0.00

TP delay

TVC(c, bch) (0,14,7

[ns]

-1 nui4lpe+04 / 25
4206+ 0.0
-34.7+ 0.0

TP delay

TVC(ehch)=(0, 14, 11

. pO

[ns]

T nai rzae+04 [ 25
4231+ 0.0
-36.2+ 0.0

1
50 100

TP delay

TVC(cbch) (0,14,15

AT

e, po

[ns]

- Se+ud | 25
4245+ 0.0
pL -37.46+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000
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TVC(c,b ch) (1 6,9

= po

-1 nug pbye+ud / 25
4241% 0.0
-35.33+ 0.00

TP delay [ns]

TVC(C, bch) (1,6, 13

SRR

(22e+U4 125
4228+ 0.0
-36.53+ 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

1000

TVC(cbch) (1,6,2)

™, DO

T rse+ud /25
4205+ 0.0
-37.54+ 0.00

pl

TP delay [ns]

TVC(cbch) (16,6

= P°

p1

©1nuiL414e+04 / 25
4220+ 0.0
-35.75+ 0.00

TP delay [ns]

TVC(cbch) (1, 6 10

- o

©1nuz4n3e+u4 | 25
4256+ 0.0
-35.11 + 0.00

pl

TP delay [ns]

TVC(cbch) (1,614

1 nuiLpyse+u4 / 25
4222+ 0.0
pl -36.17 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,3)

e po

AT 1L ogoe+ud [ 25
4212+ 0.0
-35.98+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (1 6,7

S 1336404 1 25
pO 4219+ 0.0
pL -35.19+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 6

= pO

T bbée+l}4/25
4246 £ 0.0
-34.77 + 0.00

pl

TP delay [ns]

TVC(C, bch) (1,6, 15

SRR

139e+U4 | 25
4214+ 0.0
-36.28 + 0.00

TP delay [ns]



TVC(c,b Ch) (L, 7/ " \91)309+U4 125 TVC(ch Ch) (1 )\7' uu:!l 2439+U4/25 TVC(eb Ch) (L x 7: " wzu?aue+u4 125 TvC(eb Ch) (1 A7’ ”“:i 3)“’9*”4/25
4000 - po 4185+ 0.0 4000 - po 4202+ 0.0 4000 __- po 4195+ 0.0 4000 e po 4212+ 0.0
Pl 3552+ 0.00 Pl -36.42+0.00 [ Pl -35.66+ 0.00 pL -36.7+ 0.0

-1 3000

3000 -1 3000

-1 3000

2000 -1 2000 -1 2000 =1 2000

1000 -1 1000 =1 1000 - 1000

0, 0,
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (1,7.4) TVC(cbch) (1,7,5) TVC(cbch) (1,7,6) TVC(cbch) (1,7,7)
T4z /e+u4 [ 25 =1 nui 489e+04 [ 25 Srnu 1 /e+u4 /25 - nui fuYe+u4 / 25
4000 fom, pO 4197+ 0.0 4000 e, pO 4195+ 0.0 4000 e, pO 4239+ 0.0 4000 e, pO 4221% 0.0
pl -36.80 + 0.00 pL -36.65+ 0.00 [ pl -37.09:+ 0.00 pL -37.37+ 0.00
3000 - 3000 =1 3000 :— —: 3000 -
2000 - E 2000 - 2000 3 2000 - E
1000 C = 1000 - 1000:— C =26.96 [pS/Ch — 1000 C =
0 EY 00 - 0 0 EY 0 0 5 T -
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(178) TVC(cbch)(17 ) TVC(cbch)(l?lO) TVC(cbch)(17 1)
Tnu Z2ose+u4 /25 T g, ryse+u4 [ 25 T a4y /e+u4 [ 25 T ruz.yibe+u4 / 25
4000 = pO 4219+ 0.0 4000 pO 4220+ 0.0 ) DO 4228+ 0.0 4000 P, p0 4239+ 0.0
pl -36.51+ 0.00 pL -35.83+ 0.00 [ pl -35.98 + 0.00 pL -36.65+ 0.00

3000 -1 3000 - 3000 - 3000 -1

2000 B 2000 B 2000 1 2000

1000 e 1000 - 1000 E 1000

0 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(1712) TVC(cbch)(l?lB) TVC(cbch)(17l ) TVC(cbch)(1715)

TanuLare+u4 /25 T syoe+u4 [ 25 ~ 1 nuiL400e+04 / 25 T 4/8e+04 [ 25
4000 e pO 4227+ 0.0 4000 pO 4229+ 00 4000 o, PD 4223+ 00 4000} pO 4232+ 00
pl -35.54 + 0.00 pl -36.48 + 0.00 r pl -35.53+ 0.00 pl -35.73+ 0.00

3000 — 3000 N 3000 — 3000 4

2000 B 2000 T 2000 — 2000 B

1000 1 1000 1000

] lo00F C = 27.99 [ps/ch

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,8,0)

T Loze+ud /25
P pO 4174+ 0.0
p1 -36.1+ 0.0

TP delay [ns]

TVC(cbch) (18,4

- L0 rye+ud / 25
pO 4213+ 0.0
pl -37.91+ 0.00

L=
50 100
TP delay [ns]

TVC(cbch) (1 8,8

T rnuiLg/ze+04 [ 25
- pO 4204+ 0.0
pl -36.65+ 0.00

TP delay [ns]

TVC(cbch) (1,812

T soe+ud /25
= po 4239+ 0.0
pl -36.62 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,81

AT 1L rzoe+ud [ 25
oo, po 4202+ 0.0
pl -37.16+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 8

- rnui141e+0d / 25
== po 4205+ 0.0
pl -37.44 % 0.00

TP delay [ns]

TVC(c,b ch) (1 8,9

~ 1 nup.3o0e+u4 / 25
= po 4230+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(C, bch) (1,813

Tinaisrze+ud [ 25
= pO 4220+ 0.0
pl -35.38+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,8,2)

K™ nui ozae+V4 /25
- po 4204+ 0.0
L pl -36.75+ 0.00

3000

TP delay [ns]

TVC(cbch) (18,6

=1L 300e+04 / 25
- pO 4208+ 0.0
[ pl -37.13+ 0.00

3000

TP delay [ns]

TVC(cbch) (1, 8 10

1 nuiLyspe+u4 / 25
= po 4242+ 0.0
- pl -36.16 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,8 14

T gore+ud [ 25
- pD 4238+ 0.0
[ p1 -37.16 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,8,3)

AT 1L bsle+ud [ 25
- po 4208+ 0.0
pl -36.87 + 0.00

TP delay [ns]

TVC(c,b ch) (1 8,7

= 1nui 38 /e+04 / 25
= po 4209+ 0.0
pl -37.23+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 8

T b45e+u4/25
= po 4236+ 0.0
p1 -36.14+ 0.00

TP delay [ns]

TVC(C, bch) (1,815

T nuiavae+ud [ 25
= pO 4238+ 0.0
p1 -35.94 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,9,0)

K™ 1 nuianse+u4 /25
4195+ 0.0
-36.21+ 0.00

1
50 100

TP delay [ns]
TVC(cbch) (1 9,4)
~ 1 nuiL Zyve+u4 / 25
= pO 4210+ 0.0
pl -36.37 ::‘
- C |
1 L --
50 100
TP delay [ns]
TVC(cbch) (198)
T bz/e+u4 [ 25
= pO 4181+ 0.0
pl -34.03 :;‘
[ C=29.39 [ps/ch] N, 7]
1 L -
50 100
TP delay [ns]
TVC(Cbch) (1, 9 12
== pO

p1

~ L bose+U4 / 25
4208+ 0.0
-34.85+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,9,1)

e, pO

T 1sve+ud [ 25
4206+ 0.0
-35.93+ 0.00

p1

1
100

TP delay [ns]

TVC(c,b ch) (1, 9

F- pO

S nun11ve+ud [ 25
4224+ 0.0
-36.83+ 0.00

TP delay [ns]

TVC(c,b ch) (1 9,9

e po

pl

~ i nui g1oe+ud [ 25
4214+ 0.0
-34.76 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 9 13

T inai zyze+ud [ 25
4196+ 0.0
-34.24+ 0.00

[ C =29.20 [ps/ch]

50

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (1,9,2)

- po

AT inuigre+4 /25
4202+ 0.0
p1 -36.32+ 0.00

TP delay

TVC(cbch) (19,6

1000

[ns]

- 1nuiL410e+04 / 25
4230+ 0.0
-37.05+ 0.00

- o
L pl
L C = 26.99 [ps/ch .
5(') 100 >
TP delay [ns]

TVC(cbch) (1, 9 10

= pO

~ 1, roge+u4 | 25
4231+ 0.0
pl -35.68 + 0.00

TP delay

TVC(cbch) (1,914

[ns]

T rnuiLplse+ud [ 25
4201+ 0.0
-35.41+ 0.00

PR IR SRR |
50 100

TP delay

[ns]
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1000
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3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,9, 3)

po

pl

AT 1L 4sse+ud [ 25
4235+ 0.0
-38.16+ 0.00

1=
100

TP delay [ns]

TVC(c,b ch) (1 9,7

o, pO
p1

- nun 38/e+04 / 25
4234+ 0.0
-36.14 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (1, 9

pO
pl

T, /zye+u4/25
4222+ 0.0
-34.22+ 0.00

[ C =29.22 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b ch) (1, 9 15

Tinaiare+ud /25
4210+ 0.0
-34.36 + 0.00

[ C=29.10 [ps/ch]

50

1
100

TP delay [ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1, 10 0)

T zsze+u4 [ 25
.. pO 4198+ 0.0
pl -35.96 + 0.00

TP delay [ns]

TVC(cbch) (1,10,4

T 3o /e+u4 [ 25
- pO 4186+ 0.0
p1 -34.54+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 10 8

T g, sz8e+04 [ 25
= po 4230+ 0.0
pl -37.36+ 0.00

TP delay [ns]

TVC(cbch) (1,10,12

[ C =29.41 [ps/ch]

T gr3e+u4 [ 25
= po 4224+ 0.0
-34.01+ 0.00

PR B SRS |
50 100

TP delay [ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,10,1)

AT rnuLzrye+ud [ 25
o=, po 4214+ 0.0
pl -35.94 + 0.00

TP delay [ns]

TVC(c, bch) (1,10,5

-1 nui 39ze+u4 [ 25
e pO 4187+ 0.0
pL -35.22:+ 0.00

TP delay [ns]

TVC(ebeh)=( 1, 10,9

T nu, 1bve+ud / 25
= po 4236+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(cbch) (110,13

Tonan g sve+ud [ 25
= pO 4229+ 0.0
pl -33.05+ 0.00

[ C=230.26 [ps/ch] ™, 7]
s *
TP delay [ns]
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2000
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3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (1,10,2)

1000

A7 1nun zsse+u4 [ 25
- po 4201+ 0.0
o pl -35.03+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,10,6

T3/ re+04 [ 25
- pO 4205+ 0.0
[ pl -35.46 + 0.00

TP delay [ns]

TVC(cbch) (1, 10 10

1000

0

T a3 roe+u4 [ 25
= po 4253+ 0.0
L pl -36.54 + 0.00

TP delay [ns]

TVC(cbch) (110,14

~ i bEse+U4 [ 25
. pD 4229+ 0.0
L pl -35.02+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,10,3)

AT rnuiLgoie+ud [ 25
=, po 4199+ 0.0
pl -34.71% 0.00

TP delay [ns]

TVC(c, bch) (1,10,7

=11 bBbe+u4 / 25
- pO 4218+ 0.0
pL -35.81% 0.00

50 1(;0
TP delay [ns]

TVC(eh.eh)=(1, 10, 11

Tonan2u/e+u4 | 25
= po 4278+ 0.0
pl -38.39+ 0.00

TP delay [ns]

TVC(cbch) (1,10,15

T nan zsse+ud [ 25
F=. 4213+ 0.0
-33.79+ 0.00

[ C =29.60 [ps/ch] ]

PR PR S S |
50 100

TP delay [ns]
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2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (1, 11 0)

Ty roe+ud /25
o= pO 4202+ 0.0
pl -37.26+ 0.00

TP delay [ns]

TVC(cbch) (1,114

- i 331e+04 / 25
4207+ 0.0
-35.9+ 0.0

50 10‘0
TP delay [ns]

TVC(ebeh)=(L, 11,8

©1nug goge+u4 | 25
= po 4228+ 0.0
pl -36.96 + 0.00

TP delay [ns]

TVC(cbch) (1,11, 12

X~ 11 bb4e+04 /25
po 4241+ 0.0
pl -36.13+ 0.00

TP delay [ns]
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2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(Cbch) (1,11,1)

A7 1 nuiLbyoe+ud [ 25
.. po 4212+ 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(cbch) (1,11,5

=1 nui 3Ybe+u4 / 25
- pO 4203 0.0
pL -36.15+ 0.00

TP delay [ns]

TVC(eh.eh)=(1, 11, 9

T nu.133e+U4 / 25
= po 4255+ 0.0
pl -37.69 + 0.00

TP delay [ns]

TVC(cbch) (1,11,13

T nuin3ae+ud [ 25
pO 4239+ 0.0
pl -36.64 + 0.00

TP delay [ns]
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3000

2000

4000

3000

2000

4000

2000

1000

TVC(CbCh) (1, 11 2)

~ i p4se+u4 [ 25
- pO 4226+ 0.0
L pl -37.41+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,116

1000

-1 nuiL439e+04 [ 25
- pO 4222+ 0.0
[ pl -36.21+ 0.00

TP delay [ns]

TVC(eb,eh)=(1, 11, 10

1000

0

X7 1 nuiz318e+04 /25
= po 4272+ 0.0
- pl -36.98 + 0.00

TP delay [ns]

TVC(cbch) (1,11, 14

K71 nui oyoe+u4 / 25
- po 4236+ 0.0
L pl -37.4% 0.0

3000

TP delay [ns]
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1000

4000

3000

2000

1000

TVC(cbch) (1,11,3)

R Zae+ud [ 25
e, po 4229+ 0.0
pL -36.45+ 0.00

TP delay [ns]

TVC(cbch) (1,11,7

-1 nun bE3e+u4 / 25
- pO 4232+ 0.0
pL -36.09+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 11 11

T inuiLyl/e+ud [ 25
- po 4275+ 0.0
pl -37.11+ 0.00

TP delay [ns]

TVC(cbch) (111,15

T nui oy /e+ud [ 25
e po 4245+ 0.0
p1 -37.58 + 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000 =

3000

2000

1000

TVC(CbCh) (1, 12 0)

Ty zae+ud /25
P pO 4155+ 0.0
p1 -34.85+ 0.00

TP delay [ns]

TVC(cbch) (1,124

- L 3r8e+u4 / 25
- pO 4172 0.0
pl -35.28:+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 12,8

Tz roe+u4 [ 25
- po 4198+ 0.0
pl -35.71+ 0.00

TP delay [ns]

TVC(cbch) (1,12,12

T rnuiLpsbe+u4 / 25
pO 4195+ 0.0
pl -35.02+ 0.00

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

TVC(chh) (1,12,1)

AT 1 nunLusoe+ud [ 25
peoe.. po 4164+ 0.0
pl -35.28 + 0.00

TP delay [ns]

TVC(cbch) (1,125

-1 nui 420e+04 / 25
o pO 4186+ 0.0
pL -35.62:+ 0.00

TP delay [ns]

TVCEebeh)=( 1, 12,9

T nuw, r8Ye+u4 25
= po 4203+ 0.0
p1 -34.39+ 0.00

TP delay [ns]

TVC(cbch) (112,13

- T nuiLp4ve+ud / 25
- pO 4193 0.0
pl -35.94+ 0.00

TP delay [ns]
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1000

4000

3000
2000

1000

4000 =,
3000
2000

1000

TVC(CbCh) (1,12,2)

A7 nuizoae+u4 /25
- po 4174+ 0.0
L p1 -35+ 0.0

3000

TP delay [ns]

TVC(cbch) (1126

T b/3e+u4 [ 25
4185+ 0.0
-35.41+ 0.00

TP delay [ns]

TVC(Ee b eh)=( 1, 12, 10

1 nuiz.4y4e+04 | 25
= po 4224+ 0.0
L pl -35.64+ 0,00

TP delay [ns]

TVC(cbch) (112,14

Ty re+ud /25
pD 4209+ 0.0
pl -36.25+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000
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2000

1000

TVC(Cbch) (1,12,3)

AT rnuiL1re+ud [ 25
- po 4181+ 0.0
p1 -34.53+ 0.00

TP delay [ns]

TVC(c, bch) (1,127

=1 nui bbae+u4 [ 25
- pO 4199+ 0.0
pL -35.62:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 12 11

T nui sz e+u4 [ 25
= po 4216+ 0.0
p1 -34.78 + 0.00

TP delay [ns]

TVC(cbch) (1,12,15

- Tinan g oze+ud [ 25
po 4197+ 0.0
p1 -35.3+ 0.0

TP delay [ns]
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1000

4000
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1000

TVC(CbCh) (1,13,0)

X~ 1 g 5o9e+U4 [ 25
po 4206+ 0.0
pl -37.62+ 0.00

TP delay [ns]

TVC(cbch) (1,134

- 1 i buse+ud / 25
pO 4212+ 0.0
pl -35.33+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 13 8

Tz zz9e+04 | 25
= po 4196+ 0.0
pl -34.35+ 0.00

TP delay [ns]

TVC(cbch) (1,13,12

1L pyze+u4 | 25
= po 4252+ 0.0
pl -36.68 + 0.00

TP delay [ns]
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1000

4000 [
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1000

4000
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2000

1000

TVC(chh) (1,13,1)

P PO

AT 1 num oB4e+U4 [ 25
4205+ 0.0
pl -37.03+ 0.00

TP delay

TVC(c, bch) (1,135

pO

[ns]

=11 Bobe+u4 / 25
4225+ 0.0
pl -35.71+ 0.00

TP delay

TVCEebeh)=( 1, 13,9

po

[ns]

T nug.yroe+ud [ 25
4254+ 0.0
p1 -34.84 + 0.00

TP delay

TVC(cbch) (113,13

[ns]

T nai rope+ud / 25
4255+ 0.0
-37.01+ 0.00
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TP delay

[ns]
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2000

TVC(CbCh) (1, 13 2)

TP delay [ns]

TVC(cbch) (1136

~ 1w, 1rve+u4 [ 25
Freee pO 4205+ 0.0
L pl -36.91+ 0.00

3000

-1 i BYoe+u4 / 25
- pO 4235+ 0.0
[ pl -36.32+ 0.00

TP delay [ns]

TVC(cbch) (1, 13 10

©nuig, 1ube+u4 / 25
F DO 4265+ 0.0
F pl -36.45+ 0.00

TP delay [ns]

TVC(cbch) (113,14

1000

~ 1L bope+u4 / 25
F-. pD 4237+ 0.0
L pl -36.24 + 0.00

TP delay [ns]
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1000
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1000

TVC(Cbch) (1,13,3)

[Fotee po

AT 1 nup.sy1e+ud [ 25
4228+ 0.0
pl -36.42+ 0.00

TP delay

TVC(c, bch) (1,137

o, pO

[ns]

-1 nuz.u38e+u4 / 25
4240+ 0.0
pl -36.48 + 0.00

TP delay

TVC(eheh)=(1, 13, 11

= pO

[ns]

~ 1 nuiz zgge+ud [ 25
4259+ 0.0
pl -36.02+ 0.00

TP delay

TVC(cbch) (1,13,15

[ns]

-1 nui pobye+ud / 25
4257+ 0.0
p1 -37.18+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (1, 14 0)

T rnuizzoe+u4 [ 25
- pO 4202+ 0.0
-36.91+ 0.00

TP delay [ns]

TVC(cbch) (1,144

- i 303e+04 / 25
e pO 4179+ 0.0
pl -35.97+ 0.00

TP delay [ns]

TVC(cbch) (1,14,8

— 1nuiz.yuse+u4 | 25
= pO 4174+ 0.0
pl -33.31+ 0.00

[ C =30.02 [ps/ch]

0

1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,14,1)

AT 1 nunLzuoe+ud [ 25
P, po 4195+ 0.0
pl -36.27 + 0.00

TP delay [ns]

TVC(c, bch) (1,145

-1 nUL.462e+U4 25
™, DU 4192+ 0.0
pl -37.29+ 0.00

TP delay [ns]

TVC(c, bch) (1,14,9

T nu.azbe+u4 25
= po 4200+ 0.0
pl -35.18 + 0.00

TP delay [ns]

TVC(cbch) (1,14,12

T4 roe+u4 / 25
4261+ 0.0
-37.01+ 0.00

PR B SRS |
50 100

TP delay

[ns]

TVC(cbch) (114,13

4000

3000

2000

1000

T naibuse+ud / 25
4254+ 0.0
-37.51+ 0.00

il
100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

TVC(CbCh) (1,14,2)

AT 1w L goe+u4 /25

TP delay [ns]

TVC(cbch) (1,146

e po 4214+ 0.0
L pl -36.85+ 0.00

3000

11urL.453e+04 [ 25

- pO 4176+ 0.0
F Pl -36.65+ 0.00

TP delay [ns]

TVC(e b eh)=( 1, 14,10

1 nuiz,ugbe+ud | 25

-, po 4224+ 0.0
o pl -34.95+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,14,3)

AT rnuaiLsrse+ud [ 25
e, po 4231+ 0.0
pl -37.21+ 0.00

TP delay [ns]

TVC(c, bch) (1,14,7

-1 nui b33e+u4 / 25
- pO 4200+ 0.0
pL -36.33+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 14 11

T nui gzoe+u4 / 25
= po 4215+ 0.0
-34.4+ 0.0

[ C =29.07 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (114,14

1000

- pD

T rnuiLz4se+04 [ 25
4262+ 0.0
pl -37.12+ 0.00

TP delay

[ns]

TVC(cbch) (1,14,15

4000

3000

2000

1000

Tonan 1 oze+ud [ 25
4256+ 0.0
-36.71+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (1, 15 0)

© L oooe+U4 [ 25
- pO 4207+ 0.0
pl -38.09 + 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (1,154

-1 i base+04 / 25
- pO 4226+ 0.0
366+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (1, 15 8

T 1nuizyole+ud [ 25
- po 4227+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(cbch) (1,15,12

T o1e+u4 /25
= po 4234+ 0.0
p1 355+ 0.0

TP delay [ns]

TVC(chh) (1,15,1)

AT 1 nuiLbrye+ud [ 25
4209+ 0.0
-37.4 £ 0.0

4000 e po
p1

3000

2000 -

w00~ C = 26.73 [ps/c

1 1
50 100

TP delay [ns]

TVC(cbch) (1,155

4000 jam, pO

pl

- i bl3e+u4 / 25
4229+ 0.0
-36.34 + 0.00

3000 -

2000

1000 [~ C

1
50 100

TP delay [ns]

TVC(c, bch) (1, 15 9

4000 [, po

T nu.z93e+u4 / 25
4260+ 0.0
-36.49 + 0.00

pl

3000

2000

1000

TP delay [ns]

TVC(cbch) (115,13

4000 [

~inai ule+ud / 25
4231+ 0.0
-35.54+ 0.00

3000

2000

1000

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (1,15,2)

TP delay [ns]

TVC(cbch) (1,156

K™ 1 nuiouye+ud / 25
_l' po 4230+ 0.0
o pl -38.31+ 0.00

3000

T4l /e+u4 /25
- pO 4231 0.0
[ pl -35.44 + 0.00

TP delay [ns]

TVC(cbch) (1, 15 10

1000

0

T rnuzbole+ud [ 25
- po 4274+ 0.0
- pl -37.28 + 0.00

TP delay [ns]

TVC(cbch) (115,14

~ 1L bEYe+u4 / 25
- pD 4238+ 0.0
L pl -34.89+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,15,3)

e po

AT 1L bzoe+ud [ 25
4219+ 0.0
pl -36.94 + 0.00

TP delay

TVC(c, bch) (1,157

o= pO

[ns]

-1 nui b3ve+u4 / 25
4232+ 0.0
pl -35.43+ 0.00

TP delay

TVC(eheh)=(1, 15, 11

pO
pl

[ns]

-1 nuiLyuse+ud / 25
4291+ 0.0
-36.45+ 0.00

TP delay

TVC(cbch) (1,15,15

[ns]

T nuipule+ud / 25
4236+ 0.0
p1 -35.34+ 0.00

TP delay

[ns]



TVC(eben)=(2,0,0) TVC(ebeh)=(2,0,1) TVC(ebeh)=(2,0,2) TVC(ebeh)=(2,0,3)
AT 1L s 34e+04 / 25 A~ 1w pose+ud | 25 Sanwn g r1e+ud [ 25 A~ 1w rope+ud | 25
4000, po 4207+ 0.0 4000 F,, po 4222+ 0.0 4000, PO 4215+ 0.0 4000 e po 4209+ 0.0
pl -37.69 0.00 pl -37.54+ 0.00 r pl -36.6+ 0.0 pl -36.37 + 0.00

3000

1 3000 =1 3000 -1 3000 -1

2000 1 2000 = 2000 = 2000

1000 7 1000 1000 1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2,0,4 TVC(cbch) (2,0, TVC(cbch) (20,6 TVC(c, bch) (2,0,

“ g l?ﬁleﬂJS 125 Ty ; z)iae+04/25 “ g U)Aée+U5 125 4000 T J)S/EH)4125
4000 pO 4197+ 0.0 4000 fFem, pO 4214+ 0.0 4000 o pO 4215+ 0.0 = pO 4188+ 0.0
Pl 3456+ 0.00 Pl 35473000 [ PL_ 3476+ 0.00 Pl 3509+ 0.00

3000 - 3000 - a000f ] 3000 [ -

2000k ] 2000 E 2000[- 1 2000 [ E

B L~ = ] 1000F C = 1

1000 g 1000 w0 C = 28.77 [ps/ch] 1 C =28.50 [ps/ch
1 1 - 1 1 - 1 -
EY 00 50 00 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb,ch)=(2,0,8) TVC(eb,oh)=(2,0,9) TVC(eb.oh)=(2, 0, 10) TVC(e.heh=(2, 0, 11)
2000 E ~ 1 nu 482e+04 | 25 1000 E ~ g zole+ud | 25 — -1z 3z0e+04 | 25 - -1 nur sg1e+ud [ 25
= PD 4201+ 0.0 = DO 4228+ 0.0 4000 - DO 4237+ 0.0 4000 o, pO 4207 £ 0.0
pl -35.94 + 0.00 pl -36.45 + 0.00 r pl -36.21+ 0.00 pl -34.48 + 0.00

3000

B 3000 = 3000 2000

2000 - 2000 -1 2000 2000

1000 -1 1000 -1 1000

1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (2, 0 12) TVC(c,b Ch) (2, 0 13) TVC(c,b Ch) (2, 0 14) TVC(c,b Ch) (2, 0 15)
T inuiL, rpoe+ud / 25 T ryre+u4 [ 25 Tonu1ye+ud /25 T ug.43ze+04 1 25
4000 pO 4223+ 00 4000 s pO 4220£ 00 4000 o, PD 4206+ 0.0 4000 o pO 4222+ 00
pl 3575000 Pl 35194000 L Pl -34.66+ 0.00 Pl -40.37+0.00

3000

. 3000 - 3000 - 3000 .

2000 B 2000 — 2000f ] 2000

1000 1000 1000 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,1,0)

A1 g,

- p0
pl

244e+04 | 25
4217+ 0.0
-39.17 + 0.00

TP delay [ns]

TVC(cbch) (2,1,4

4ab4e+04 [ 25
4195+ 0.0
-35.78 + 0.00

— po, iy,
pL
- C N
1 1 "
50 100
TP delay [ns]
TVC(cbch) (2,1,8)
©nun, 188e+u4 / 25
e, pD 4244+ 0.0
pL -37.18 + 0.00

TP delay [ns]

TVC(cbch) (2,1,12

A1,

132e+U4 125
4228+ 0.0
-36.59 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (2,1,1)

Frn po

p1

A 1w Jorerud | 25
4222+ 0.0
-37.98+ 0.00

1=
100

TP delay [ns]

TVC(c,b ch) (2 1,5

S nun1bze+04 [ 25
4199+ 0.0
-35.9 + 0.0

1
100

TP delay [ns]

TVCebeh)=(2, 1,9

== pO

~ 1 nuiz.u4ve+ud [ 25
4244+ 0.0
-35.96 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, l 13

T nuipyle+ud / 25
4222+ 0.0
-36.34+ 0.00

il
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (2,1,2)

AT g o\.mewm‘
-l_ po 4230+ 0.0
: pl -38% 0.0
L C = 26.32 [ps/c ]
1 l-' ]
50 100
TP delay [ns]
TVC(c,b ch) (21,6

pO
p1

©1nuiLbyde+u4 / 25
4199+ 0.0
-35.82 + 0.00

TP delay [ns]

TVCebeh)=(2 1, 10

1000

0

= o

- 1L s0se+u4 / 25
4249+ 0.0
-36.69 + 0.00

pl

TP delay [ns]

TVC(cbch) (21,14

= P"
L pl

-1 i pore+ud [ 25
4205+ 0.0
-35.99 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,3)

F.... pO

pl

“nun Laze+ud 25
4179+ 0.0
-35.42+ 0.00

TP delay [ns]

TVC(c,b ch) (2 1,7

-1 nu.4pze+04 / 25
4217+ 0.0
-36.9 + 0.0

1
50 00

TP delay [ns]

TVC(c,b ch) (21,

T bd/e+U4/25
4206+ 0.0
-35.06 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 1 15

T nui so0e+ud / 25
4177+ 0.0
-35.14+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,0)

= po

K™ 1 nui qoze+04 /25
4189+ 0.0
-36.3+ 0.0

pl

TP delay [ns]

TVC(cbch) (2,24

- rnuiL4y1e+u4 / 25
4183+ 0.0
-36.27 + 0.00

N po
pl
e ]
5(‘) 10‘0 =
TP delay [ns]
TVC(cbch) (2 2,8

1 nup,112e+04 [ 25
4235+ 0.0
-35.58 + 0.00

TP delay [ns]

TVC(cbch) (2,2, 12

A1,

118e+U4 /25
4223+ 0.0
-36.33+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,1)

- PO

A 1L 4use+ud [ 25
4194+ 0.0
-36.79 + 0.00

p1

TP delay [ns]

TVC(c,b ch) (2,2,5

X,

1u3e+u4 1 25
4198+ 0.0
-37.12+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 2

== pO

pl

T nuz.zsye+ud [ 25
4228+ 0.0
-36.11 + 0.00

TP delay [ns]

TVC(C, bch) (2,213

TinuiLgr1e+ud [ 25
4229+ 0.0
-37.05+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000
3000
2000

1000

1000

TVC(cbch) (2,2,2)

- po

K™ 1 nuioooe+u4 / 25
4206+ 0.0
pl -37.67 + 0.00

TP delay

TVC(cbch) (2,2,6

pO
pl

[ns]

“ i 753e+04 [ 25
4202+ 0.0
-37.01+ 0.00

TP delay

TVC(ebeh)=(2,2, 10

- DO

[ns]

© 1 nuiLg1ge+u4 / 25
4221+ 0.0
pl -35.47 + 0.00

TP delay

TVC(cbch) (2,214

[ns]

T, rzse+u4 | 25
4223+ 0.0
-35.8 + 0.0

PR IR SRR |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,3)

=, po

AT 1 nuiL,ss4e+U4 [ 25
4198+ 0.0
-37.36+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (2 2,7

pO
pl

-1 nug 194e+04 / 25
4191+ 0.0
-35.33+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 2

SRR bme+u4/25
4237+ 0.0
-37.18 + 0.00

TP delay [ns]

TVC(C, bch) (2,215

T nai ssye+ud [ 25
4207+ 0.0
-36.75+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,3,0

A~ 1 nui 3y re+ud [ 25
.. po 4215+ 0.0
p1 -36.57+ 0.00

TP delay [ns]

TVC(cbch) (2,34

- 1L 319e+04 / 25
e, pO 4197+ 0.0
p1 -35.72:+ 0.00

50 5
TP delay [ns]

TVC(cbch) (2 3,8

T rnup.471e+04 /25
= po 4258+ 0.0
pl -37.67 + 0.00

TP delay [ns]

TVC(cbch) (2,312

- 1 i 5Y0e+u4 / 25
= po 4228+ 0.0
p1 -34.87 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,3,1)

A 1L 4nse+ud [ 25
po 4211+ 0.0
p1 -36.28 + 0.00

TP delay [ns]

TVC(c,b ch) (2 3,5

S rnun 154e404 [ 25
pO 4218+ 0.0
p1 -35.98+ 0.00

TP delay [ns]

TVC(c,b ch) (2 3,9

T inusz1e+u4 /25
pO 4270+ 0.0
p1 -36.32:+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 3 13

T inaiazse+ud [ 25
pO 4227+ 0.0
p1 -34.8+ 0.0

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

TVC(cbch) (2,3,2)

X~ 1w zspe+U4 [ 25
- po 4208+ 0.0
L pl -35.96 + 0.00

3000

TP delay [ns]

TVC(cbch) (23,6

T b ze+u4 [ 25
- pO 4198+ 0.0
[ p1 -35.19+ 0.00

3000

TP delay [ns]

TVC(eb,oh)=(2, 3, 10

- 1 nuizUZbe+U4 | 25
-, po 4259+ 0.0
[ p1 -36.01 0.00

3000

TP delay [ns]

TVC(cbch) (2,3 14

1000

~rnuiL4zve+u4 [ 25
- pD 4229+ 0.0
[ p1 -36.07 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,33

AT 1L e+u4 [ 25
P po 4209+ 0.0
p1 -36.66 + 0.00

TP delay [ns]

TVC(c,b ch) (2 3,7

Cnu (4ze+04 | 25
- pO 4226+ 0.0
p1 -37.12:+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (2, 3

T bque+u4/25
- po 4229+ 0.0
p1 -34.89 £ 0.00

TP delay [ns]

TVC(c,b ch) (2, 3 15

- i slve+ud [ 25
Fos., pO 4205+ 0.0
p1 -35.06 + 0.00

TP delay [ns]



TVC(cbch)(240) TVC(cbch)(24l) TVC(cbch)(242) TVC(cbch)(243)
A” 11w bb4e+u4 / 25 AT 3roe+ud [ 25 A~ 1L bo1e+u4 [ 25 AT 3z3e+U4 | 25
4000 4191+ 0.0 4000 po 4198+ 0.0 4000 [, po 4220+ 0.0 4000 B, po 4209+ 0.0
-34.6+ 0.0 pl -35.41+ 0.00 : pl -36.45&_0.00 pl -35.93+ 0.00

- 3000

3000 - 3000 B 3000 B

2000 - 2000 =1 2000 -1 2000

] 1000 - 1000 - 1000

1000

1 L 1
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (24,4 TVC(cbch) (2,4,5 TVC(cbch) (24,6 TVC(c, bch) (2,4,7

- i dp1e+04 / 25 -1 nui buse+u4 / 25 - i bu3e+ud / 25 -1 nu.Ubze+u4 / 25
4000 e, pO 4219+ 0.0 4000 e, pO 4229+ 0.0 4000 e, pO 4226 0.0 4000 pO 4245+ 0.0
pl -35.97 + 0.00 pL -36.91:+ 0.00 3 pl -36.41+ 0.00 pL -38.43+ 0.00

3000~ 4 3000~ B 3000 [~ B 3000 1

2000 - - 2000~ - 2000~ - 2000 4

10001~ C - 1000 C - 1000 r C=27.47 [pS/Ch ] 1000 -

- I - 1
-~ . [ .
- -
1 1 0, 1 1 0, 1 1 0, 1 1=
50 100 50 00 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2,4,8 TVC(cbch) (2,4,9 TVC(cbch) (2,4,10 TVC(c, bch) (2,4,

T rnugysre+ud /25 -1 bbbe+u4 [ 25 T i, (gze+04 / 25 T 5a5e+u4/25
4000 e pO 4259+ 0.0 4000 fen pO 4276+ 0.0 4000 [, DO 4281+ 0.0 4000 fRe, p0 4245+ 0.0
Pl -37.45: 000 Pl -37.32: 000 H PL_ -37.68% 0.00 Pl -34.71% 000

3000

B 3000 — 3000 — 3000 f

2000 -1 2000 -1 2000

2000 -

1000 -1 1000 - 1000

lo00r C = 28.81 [ps/ch]

0 0

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(24l ) TVC(cbch)(2413) TVC(cbch)(24l ) TVC(cbch)(2415)
T i s44e+04 / 25 T 1 nui sboe+ud / 25 1 nuiL400e+04 / 25 T nai z4se+ud [ 25
4000 pO 4229+ 0.0 4000 pO 4233+ 0.0 4000 PD 4237+ 0.0 4000 [, pO 4215+ 0.0
pl -35.14 + 0.00 -35.22+ 0.00 I pl -35.14 + 0.00 pl -35.92 + 0.00

- 3000

3000 . 3000 - 3000 7

2000 4 2000 [~ B 2000 - 2000

1000 — 1000 [ - 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,5,0

AT inuissre+04 /25
Fe=.. po 4209+ 0.0
p1 -35.47 + 0.00

TP delay [ns]

TVC(cbch) (2,54

- i 393e+u4 / 25
- pO 4199+ 0.0
pl -37.06+ 0.00

TP delay [ns]

TVC(cbch) (2 5,8

©1nug.gyze+u4 | 25
= po 4238+ 0.0
p1 -34.57 + 0.00

I C =28.93 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (2,5,12

T 1y1e+u4 / 25
pO 4241+ 0.0
pl -34.11+ 0.00

[ C =29.31 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,51

AT rnuiLzioe+ud [ 25
- po 4222+ 0.0
pl -36.66 + 0.00

TP delay [ns]

TVC(c,b ch) (2 55

=1 nui 4uBe+u4 / 25
e, pO 4203 0.0
pL -36.07+ 0.00

TP delay [ns]

TVC(c,b ch) (2 59

-1 nuiz.guse+ud 25
= pO 4251% 0.0
pl -35.09 + 0.00

TP delay [ns]

TVC(C, bch) (2,5,13

T nuiL1yve+ud / 25
= pO 4247+ 0.0
pl -35.02+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

:

1000;- C =28.94 [ps/ch] - '
L . o

4000

3000
2000

1000

TVC(cbch) (2,5,2)

TP delay [ns]

TVC(cbch) (2,56

AT 1nuisz1e+04 /25
_- po 4222+ 0.0
L pl -36.84 + 0.00

3000

©1nuiL434e+04 / 25
e pO 4210+ 0.0
u pl -36.22 + 0.00

TP delay [ns]

TVC(cbch) (2, 5 10

1 nuiL4zve+04 [ 25
[ po 4256+ 0.0
- pl -34.55+ 0.00

TP delay [ns]

TVC(cbch) (2,514

T i 144e+04 / 25
- pD 4234+ 0.0
L pl -34.78 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,5,3

AT 1L szze+ud [ 25
poes, po 4188+ 0.0
p1 -36.46 + 0.00

TP delay [ns]

TVC(c,b ch) (2 57

-1 nu.4u8e+u4 / 25
- pO 4214+ 0.0
p1 -34.57+ 0.00

TP delay [ns]

TVC(c,b,ch)=( 2, 5, 11

b, ,5,11)
T AT 4714125
. po 4233+ 0.0
p1 -34.95+ 0,00

TP delay [ns]

TVC(C, bch) (2,5,15

T bi4e+04 /25
e pO 4199+ 0.0
-35.37:+ 0.00

[ C =28.28 [ps/ch

50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,0)

AT 1nunsiie+ud [ 25
4207+ 0.0
-35.61+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (26,4

nu

wr2/25
4263+ 0.0
-34.93+ 0.00

. po
pl
[ C=28.63 [ps/ch]\,_ ]
% o
TP delay [ns]
TVC(cbch) (2 6,8) —
T nug.u4ze+ud 5
[ PD 4264:‘
pl -35.75+ 0.00

TP delay [ns]

TVC(cbch) (2,6,12

pO
p1

T rnuiLusse+u4 / 25
4230+ 0.0
-34.7+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,1)

o po

pl

A7 1 nuiL Sbae+u4 [ 25
4215+ 0.0
-36.17 + 0.00

TP delay [ns]

TVC(cbch) (26,5

nut

Y494 | 25
4258+ 0.0
-35.45+ 0.00

TP delay [ns]

TVC(c,b ch) (2 6,9

== pO

T inuzzzie+u4 [ 25
4291% 0.0
-36.53 + 0.00

TP delay [ns]

TVC(C, bch) (2,6,13

X rnan g

po
p1

1oe+ud /25
4234+ 0.0
-35.31+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000
3000
2000

1000

TVC(cbch) (2,6,2)

-35.68 + 0.00

- tsserud | 25
Faase. DO 4221+ 0.0
F pl -35.68 + 0.

TP delay [ns]

TVC(cbch) (26,6

i

pO
pl

Y825/ 25
4262+ 0.0
-34.88 + 0.00

- C = 28.67 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (2, 6 10

1000

== pO

pl

T nuiL4sze+04 [ 25
4290+ 0.0
-35.89+ 0.00

TP delay [ns]

TVC(cbch) (2,6,14

- rnan

pO
pl

):1413/25
4243+ 0.0
-34.9+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,3)

[Fone, po

pl

AT rnuiLuzie+ud [ 25
4261+ 0.0
-36.16+ 0.00

TVC(c,b ch) (2 6,7

[oams, pO

pl

1
100

TP delay [ns]

-1 nui Ulbe+u4 / 25

4246+ 0.0
-34.79 + 0.00

[ C =28.75[ps/ch]

50 100
TP delay [ns]

TVC(c,b,ch)=(2, 6, 11

It

i

1919125
4227+ 0.0
-32.95+ 0.00

[ C =30.35[ps/ch]

_L
50

1
100

TP delay [ns]

TVC(C, bch) (2,6,15

Tonai1z/e+u4 /25
4200+ 0.0
-36.24+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,0)

AT nun ssze+04 /25
4207+ 0.0
-36.71+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2,7,4

- L 303e+u4 / 25
4189+ 0.0
-34.96 + 0.00

= pO
pl
FC 4
1 1 -
50 100
TP delay [ns]
TVC(cbch) (2,7,8)
T 1nug.514e+04 /25
= pO 4222+ 0.0
pl -34.8 + 0.0

TP delay [ns]

TVC(cbch) (2,7,12

T sioe+u4 / 25
4212+ 0.0
-35.65+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,1)

= PO

AT rnuzrze+ud |25
4220+ 0.0
-37.77 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (2 7,5

“nun1.44e+04 [ 25
4217+ 0.0
-35.47 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 7

= po

pl

-1 nuiz.yyze+ud / 25
4225+ 0.0
-35.46 + 0.00

TP delay [ns]

TVC(C, bch) (2,7,13

= pO

~ 1 nui sbye+ud / 25
4219+ 0.0
-36.05+ 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

1000

TVC(cbch) (2,7,2)

- PO

A7 1 nui440e+04 /25
4223+ 0.0
-36.62+ 0.00

pl

TP delay [ns]

TVC(cbch) (2,7,6

= pO

pl

-1 i byge+ud [ 25
4213+ 0.0
-35.39 + 0.00

TP delay [ns]

TVC(ebeh)=(2, 7, 10

- DO

1 nuiLgUbe+U4 / 25
4242+ 0.0
-35.53+ 0.00

pl

TP delay [ns]

TVC(cbch) (27,14

TrnuiLgr1e+04 /25
4228+ 0.0
-36.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (2,7,
E o
pl

3

nuiL, 1sbe+u4 / 25
4187+ 0.0
-34.93+ 0.00

TVC(c,b ch) (2 7,7

-

= po
pl

1
100

TP delay [ns]

nuz 3yse+u4 / 25
4211+ 0.0
-35.42 % 0.00

1
100

TP delay [ns]

TVC(c,b ch) (2, 7

= pO

S :me+u4/25
4221+ 0.0
-36.62 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (2,7,

X1

15

nuiL 110e+u4 / 25
4216+ 0.0
-35.38 + 0.00

[ C =28.26 [ps/ch

50

100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,0)

- po

K™ 1 1zoe+U4 [ 25

pl -36.07 + 0.00

4231+ 0.0

TP delay [ns]

TVC(cbch) (28,4

- i 115e+04 / 25
- pO 4226+ 0.0
p1 -33.94+ 0.00

[ C =29.47 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (2 8,8

1 nuy 4p1e+u4 [ 25

= pO 4238+ 0.0
pl -35.43 + 0.00

TP delay [ns]

TVC(cbch) (2,812

1L z3re+u4 [ 25

P pO 4247+ 0.0
pl -36.34+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,1)

AT 1nuiL1o/e+u4 [ 25
po 4235+ 0.0
pl -35.38+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (2 8,5

-1 nui Z30e+04 / 25
- pO 4245 0.0
-34.39+ 0.00

[ C =29.08 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 8,9

-1 nuiz.guoe+ud / 25
= po 4255+ 0.0
p1 -34,98 £ 0.00

TP delay [ns]

TVC(C, bch) (2,813

T inai zyze+ud [ 25
= pO 4264+ 0.0
pl -36.23+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

4000

3000
2000

1000

1000

TVC(cbch) (2,8,2)

1nun L uze+ud [ 25

- pc 42253‘
[ pl -33.9+ 0.0
FC = 29.50 [ps/ch]™, 1

+ o

TP delay [ns]
TVC(Eheh)=(2,8,6)
- rnurL 376e+04 [ 25

Fe-. pO 4258:‘
L pl -35.64 + 0.00
[ C =28.06 [ps/ch ]

_ o

TP delay [ns]

TVC(cbch) (2, 8 10

1 nuiLBu/e+u4 [ 25

__ DO 4277+ 0.0
- pl -35.79 + 0.00

TP delay [ns]

TVC(cbch) (2,8 14

1 nui s18e+u4 [ 25

- pD 4274+ 0.0
L p1 -37.55+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,3)

A1 Onae+ud | 25
po 4229+ 0.0
pL -34.75+ 0.00

[ C =28.77 [ps/ch]

L
50 100

TP delay [ns]

TVC(c,b ch) (2 8,7

-1 nubzle+u4d / 25
F pO 4231£ 0.0
pL -36.21% 0.00

TP delay [ns]

TVC(c,b ch) (2, 8

T 51/e+u4/25
po 4266+ 0.0
-36.19+ 0.00

TP delay [ns]

TVC(C, bch) (2,815

T nuiasoe+ud [ 25
™ PO 4157+ 0.0
p1 -35.28 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,0)

A1

' po
pl

4v0e+u4 | 25
4172+ 0.0
-37.31+ 0.00

TP delay [ns]

TVC(cbch) (2,94

pO
pL

-1 yzze+u4 | 25
4208+ 0.0
-38.11 + 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (2 9,8

pO
p1

T yure+ud /25
4218+ 0.0
-35.32+ 0.00

TP delay [ns]

TVC(cbch) (2,9,12

pO
p1

© i boze+u4 [ 25
4198+ 0.0
-36.12+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,1)

PSR

e, po
pL

Srve+ud [ 25
4179+ 0.0
-35.16 + 0.00

TP delay [ns]

TVC(c,b ch) (2 9,5

=11 Boae+u4 / 25
4202+ 0.0
-36.16 + 0.00

TP delay [ns]

TVC(c,b ch) (2 9,9

-1 nuizyyle+ud / 25
4239+ 0.0
-35.35+ 0.00

TP delay [ns]

TVC(C, bch) (2,9,13

T nui ozve+ud / 25
4208+ 0.0
-37.09+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

TVC(cbch) (2,9,2)

e, PO

T Lave+ud /25
4162+ 0.0
-34.94 + 0.00

pl

TP delay [ns]

TVC(cbch) (29,6

pO
p1

- rnuz0ple+ud / 25
4231+ 0.0
-38.11 + 0.00

TP delay [ns]

TVC(cbch) (2, 9 10

= o

T rnuz131e+04 /25
4236+ 0.0
-35.93+ 0.00

pl

TP delay [ns]

TVC(cbch) (2,914

- PD
p1

T rnuiLb1ve+u4 [ 25
4202+ 0.0
-36.33+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (2,9,

A

po
pL

3

nuiLbL/e+u4 / 25
4203+ 0.0
-37.48+ 0.00

TP delay [ns]

TVC(c,b ch) (2 9,7

-

pe=e. pO
pl

nug bobe+u4 / 25
4205+ 0.0
-35.61+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (2, 9

= pO

Sy /se+u4/25
4203+ 0.0
-36.64 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (2,9,

X1

15

nuiL 114e+04 / 25
4166+ 0.0
-35.95+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=( 2, 10,0)

T LAl b5p9 / 25
= PO 4168 0.0
pl -34.76 + 0.00

TP delay [ns]

TVC(cbch) (2,104

- i z95e+04 / 25
- pO 4196+ 0.0
pl -34.49 + 0.00

TP delay [ns]

TVC(cbch) (2, 10 8

T 1o brze+u4 | 25
- PD 4243+ 0.0
pl -35.66 + 0.00

TP delay [ns]

TVC(cbch) (2,10,12

- s3e+ud [ 25
- PO 4234+ 0.0
pl -36.4 + 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,10,1)

AT 1 nuiLzive+ud [ 25
PO 4192 0.0
p1 -36.8 + 0.0

TP delay [ns]

TVC(c, bch) (2,105

-1 nui418e+04 / 25
pO 4229 0.0
pL -36.02:+ 0.00

TP delay [ns]

TVC(c,b ch) (2,10,9

-1 nuiz byse+ud 25
DO 4275+ 0.0
-36.6 + 0.0

1
100

TP delay [ns]

TVC(cbch) (210,13

T a53e+u4 [ 25
PO 4235+ 0.0
pl -35.68 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(c,b,ch)=( 2, 10, 2)

LAl 1296125
po 4194+ 0.0
pl -36.13+ 0.00

TP delay [ns]

TVC(cbch) (2.10,6

T bz/e+V4 [ 25
pO 4226+ 0.0
pl -35.87+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (2,10, 10

1000

0

1 nuiz,uzoe+u4 | 25
DO 4279+ 0.0
pl -37.5+ 0.0

TP delay [ns]

TVC(cbch) (2.10,14

- C = 28.91 [ps/ch]

T L zyse+ud [ 25
PD 4230+ 0.0
pl -34.59 + 0.00

50

P
100

TP delay [ns]

TVC(cbch) (2,10,3)

3000

2000

1000

AT 1nuiL2u/e+u4 [ 25
4000 e, PO 4196+ 0.0
p1 -35.19+ 0.00

TP delay [ns]

TVC(c, bch) (2,10,7

2000

3000 -

2000

1000 [~

-1 U bboe+u4 / 25
PO 4219+ 0.0
pL -36.32.+ 0.00

50 1(;0
TP delay [ns]

TVC(eh.eh)=(2, 10, 11

4000 ey

3000

2000

1000

T nui vzve+u4 / 25
pO 4239+ 0.0
pl -35.64 + 0.00

TP delay [ns]

TVC(cbch) (210,15

3000

2000

1000

T 38 re+u4 [ 25
4000 o, pO 4176+ 0.0
pl -35.59 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2,11,0)

A7 1 nuiquae+ud /25
P, po 4191+ 0.0
pl -36.17 + 0.00

TP delay [ns]

TVC(cbch) (2,11,4

Tz ye+u4 | 25
4195+ 0.0
-35.7+ 0.0

50 10‘0
TP delay [ns]

TVC(ebeh)=(2, 11,8

©1nug.ya4e+04 | 25
= po 4232+ 0.0
pl -36.01+ 0.00

TP delay [ns]

TVC(cbch) (2,11, 12

AT 1nui sre+u4 /25
= PO 4233+ 0.0
pl -35.33+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,11,1)

AT 1 nunLouse+ud [ 25
pee,, po 4200+ 0.0
pl -36.3+ 0.0

TP delay [ns]

TVC(cbch) (2,11,5

=1 nui zgbe+u4 [ 25
e pO 4203 0.0
pL -35.88+ 0.00

TP delay [ns]

TVC(eh.eh)=(2, 11, 9

-1 nuiLysze+ud / 25
po 4243+ 0.0
p1 -34.97 + 0.00

TP delay [ns]

TVC(cbch) (2,11,13)

Tonan L sge+ud [ 25
pO 4242+ 0.0
pl -36.23+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2, 11 2)

T ss1e+ud [ 25
- pO 4201+ 0.0
L pl -35.91+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,116

=1 nur 3o0e+04 / 25
- pO 4213+ 0.0
[ pl -35.82+ 0.00

TP delay [ns]

TVC(e.b.ch)=(2, 11, 10

X~ 1 nuiLpurse+ud [ 25
b=, po 4229+ 0.0
F pl -35.17 + 0.00

TP delay [ns]

TVC(cbch) (2,11, 14

K™ 1 nuios1e+04 /25
- po 4236+ 0.0
- pl -35.8+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2, 11 3)

T L1se+ud /25
- pO 4188+ 0.0
p1 348+ 0.0

TP delay [ns]

TVC(cbch) (2,11,7

-1 nu 2yse+u4 [ 25
- pO 4213+ 0.0
pL -36.66+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (2, 11 11

T 1nuiLa43e+04 / 25
- pO 4233+ 0.0
p1 -35.49 + 0.00

TP delay [ns]

TVC(cbch) (211,15

T nui ooae+ud [ 25
™, PO 4197+ 0.0
p1 -37.23+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2, 12 0)

T 14se+u4 /25
- pO 4207+ 0.0
pl -38.18 + 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (2,124

T bl/e+ud [ 25
- pO 4231% 0.0
pl -36.66+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2,128

T, 3u/e+u4 /25
= po 4227+ 0.0
pl -35.71+ 0.00

TP delay [ns]

TVC(cbch) (212,12

T rnuiLzsle+u4 | 25
= po 4227+ 0.0
pl -34.84+ 0.00

TP delay [ns]

TVC(chh) (2,12,1)

4000 [’ po

p1

A1 abae+Ua ] 25
4218+ 0.0
-37.42:+ 0.00

3000

2000

1000

TP delay [ns]

TVC(cbch) (2,125

4000 jam, pO

pl

~1nui4/0e+04 / 25
4236+ 0.0
-36.61+ 0.00

3000 -

2000

oo C =27.31 [ps/ch

TP delay [ns]

TVC(c,b ch) (2, 12

4000 [

-1 nuiL gYoe+ud / 25
4234+ 0.0
-35.08 + 0.00

3000

2000

1000

TP delay [ns]

TVC(cbch) (212,13

4000 e, ,,o

~ 1 nuiL vbae+ud / 25
4243+ 0.0
-35.84+ 0.00

3000

2000

1000

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,12,2)

TP delay [ns]

TVC(cbch) (2.12,6

-1 482e+04 [ 25
- pO 4266+ 0.0
[ pl -37.59+ 0.00

AT 1nuisyie+u4 /25
_- po 4217+ 0.0
o pl -36.59 + 0.00

3000

TP delay [ns]

TVC(e b eh)=(2, 12, 10

1 nuiLg44e+04 / 25
-, po 4238+ 0.0
L pl -35.12+ 0.00

TP delay [ns]

TVC(cbch) (212,14

T rnuiLgule+ud / 25
- pD 4233+ 0.0
L pl -35.12+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,12,3)

AT 1 nuiLsvse+ud [ 25
4220+ 0.0
pl -36.26 + 0.00

po

TP delay

TVC(c, bch) (2,12,7

pO
pl

[ns]

- rnu by /e+u4 /25
4201+ 0.0
-34.81+ 0.00

TP delay

TVC(cbch) (2, 12 11

T s

= pO

[ns]

- 2e+04 | 25
4246 £ 0.0
pl -36.15+ 0.00

TP delay

TVC(cbch) (212,15

[ns]

T nui asse+ud [ 25
4203+ 0.0
p1 -36.77 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,13,0)

-1 44ve+04 / 25
[, pO 4221 0.0
pl -36.5+ 0.0

TP delay [ns]

TVC(cbch) (2,134

-1y 7oe+ud | 25
-, pO 4242+ 0.0
pl -39.47 £ 0.00

TP delay [ns]

TVC(cbch) (2, 13 8

S rnu 17 /e+04 /25
- PD 4228+ 0.0
pl -34.83+ 0.00

TP delay [ns]

TVC(cbch) (2,13,12)

T nuiLsuse+u4 / 25
- PO 4224+ 0.0
pl -36.03 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (2,13,1)

R-nun L 35e+ud [ 25
e, PO 4212+ 0.0
pl -36.47 + 0.00

TP delay [ns]

TVC(c, bch) (2,135

S nun 1 /be+ud [ 25
DU 4253+ 0.0
pL -39.59 + 0.00

TP delay [ns]

TVC(c,b ch) (2,13,9

T inus31e+u4 /25
4239+ 0.0
-35.4+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (213,13

T zoge+u4 [ 25
PO 4227+ 0.0
pl -35.94 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000 [,
3000
2000

1000

TVC(cbch) (2,13,2)

TP delay [ns]

TVC(cbch) (2,136

-1 nuz.uyve+ud [ 25
F 4255+ 0.0
3 39.1% 0.0

X~ 1w si4e+04 /25
- po 42254 0.0
3 Pl -36.98 0.00

3000

50 100
TP delay [ns]

TVC(cbch) (2,13,10

1000

0

~ i, rgoe+u4 / 25
- DO 4240+ 0.0
I pl -36.35 + 0.00

TP delay [ns]

TVC(cbch) (2,13, 14

T az5e+04 [ 25
PD 4228+ 0.0
pl -35.64 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,13,3)

[ C =25.00 [ps/c 7

AT 1L sre+ud [ 25
- po 4239+ 0.0
pl -40 £ 0.0

-
—L ™
50 100

TP delay [ns]

TVC(c, bch) (2,137

-1 nui Buze+u4 / 25
4204+ 0.0
-36+ 0.0

TP delay [ns]

TVC(ebeh)=(2,13, 11

Tonan 1 b4e+04 /25
- pO 4230+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(cbch) (2,13,15

Sona o Cysu3 /25
[, PO 4173+ 0.0
pl -35.64 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 14 0)

' pO

pl

T rnuiLzspe+ud [ 25
4177+ 0.0
-36+ 0.0

TP delay

TVC(cbch) (2,144

[ns]

- 1L a82e+04 [ 25
4211+ 0.0
-37.31+ 0.00

TP delay

TVC(cbch) (2, 14 8

[ns]

T,/ (e+04 [ 25
4250+ 0.0
pl -37.38+ 0.00

TP delay

TVC(cbch) (2,14,12

B pO

[ns]

Tl r3e+u4 /25
4213+ 0.0
-37.11+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,14,1)

- po

AT 1nuiL1s/e+u4 [ 25
4177+ 0.0
-35.81+ 0.00

p1

TP delay [ns]

TVC(c, bch) (2,145

-1 Ui b3ye+ud / 25
4216+ 0.0
-36.56 + 0.00

TP delay [ns]

TVC(c, bch) (2,14,9

e, po

pl

T inuzible+ud / 25
4260+ 0.0
-37.26 + 0.00

TP delay [ns]

TVC(cbch) (214,13

== po

TinuiLay/e+ud [ 25
4211+ 0.0
-36.27 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

0

1000

TVC(CbCh) (2, 14 2)

b, pO

T 1roe+u4 [ 25
4181+ 0.0
p1 -34.77 + 0.00

TP delay

TVC(cbch) (2,146

[ns]

T rnun 1 50e+04 [ 25
4212+ 0.0
pl -36.11+ 0.00

= pO
F C = 27.69 [ps/ch .
e o
TP delay [ns]

TVC(e b eh)=(2, 14,10

- o

T rnuiLyy/e+u4 | 25
4264+ 0.0
-37.6 + 0.0

pl

TP delay

TVC(cbch) (2.14,14

F=. DD

[ns]

T L soe+ud /25
4212+ 0.0
pl -35.91+ 0.00

TP delay

[ns]

TVC(Cbch) (2,14,3)

4000
. PO

AT rnuiLzzze+ud | 25
4182+ 0.0
pl -36.89 + 0.00

3000

2000

1000

TP delay

TVC(c, bch) (2,14,7

2000 pO

pl

[ns]

-1 nug.uB3e+u4 / 25
4226+ 0.0
-37.46 + 0.00

3000

2000

1000 C

50 100
TP delay

TVC(cbch) (2, 14 11

4000 [Rue.

[ns]

~ 1 nui 344e+04 / 25
4212+ 0.0
pl -35.73+ 0.00

3000

2000

1000

TP delay

TVC(cbch) (2,14,15

4000 [Ru.

[ns]

Tinuiss/e+ud [ 25
4174+ 0.0
-35.71+ 0.00

3000 -

2000 -

1000 C

PR PR S S |
50 100

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,15,0)

e, pO

T ss1e+U4 /25
4186+ 0.0
pl -35.58+ 0.00

TP delay

TVC(cbch) (2,154

[ns]

- 1L zgye+ud / 25
4186+ 0.0
-34.71+ 0.00

E. po
pl
e ]
% T
TP delay [ns]
TVC(cbch) (2, 15 8

1 nup,usbe+U4 / 25
4236+ 0.0
-36.1+ 0.0

TP delay

TVC(cbch) (2,15,12

T gz

= pO

[ns]

- Se+ud [ 25
4208+ 0.0
pl -34.93 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,15,1)

. PO

AT 1L ipoe+ud [ 25
4190+ 0.0
-35.62 + 0.00

p1

TP delay [ns]

TVC(cbch) (2,155

S nun1.4/e+04 /25
- DU 4199+ 0.0
pL -35.88 + 0.00

TP delay [ns]

TVC(c,b ch) (2,159

[, pO

Tinuss/e+ud [ 25
4265+ 0.0
-37.44+ 0.00

pl

TP delay [ns]

TVC(cbch) (215,13

= pO

T nuiLazoe+ud / 25
4223+ 0.0
-35.44+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (2,15,2)

- PO

A7 1 nui syze+04 /25
4197+ 0.0
pl -35.66 + 0.00

TP delay

TVC(cbch) (2,156

[ns]

- i blge+ud / 25
4212+ 0.0
-36.1+ 0.0

TP delay

TVC(cbch) (2, 15 10

- DO

[ns]

T i bz3e+u4 | 25
4238+ 0.0
pl -35.58 + 0.00

TP delay

TVC(cbch) (2.15,14

[ns]

TP delay

5,14)
1L zo4e+04 [ 25
- pD 4211+ 0.0
- -33.3+ 0.0
- C = 30.03 [psich] . 7
g ———— =

[ns]

TVC(cbch) (2,15,3)

4000 P, po

A” 1L gbae+U4 [ 25
4189+ 0.0
p1 -35.68+ 0.00

3000

2000

1000

TP delay

TVC(c, bch) (2,157

4000

[ns]

- nu 34ze+04 | 25
4210+ 0.0
-36.7 + 0.0

3000

2000

1000

50 1(;0
TP delay

TVC(ehch)=(2, 15, 11

4000 o pO

[ns]

T inuisb/e+ud [ 25
4219+ 0.0
pl -35.32+ 0.00

3000

2000

1000

TP delay

[ns]

)

TVC(c,b,ch)=( 2, 15, 15

1+ -
05 1

0 = ¥
TP delay [ns]



TVC(cbch) (3,0,0)

A~ 1L oole+ud /25
2000 po 4204+ 0.0
pL -38.14  0.00
3000 ]
2000~ ]
1000 = ]
0 = oo
TP delay [ns]
TVC(cbch) (3,0,4)
-1 §3ae+04 / 25
4000 [, pO 4216+ 0.0
pL -37.65+ 0.00
3000 [~ ]
2000~ ]
1000 = ]
0
TP delay [ns]
TVC(cbch) (3 0,8)
1000 E Tnug.zyre+ud [ 25
= po 4169+ 0.0
-34.05  0.00
3000 - 7
2000 = 71
10r C =29.36 [ps/ch]™,_ 7
1 1 -
b 50 100
TP delay [ns]
TVC(cbch) (3,0,12)
~ 1 nuiLy4oe+u4 / 25
4000 [ po 4241+ 0.0
p1 -35.71+ 0.00

3000

2000

1000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,1)

. po

p1

x- 1 i Soae+ud | 25
4174+ 0.0
-36.68+ 0.00

TP delay [ns]

TVC(c,b ch) (3,0,5

PSRRI

p0
pl

yre+u4 | 25
4208+ 0.0
-36.74  0.00

1
100

TP delay [ns]

TVC(c,b ch) (3 0,9

== pO

~ 1 nuy.qpbe+ud [ 25
4212+ 0.0
-34.76 + 0.00

pl

TP delay [ns]

TVC(ebeh)=(3, 0,13

1

e, po
p1

ze+V4 /25
4224+ 0.0
-35.78 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

TVC(cbch) (3,0,2)

po

pl

K™ 1nuiL4r0e+04 /25
4193+ 0.0
-37.2+ 0.0

- C = 26.88 [ps/c

TP delay

TVC(cbch) (3,06

pO
p1

[ns]

© 1 nu,ugve+u4 | 25
4231+ 0.0
-38.12 + 0.00

TP delay [ns]

TVC(eb,oh)=(3, 0, 10

-1, (poe+ud [ 25
4202+ 0.0
-34.12+ 0.00

= 90
i =
3000:— 7]
2000:— _:
woof C = 29.30 [psich]™,
) 4 o
TP delay [ns]

4000

3000

2000

TVC(cbch) (3,0,14

1000

= P"

pl

1 nuiL ysae+u4 [ 25
4234+ 0.0
-36.2+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,3)

PSRN

e po
pL

ose+ud / 25
4201+ 0.0
-37.19+ 0.00

TP delay [ns]

TVC(c,b ch) (3 0,7

pO
pl

“rnu 1/5e+04 /25
4238+ 0.0
-38.03+ 0.00

100

TP delay [ns]

TVC(c,b ch) (3, O

= pO

T, iUde+U4/25
4209+ 0.0
-34.84 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (3, O 15

- 1uz,ugbe+ud [ 25
4218+ 0.0
-34.76 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,0

K™ 1 nuiobre+ud /25
- po 4180+ 0.0
p1 372+ 0.0

C =26.88 [ps/c ]

TP delay [ns]

TVC(cbch) (31,4

- L y11e+ud / 25
pO 4201% 0.0
pl -36.13+ 0.00

=

TP delay [ns]

TVC(cbch) (3 1,8

Tz 1n/e+u4 /25
po 4191+ 0.0
pl -35.46 + 0.00

TP delay [ns]

TVC(cbch) (31,12

~ 1L bope+U4 / 25
pO 4213+ 0.0
pl -34.77 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,1

AT 1L oose+ud [ 25
o, po 4188+ 0.0
pl -37.03+ 0.00

TP delay [ns]

TVC(c,b ch) (3 1,5

=1 nuiL Bube+u4 / 25
pO 4189+ 0.0
pL -35.51% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 1,9

~ 1 naiyUzze+ud [ 25
po 4196+ 0.0
pl -36.23 + 0.00

TP delay [ns]

TVC(cbch) (3,1,13

T nuisble+ud / 25
pO 4221% 0.0
pl -36.78 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (3,1,2)

A~ 1nuiogre+04 /25
- po 4180+ 0.0
L pl -36.29 + 0.00

3000

TP delay [ns]

TVC(cbch) (31,6

- 11U Bobe+u4 / 25
e pO 4207+ 0.0
[ pl -36.26+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 1 10

1 nuzpoge+ud | 25
= po 4195+ 0.0
L pl -35.03 + 0.00

3000

TP delay [ns]

TVC(cbch) (31,14

~ i b43e+04 / 25
-, pD 4209+ 0.0
L p1 -35.75+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,3

A~ 1 huiLbbae+u4 / 25
- po 4201+ 0.0
pl -36.21+ 0.00

TP delay [ns]

TVC(c,b ch) (3 1,7

- 1nu 135e+04 / 25
4219+ 0.0
-36.7 + 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, l

T ame+u4/25
4213+ 0.0
-36.3 + 0.0

1
50 100

TP delay [ns]

TVC(cbch) (31,15

T inuipz/e+u4 /25
- po 4219+ 0.0
p1 -35.32+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,0

K™ 1nuiozie+u4 /25
P po 4169+ 0.0
pl -35.73+ 0.00

TP delay [ns]

TVC(cbch) (3,24

- uiL547e+04 ] 25
P, pO 4177+ 0.0
pl -35.64 + 0.00

TP delay [ns]

TVC(cbch) (3 2,8

1 nuiLguYe+u4 / 25
= pO 4221+ 0.0
pl -35.71+ 0.00

TP delay [ns]

TVC(cbch) (3,212

T 1ze+04 /25
= po 4226+ 0.0
pl -35.54 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,21

AT 1 nuiLbzze+ud [ 25

_—- po 4190+ 0.0
pL -36.8+ 0.0

[ C=27.17 [psic ]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (3 2,5

=11 boye+u4 / 25
e, pO 4202+ 0.0
pL -37.02:+ 0.00

TP delay [ns]

TVC(c,b ch) (3 2,9

T nun.1y3e+ud / 25
- pO 4234+ 0.0
pl -36.46 + 0.00

TP delay [ns]

TVC(C, bch) (3,213

~ 1 nui p44e+u4 | 25
= pO 4226+ 0.0
pl -35.85+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (3,2,2)

K™ 1 nuiLdo0e+04 / 25
P po 4196+ 0.0
L pl -37.54+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,2,6

- i 711e+04 / 25
- pO 4201 0.0
[ pl -36.47 + 0.00

3000

TP delay [ns]

TVC(cbch) (3, 2 10

1000

0

Trnuzpr1e+ud [ 25
= po 4275+ 0.0
- pl -38.26 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,214

T 1nuiLplye+ud / 25
- pD 4219+ 0.0
[ p1 -35.42+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,3)

po

pl

AT rmuaiLo/se+ud [ 25
4196+ 0.0
-37.24+ 0.00

TP delay [ns]

TVC(c,b ch) (3 2,7

pO
pl

-1 i byse+u4 / 25
4207+ 0.0
-35.87 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (3, 2

= pO

T yaue+u4/25
4267+ 0.0
-37.32+ 0.00

pl

TP delay [ns]

TVC(C, bch) (3,215

-1 nuipuze+ud / 25
4234+ 0.0
-35.38 + 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,0

AT zise+ud /25
P, po 4189+ 0.0
pl -35.82+ 0.00

TP delay [ns]

TVC(cbch) (3,34

-1 nui149e+04 / 25
= pO 4210+ 0.0
p1 -34.32:+ 0.00

[ C =29.14 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (3 3,8

1 nuiz,gove+u4 | 25
4212+ 0.0
-35.3+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (3,312

T, sze+04 [ 25
pO 4231+ 0.0
pl -35.94 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (3,31

AT 1 nunL 1soe+ud [ 25
Fee,, po 4197+ 0.0
p1 -36.64.+ 0.00

TP delay [ns]

TVC(c,b ch) (3 3,5

~ 1 nui 349e+04 [ 25
- pO 4223+ 0.0
p1 -35.44 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 3,9

T nun 3 /0e+ud [ 25
4220+ 0.0
-34.8+ 0.0

TP delay [ns]

TVC(C, bch) (3,313

T nui osze+ud [ 25
pO 4233+ 0.0
pl -36.06 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

TVC(cbch) (3,3,2)

K™ 1 nuizyoe+u4 / 25
- po 4213+ 0.0
o pl -36.07 + 0.00

3000

TP delay [ns]

TVC(cbch) (33,6

T L3/ re+04 [ 25
- pO 4232+ 0.0
[ pl -35.66 + 0.00

3000

TP delay [ns]

TVC(cbch) (3, 3 10

T rnuzb31e+ud [ 25
- po 4249+ 0.0
- pl -35.69+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,314

1000

Ty e+u4 [ 25
- pD 4216+ 0.0
[ p1 -35.99 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,3

x- 1 i lvae+ud | 25
P, po 4212+ 0.0
p1 -34.66+ 0.00

TP delay [ns]

TVC(c,b ch) (3 3,7

- nun 3z2ze+04 [ 25
pO 4248+ 0.0
p1 -34.69+ 0.00

[ C =28.82 [ps/ch] ]

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 3

T yu/e+u4/25
= po 4250+ 0.0
p1 -36.74+ 0.00

TP delay [ns]

TVC(C, bch) (3,315

TinuiLpl/e+ud /25
pO 4238+ 0.0
p1 -36.56 + 0.00

TP delay [ns]



TVC(cbch)(340) TVC(cbch)(34l) TVC(cbch)(342) TVC(cbch)(343)
A” 1L 440e+04 / 25 A~ 1L size+ud | 25 A™ i ssse+u4 [ 25 A~ 1 b30e+ud [ 25
4000 4193+ 0.0 4000 =, po 4190+ 0.0 4000 ._- po 4187+ 0.0 4000 e, po 4206+ 0.0
-36.81+ 0.00 pl -36.35+ 0.00 : pl -35.91+ 0.00 pl -36.96 + 0.00

3000

1 3000 -1 3000 -1 3000 N

2000 -1 2000 -1 2000 -1 2000

1000 1 1000 -1 1000 -1 1000

0, 1 1 1] 0, 0,
50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(eheh)=(3,4,4) TVC(eb.eh)=(3,4,5) TVC(ebeh)=(3,4,6) TVC(eb.eh)=(3,4,7)
- 1 nuiL4p4e+04 / 25 =1 nui 3ybe+u4 [ 25 T 1L 74ze+04 [ 25 - nu /gle+u4 / 25
4000 fm, pO 4227+ 0.0 4000 pO 4232+ 0.0 4000 [, pO 42412 0.0 4000 e, pO 4248+ 0.0
Pl -36.17%0.00 Pl -36.84 0.00 3 Pl -3752% 0.00 Pl -36.08+ 0.00
3000~ - 3000 - 3000 — — 3000 g
2000 E 2000 E 2000 — — 2000 -
1000~ C B 1000 C B 1000:— C =26.65 [pS/C — 1000 C —
EY 00 = 0 5 o of EY 0 . 5 100 =
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(eheh)=(3,4,8) TVC(ebeh)=(3,4,9) TVC(ebeh)=(3, 4, 10) TVC(eb,o=(3, 4, 11)
Tnug.84e+04 /25 -1y bbge+u4 [ 25 © 1 nuz,yuge+ud / 25 - 1z, ubbe+u4 / 25
4000 pO 4210 00 4000 pO 4229+ 00 4000 DO 4239+ 00 4000, p0 4244+ 00
Pl 3444000 Pl -34.98+ 0.00 [ pl -35.91+ 0.00 Pl -35.06+ 0.00

3000 - 3000 - 3000 - 3000 _

2000 -1 2000 - 2000 I 2000

- 1000 - 1000F

1000 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(34l ) TVC(cbch)(3413) TVC(cbch)(34l ) TVC(cbch)(3415)
~ i puse+u4 / 25 T 3oe+u4 [ 25 TinuiLpbre+ud [ 25 T 1 33e+04 /25
4000 e pO 42364 0.0 000, pO 422200 000K pD 4222+ 0.0 4000 pO 4226+ 0.0
pl -36.59 + 0.00 pl -37.39+ 0.00 : pl -36.99 + 0.00 pl -36.23+ 0.00

3000 -1 3000 -1 3000 -1 3000 -1

2000 -1 2000 - 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,0

A7 1nun szoe+04 /25
Frcea. po 4202+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(cbch) (3,54

Tanu 1.5e+04 /25
. pO 4213+ 0.0
p1 -35.49+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 58

T rnun.1y1e+u4 / 25
- pO 4240+ 0.0
pl -35.08 + 0.00

TP delay [ns]

TVC(cbch) (3,5,12

pO
p1

T Ly roe+u4 / 25
4294+ 0.0
-36.49 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,51

AT 1nuiL3r/e+u4 [ 25
I e po 4228+ 0.0
pl -35.86 + 0.00

TP delay [ns]

TVC(c,b ch) (3 55

-1 nui /1pe+u4 / 25
e, pO 4203 0.0
p1 -34.81% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 59

T nui 115e+05 / 25
- po 4269+ 0.0
pl -35.47 + 0.00

TP delay [ns]

TVC(C, bch) (3,5,13

pO
p1

T nui goze+ud [ 25
4282+ 0.0
-36.9 + 0.0

TP delay [ns]

4000

2000

1000

4000
3000

2000

4000

3000

2000

1000

4000

3000

2000

TVC(cbch) (3,5,2)

AT 1nun 3r4e+04 /25
. po 4232+ 0.0
- pl -36.02 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,56

1000

“rnuig r81e+u4 [ 25
4207+ 0.0
-34.5+ 0.0

TP delay [ns]

TVC(cbch) (3, 5 10

T nuiggloe+u4 / 25
- po 4284+ 0.0
[ pl -35.05+ 0.00

- C = 28.53 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (3,5,14

1000

TrnuiLpbr1e+u4 /25
pD 4282+ 0.0
pl -36.94 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,3

AT 1L obze+ud [ 25
e, po 4240+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(c,b ch) (3 57

=1 nui Yyve+u4 / 25
- pO 4219+ 0.0
p1 -34.48+ 0.00

[ C =29.00 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 5

T zu::e+u4/25
- po 4289+ 0.0
-35.15+ 0.00

[ C =28.45 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (3,5,15

T nui ooye+ud / 25
- pO 4294+ 0.0
p1 -37.04+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,6,0

A7 1nun zzae+04 /25
.. po 4175+ 0.0
p1 -34.27 + 0.00

TP delay [ns]

TVC(cbch) (36,4

T rnuiLz/4e+04 [ 25
- pO 4239+ 0.0
pl -36.83+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 6,8

a2 ygoe+u4 | 25
- po 4228+ 0.0
pl -36.69 + 0.00

TP delay [ns]

TVC(cbch) (3,6,12

T slie+ud /25
= po 4221+ 0.0
pl -35.26 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (3,6,1)

T Lase+ud [ 25
- pO 4186+ 0.0
pl -34.74+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,5

-1 nui 18be+04 / 25
- pO 4255+ 0.0
p1 -37.64+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,9

T nu.1z4e+04 / 25
= po 4256+ 0.0
pl -36.34 + 0.00

TP delay [ns]

TVC(C, bch) (3,6,13

T nuiL 1s0e+ud / 25
pO 4233+ 0.0
pl -36.05+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (3,6,2)

AT inuizr1e+04 /25
__— po 4203+ 0.0
o pl -35.38+ 0.00

3000

TP delay [ns]

TVC(cbch) (36,6

-1 nuiL395e+04 / 25
- pO 4258+ 0.0
[ pl -37.02 0.00

TP delay [ns]

TVC(cbch) (3, 6 10

T rnuiLyyle+u4 / 25
F po 4249+ 0.0
L p1 -35.45 + 0,00

TP delay [ns]

TVC(cbch) (3,6,14

T zile+ud /25
F pD 4245+ 0.0
L -36.64 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,3)

e po

pl

AT 1 nuiL1yve+ud [ 25
4192+ 0.0
-34.74+ 0.00

TVC(c,b ch) (3 6,7

feme pO
pl

1
100

TP delay [ns]

=1 nui bhye+u4 / 25
4261+ 0.0
-38.01+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 6

e pO

T, /1/e+u4/25
4264 £ 0.0
-36.87 + 0.00

pl

TP delay [ns]

TVC(C, bch) (3,6,15

T nuis1ve+ud /25
4239+ 0.0
-35.75+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,7,0)

AT nun zs1e+04 /25
4195+ 0.0
-35.3+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (3,7,

-1 Zage+04 [ 25
pO 4204+ 0.0
pl -35.50+ 0.00

e 4
% i
TP delay [ns]
TVC(cbch) (3 7,8

T z.3ze+04 /25
po 4212+ 0.0
pl -37.16 + 0.00

TP delay [ns]

TVC(cbch) (3,7,12

T i sEoe+u4 / 25
pO 4225+ 0.0
pl -34.83+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,71

AT 1 nunLsuse+ud [ 25
P, po 4200+ 0.0
pl -35.15+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,5

-1 nui 31ee+u4 / 25
e, pO 4194 0.0
p1 -34.89+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,9

1 nu.a80e+u4 | 25
po 4239+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(C, bch) (3,7,13

pO
p1

Tinanyage+ud [ 25
4208+ 0.0
-35.12+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000
3000
2000

1000

TVC(cbch) (3,7,2)

TP delay [ns]

TVC(cbch) (37,6

T L sse+ud /25
_- pO 4215+ 0.0
o pl -36.21+ 0.00

3000

- rnuiL391e+u4 / 25
- pO 4211% 0.0
[ pl -35.99+ 0.00

TP delay [ns]

TVC(cbch) (3, 7 10

1000

0

©1nuz4n3e+u4 | 25
= po 4254+ 0.0
L pl -36.89 + 0.00

TP delay [ns]

TVC(cbch) (37,14

pD
pl

TrnuiLg31e+u4 / 25
4209+ 0.0
-34.53+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,3

AT 1 nuiLzsve+ud [ 25
=, po 4215+ 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,7

=1 nui buge+u4 / 25
- pO 4225+ 0.0
pL -35.77+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 7

= pO

T g u4e+u4/25
4253+ 0.0
pl -37.09 + 0.00

TP delay [ns]

TVC(C, bch) (3,7,15

T inui s1loe+ud [ 25
po 4215+ 0.0
p1 -35.54 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,8,0

K™ nuiolse+ud /25
., po 4218+ 0.0
pl -37.46 + 0.00

TP delay [ns]

TVC(cbch) (38,4

- i zobe+ud / 25
pO 4222+ 0.0
p1 -35.45+ 0.00

e 4
% i
TP delay [ns]
TVC(cbch) (3 8,8

T nuzgzze+04 | 25
pO 4248+ 0.0
pl -38.35+ 0.00

1 1=
50 100
TP delay [ns]
TVC(Cbch) (3, 8 12

T Zoe+ud /25
pO 4237+ 0.0
pl -36.28+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,81

AT 1 nuLsuLe+ud /25
., po 4197+ 0.0
pl -35.62 + 0.00

TP delay [ns]

TVC(c,b ch) (3 8,5

=1 Ui 3ube+u4 / 25
pO 4209+ 0.0
pL -35.28+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,9

~ 1 nu. ygye+ud / 25
po 4264+ 0.0
pl -37.69 + 0.00

TP delay [ns]

TVC(C, bch) (3,8,13

Tonan 1 34e+u4 /25
pO 4233+ 0.0
pl -36.19+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (3,8,2)

K™ 1 nuioyye+ud / 25
- po 4200+ 0.0
L pl -36.06 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,86

T 31/e+04 /25
- pO 4217+ 0.0
[ pl -35.34 0.00

TP delay [ns]

TVC(cbch) (3, 8 10

T z.z8e+u4 /25
-, po 4270+ 0.0
- pl -38.06 + 0.00

50 100

TP delay [ns]

TVC(cbch) (3,814

T szse+u4 [ 25
- pD 4231+ 0.0
[ p1 -36.48 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,8,3)

T Lbze+ud [ 25
e, pO 4229+ 0.0
pl -37.24+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,7

- 1nui 4/8e+04 / 25
- pO 4238+ 0.0
pL -36.23+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 8

T yabe+u4/25
= pO 4274+ 0.0
pl -38.18 + 0.00

TP delay [ns]

TVC(C, bch) (38,15

T nui4zae+u4 /25
4241+ 0.0
-35.81+ 0.00

TP delay [ns]



TVC(cbch)(390) TVC(cbch)(391) TVC(cbch)(392) TVC(cbch)(393)
AT i zsze+u4 [ 25 A~ 1w 1bye+ud [ 25 AT 1w 3r4e+04 [ 25 A d1ie+ud [ 25

4000 fme,, po 4214+ 0.0 4000 fm,, po 4230+ 0.0 4000 fm, PO 4230+ 0.0 4000 fos PO 4229+ 0.0
pl -35.58+ 0.00 pl -36.09 + 0.00 F pl -35.84 + 0.00 pl -35+ 0.0

3000

E 3000 - 3000 - 3000 B

2000 - 2000 = 2000 N 2000

1000 = 1000 1 1000~ 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (39,4 TVC(cbch) (39,5 TVC(cbch) (39,6 TVC(c, bch) (39,7

-1 nuiL buse+u4 / 25 -1 bBae+ud [ 25 T nuiL /rye+u4 [ 25 -1 bloe+ud [ 25
4000 [, pO 4207+ 0.0 4000 Fem, pO 4215+ 0.0 4000 fe, pO 4230+ 0.0 4000 fas pO 4240+ 0.0
pl 3502+ 000 Pl -36.09% 0.00 [ PL_ -35.97%0.00 -35.1% 0.0

3000 - 3000 E 3000 — 3000 B

2000 ] 2000 E 2000 : 2000 ]

1000f C E 1000 7 w0~ C = 27.80 [pS/Ch 7 1000 E

- r " ] -
- - -
1 1 - 0, 1 1 - 1 -
EY 00 50 00 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb.ch)=(3,9,8) TVC(eb,oh)=(3,9,9) TVC(eb.oh)=(3, 9, 10) TVC(e.heh)=(3, 9, 11)
T 311e+ud 1 25 ~ 1 nup.3oYe+u4 [ 25 ~1nuzplge+ud | 25 T nuz1yle+ud / 25
4000 o, pO 4215+ 0.0 4000 pO 4227+ 0.0 4000 fo DO 4248+ 0.0 4000 4255+ 0.0
pl -34.98 + 0.00 pl -35.55+ 0.00 F pl -34.96 + 0.00 -36+ 0.0

-1 3000

3000 N 3000 - 3000

2000 - 2000 2000 - 2000

1000 - 1000 1000 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (3,9,12 TVC(C, bch) (3,9,13 TVC(cbch) (3,9,14 TVC(C, bch) (3,9,15

T i, rose+u4 / 25 T nuiLpble+ud / 25 T ure+u4 [ 25 T nui szye+ud [ 25
4000 = pO 4269+ 0.0 4000 [, pO 4248+ 00 4000 o, PD 4254+ 0.0 4000 o, pO 4247+ 0.0
pl -36.59 + 0.00 pl -36.74+ 0.00 r pl -37.86+ 0.00 pl -37+ 0.0

- 3000

3000 -1 3000 1 3000

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (3, 10 0)

© L syve+u4 [ 25
4218+ 0.0
pl -36.98 + 0.00

TP delay

TVC(cbch) (3,10,4

pO
pL

[ns]

- 1L .a84e+04 / 25
4204+ 0.0
-36.83+ 0.00

50 10‘0
TP delay

TVC(cbch) (3, 10 8

- pD

[ns]

T zzZ1e+04 /25
4249+ 0.0
pl -36.97 + 0.00

TP delay

TVC(cbch) (310,12

pO
p1

[ns]

i bzve+u4 / 25
4233+ 0.0
-35+ 0.0

TP delay

[ns]

TVC(chh) (3,10,1)

4000 7 po

p1

AT 1 nuiLoube+ud [ 25
4220+ 0.0
-37.94+ 0.00

3000

2000

1000

TP delay [ns]

TVC(c, bch) (3,10,5

4000 pO

pl

- nui bzye+u4 [ 25
4212+ 0.0
-36.81+ 0.00

3000

2000 -

1000 C

1
50 100

TP delay [ns]

TVC(c,b ch) (3, 10

4000 faem po

T a3y /e+u4 /25
4262+ 0.0
-36.64 + 0.00

pl

3000

2000

1000

TP delay [ns]

TVC(cbch) (310,13

4000 e,

T inai zzze+ud | 25
4233+ 0.0
-34.33+ 0.00

3000

2000

w0 C =29.13 [pS/Ch]

PR BRSNS |
50 100

TP delay [ns]

4000

3000

2000

4000
3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

1000

0

TVC(CbCh) (3,10,2)

™, po

A7 1 nui49ye+u4 /25
4218+ 0.0
p1 -37.43+ 0.00

TP delay

TVC(cbch) (3,10,6

pO
p1

[ns]

- 11U b4pe+04 / 25
4224+ 0.0
-36.66 + 0.00

TP delay

TVC(cbch) (3, 10 10

- b

[ns]

T 3.09e+u4 /25
4275+ 0.0
pl -37.12+ 0.00

TP delay

TVC(cbch) (3.10,14

- pD

[ns]

TrnuiLas/e+ud [ 25
4235+ 0.0
pl -35.21+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (3,10,3)

e po

X- 1 i sdae+U4 | 25
4218+ 0.0
p1 -36.03+ 0.00

TP delay

TVC(c, bch) (3,10,7

[ns]

“nun158e+04 [ 25
4232+ 0.0
-38+ 0.0

50 1(;0
TP delay

TVC(cbch) (3, 10 1

= pO

[ns]

T onai/13e+04 /25
4273+ 0.0
pl -35.98+ 0.00

TP delay

TVC(cbch) (3,10,15

[ns]

T inuiasse+ud [ 25
4224+ 0.0
p1 -35.62+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 =,

3000

2000

1000

TVC(CbCh) (3,11,0)

A7 nun zsoe+u4 [ 25
4186+ 0.0
pl -36.82+ 0.00

TP delay [ns]

TVC(cbch) (3,11,4

- 1 nuiL4p9e+04 / 25
e, pO 4168+ 0.0
pl -35.32:+ 0.00

FC -
| L -
50 100
TP delay [ns]
TVC(c,b, ch) (311,8)

T 1nug.4oe+u4 [ 25
- pD 4237+ 0.0
p1 -36.52+ 0.00

TP delay

TVC(cbch) (3,11, 12

[ns]

X~ 1y 444e+04 [ 25
po 4216+ 0.0
pl -35.45+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(Cbch) (3,11,1)

=, po

AT nuiLs34e+U4 [ 25
4190+ 0.0
pl -35.73+ 0.00

1
100

TP delay [ns]

TVC(cbch) (3,11,5

- b33e+u4 / 25
pese, 4174+ 0.0

33.38 + 0.00

[ C =29.96 [ps/ch]

50 1(;0
TP delay

TVC(eh.eh)=(3, 11, 9

e, po

[ns]

1 nuw. 1bbe+ud / 25
4251% 0.0
pl -36.45 + 0.00

TP delay

TVC(cbch) (311,13

pO

[ns]

T nui soae+ud / 25
4201+ 0.0
pl -35.13+ 0.00

TP delay

[ns]

4000

3000
2000

1000

4000
3000
2000

1000

TVC(CbCh) (3, 11 2)

b pO

T rnuiLsize+ud [ 25
4189+ 0.0
-36.4+ 0.0
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2000 4 2000 - 2000 2000 -

1000 E 1000 C = 28.90 [pS/Ch] — 1000: w00 C = 28.88 [pS/Ch] 7]

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

1
50 100

TVC(cbch) (4,6,12 TVC(C, bch) (4,6,13 TVC(cbch) (4,6,14 TVC(C, bch) (4,6,15

T L, rzoe+u4 | 25 T nui gzoe+ud [ 25 ~ 1L pgbe+u4 / 25 T nui pzze+u4 [ 25
41000 o, PO 4235+ 0.0 4000 e, PO 4229+ 0.0 4000 - PD 4232+ 0.0 4000 po, PO 4238+ 0.0
pl -36.52+ 0.00 pl -36.49+ 0.00 r pl -36.88 + 0.00 pl -36.89 + 0.00

3000

-1 3000 - 3000 - 3000 -1

2000 . 2000 1 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVO(eb.eh)=(4,7,0) TVO(ebeh)=(4,7, 1) TVO(eb.eh)=(4,7,2) TVC(ebeh)=(4,7,3)
A7 1 nuiLyuoe+ud / 25 AT rnuLzive+ud [ 25 K™ 1 nuiLuyze+u4 /25 AT rnuiLzyle+ud [ 25
4000, po 4215% 0.0 4000 po 4229+ 0.0 4000 m po 4234+ 0.0 4000 mes pO 4251+ 0.0
pl -35.25+ 0.00 pl -35.84 + 0.00 - pl -35.24 + 0.00 pl -35.77 + 0.00

- 3000

- 3000

3000 -1 3000 =

r .
2000 - 2000 B 2000 2000

1000 — 1000 1000

wol ¢ = 28.37 [ps/ch

1 1 1 1 ] 1 1
50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (4,7,4 TVC(cbch) (47, TVC(cbch) (4,7,6 TVC(c, bch) (4.7,

T rnurg l)uleﬂJA 125 Tnun 24ZE+U4/25 T t?abeﬂjd 125 SRALELN b)biE+U4/25
4000 pO 4246+ 0.0 4000 feme, pO 4248+ 0.0 4000 fme, pO 4247+ 0.0 4000 fme, pO 4254+ 0.0
Pl 3536+ 0.00 Pl -35.65% 0.00 [ PL_ 3589+ 0.00 Pl 3559+ 0.00
3000 ] 3000 - 3000 B 3000 -
2000 ] 2000 - 2000 1 2000 4
1000 ] 1000 1 woo- C = 27.86 [ps/ch 7 w000 C = 28.10 [ps/ch ]
1 1 - 1 -
50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (47,8 TVC(cbch) (47, TVC(cbch) (47,10 TVC(c, bch) (4,7,

) 9) ) 11)
©1nu s45e+04 [ 25 -1 ysge+us / 25 T nug.Yroe+u4 /25 <1 babe+u4 / 25
4000 e pO 4224+ 0.0 4000 [ pO 4250+ 0.0 4000 [, DO 4270+ 0.0 4000, p0 4262+ 0.0
pl -36.43+ 0.00 pL -36.73+ 0.00 3 pl -36.51+ 0.00 pL -35.65+ 0.00

3000

. 3000 1 3000 - 3000 -1

2000 -1 2000 -1 2000 N 2000

1000 -1 1000

- 1000 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(47l ) TVC(cbch)(4713) TVC(cbch)(47l ) TVC(cbch)(4715)
~ L buse+u4 / 25 Tinaiasze+ud [ 25 ~1nuiLuy4e+u4 [ 25 Tinui s41e+04 /25
4000 pO 4270+ 0.0 4000 pO 4280 0.0 4000 fomm PD 4272+ 00 4000 pO 4275£ 00
pl -35.87 + 0.00 pl -36.75+ 0.00 F pl -36.17 + 0.00 pl -36.43+ 0.00

- 3000

3000 -1 3000 _ 3000 .

2000 - 2000 1 2000 - 2000

1000 ] 1000 T 1000 E 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,8,0

A7 1 nun sove+u4 / 25
Frcea po 4201+ 0.0
pl -36.47 + 0.00

TP delay [ns]

TVC(cbch) (4,84

- i byye+ud / 25
pO 4229+ 0.0
p1 -35.78:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4 8,8

©1nuiLpase+u4 | 25
- po 4227+ 0.0
pl -35.88+ 0.00

TP delay [ns]

TVC(cbch) (4,812

T L gise+u4 / 25
= po 4225+ 0.0
pl -35.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,81

AT 1 nunLszoe+ud [ 25
P e po 4208+ 0.0
pl -36.3+ 0.0

TP delay [ns]

TVC(c,b ch) (4 8,5

- nui by /e+u4 [ 25
[Foees, pO 4220+ 0.0
pL -35.33+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (4 8,9

T nu.Yu/e+ud [ 25
- pO 4247+ 0.0
-35.9 + 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (4,813

T inuioz/e+ud [ 25
= pO 4225+ 0.0
pl -36.23+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (4,8,2)

- C = 28.26 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (4,86

A~ 1nunz4ze+04 /25
_l'_ po 4213+ 0.0
- pl -35.39 0.00

-1 nuiL Bobe+u4 / 25
pO 4231 0.0
pl -34.88+ 0.00

TP delay [ns]

TVC(cbch) (4, 8 10

©1nuz 3ope+ud | 25
-, po 4267+ 0.0
- pl -36.09 + 0.00

TP delay [ns]

TVC(cbch) (4,814

T L bEse+u4 / 25
- pD 4229+ 0.0
L -34.49 + 0.00

F C = 28.99 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,8,3

AT 1nuiLz14e+U4 [ 25
=, po 4213+ 0.0
pl -35.63+ 0.00

TP delay [ns]

TVC(c,b ch) (4 8,7

S rnuiL Y/ e+u4 /25
- pO 42441 0.0
p1 -35.45+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 8

T, /ue+u4/25
- po 4258+ 0.0
p1 -34.92 + 0.00

TP delay [ns]

TVC(C, bch) (4,815

T inaiolie+ud / 25
= po 4243+ 0.0
p1 -36.18+ 0.00

TP delay [ns]



TVC(c,b,ch)=(4,9,0) TVC(c,b,ch)=(4,9,1) TVC(c,b,ch)=(4,9, 2) TVC(c,b,ch)=(4,9, 3)
T Ao T A T r T

u v427125 AL Y040/ 25 T You7 /25 AT 1 nuiL11se+ud [ 25
ao0om, po 4185+ 0.0 “0E,, PO 4182+ 0.0 4000, po 4198+ 0.0 4000 PO 4203+ 0.0
Pl -32.79: 0.00 Pl -32.79 0.00 L Pl -32.66+ 0.00 Pl -33.02: 0.00
3000 [ e 3000 [ — s000 E 3000 [ b
2000~ E 2000 [ E 2000 ] 2000 [ E
w0 C = 30.50 [ps/ch] ™ 7 10 C = 30.49 [ps/ch] ™= 7 w0 C = 30.62 [ps/ch] ™=, ] 10r C = 30.29 [ps/ch] ™ 7
1 L5 1 L o o 1 Lo 1 1 -
50 T00 50 00 50 00 50 T00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=(4,9,4) TVC(c,b,ch)=(4,9,5) TVC(c,b,ch)=(4,9,6) TVC(c,b,ch)=(4,9,7)
T X7 YuL9 / 25 T X rnuar 947125 T X~ 1L 1zoe+04 [ 25 T X~ 1L .4qye+U4 [ 25
4000 po 4226+ 0.0 4000 e, po 4223+ 0.0 4000 fem, po 4220+ 0.0 4000 fo, po 4233+ 0.0
Pl -33.39%0.00 pL -32.91% 0.00 L pl -34.49 + 0.00 Pl -33.93%0.00
3000 [~ — 3000 [ - 3000 :_ _: 3000 7
2000~ g 2000 ] 2000 ' ‘ 2000 - -
- [ ]
w00 C = ] 1000 = -
109F C = 29.95 [ps/ch] “._ ] wof ¢ = 30.38 [ps/ch] ™= F C =28.99 [ps/chl™, 7 C =29.47 [ps/ch] ™,
2 i 2 i 2 T = e
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=(4, 9, 8) TVC(c,b,ch)=(4, 9,9) TVC(c,b,ch)=( 4, 9, 10) TVC(c,b,ch)=(4, 9, 11)
T X~ 1 nuiz04ne+04 25 T X1 g Bzae+u4 [ 25 T X~ 1 nuiz.a85e+04 | 25 T A7 1 nuiLb1ye+ud [ 25
4000 p, po 4206+ 0.0 4000 po 4230+ 0.0 4000 [, PO 4240+ 0.0 4000 oo, PO 4233+ 00
Pl -32.84+0.00 Pl -34.20% 0.00 L Pl -32.89 0.00 Pl -33.09+ 0.00
3000~ E 3000 [ 1 3000} ] 3000 [ E
2000 - 2000~ ] 2000} ] 2000 ]
wool- C = 30.45 [ps/ch] ™=, 1 0o C = 29.16 [ps/ch] -] w0 C = 30.40 [ps/ch] ™= 7] wor C = 30.22 [ps/ch] ™=, 7
1 1 - 1 1 - i 1 1 -1 L 1 -
0 50 00 50 00 0 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=( 4, 9, 12) TVC(c,b,ch)=( 4, 9, 13) TVC(c,b,ch)=( 4, 9, 14) TVC(c,b,ch)=( 4, 9, 15)
T X~ 1 s8ze+04 [ 25 T A~ 1 nuiLgiie+ud /25 T X~ 1 g53e+04 [ 25 T X~ boze+ud | 25
4000 f po 4254+ 0.0 4000 fe, po 4253+ 0.0 4000 po 4264+ 0.0 4000 o, po 4262+ 0.0
Pl -34.951 0.00 -34.47 £ 0.00 [ Pl -35.69+ 0.00 -34.54 £ 0.00
3000 B 3000 [ E 3000 - - 3000 E
2000 1 2000 [~ - 2000 ' ' 2000 - 4
1000 R w0 C = 29,01 [ps/ch] ] 1000:— C= 7] 100r C = 28.95 [ps/ch] S

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(CbCh) (4, 10 0)

4000 &

© L pzse+u4 [ 25
4203+ 0.0
p1 -36.14 + 0.00

3000

2000

1000

TP delay [ns]

TVC(cbch) (4,104

- 1 i boze+ud / 25
4235+ 0.0
-37+ 0.0

4000 s, pO
pL
3000~ 7
2000~ 1
1000~ C 7
| L
50 100
TP delay [ns]
TVC(c,b, ch) (4, 10 8
4000 [, po

1 nuig,byve+u4 / 25
4235+ 0.0
-36.71+ 0.00

p1

3000

2000

1000

0

TP delay [ns]

TVC(cbch) (4,10, 12

r9be+u4 [ 25
4245+ 0.0
-34.85+ 0.00

A1,

4000 po

3000

2000

1000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4,10,1)

A nuan 15,

e, po

ae+u4 [ 25
4205+ 0.0
pl -36.41+ 0.00

TP delay

TVC(c, bch) (4,105

[ns]

- 11 baye+ud / 25
4222+ 0.0
pl -36.82+ 0.00

TP delay

TVC(ebeh)=(4, 10,9

F po

[ns]

"1 nuy.pble+ud / 25
4271+ 0.0
pl -38.63 + 0.00

TP delay

TVC(C, bch) (410,13

== po

| =
50 100

[ns]

T inair3ve+ud [ 25
4260+ 0.0
-36.21+ 0.00

PR BRSNS |
50 100

TP delay

[ns]

4000

3000
2000

1000

4000
3000

2000

4000

3000

2000

4000

3000
2000

1000

1000

1000

0

TVC(CbCh) (4,10,2)

P PO

K™ 1 nuiLoboe+ud / 25
4213+ 0.0
pl -36.77 + 0.00

TP delay

TVC(cbch) (4,10,6

pO
p1

[ns]

- 1L Bloe+ud / 25
4235+ 0.0
-37.88 + 0.00

TP delay

TVC(cbch) (4, 10 10

- b

[ns]

T nuig.z4se+04 [ 25
4276+ 0.0
pl -37.66 + 0.00

TP delay

TVC(cbch) (410,14

- p"

[ns]

T roze+u4 [ 25
4258+ 0.0
pl -35.57 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,10,3)

e po

AT 1L bzoe+ud [ 25
4218+ 0.0
pl -36.08 + 0.00

TP delay

TVC(c, bch) (4,10,7

o, pO

[ns]

-1 nui y3se+u4 / 25
4246+ 0.0
-37.4 % 0.0

50 1(;0
TP delay

TVC(ehch)=(4, 10, 11

= pO

[ns]

Tinuz1u/e+u4 /25
4287+ 0.0
pl -37.95+ 0.00

TP delay

TVC(cbch) (4,10,15

= po

[ns]

TinuiLyize+ud [ 25
4259+ 0.0
p1 -35.75+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(4, 11,0)
T

Ko Cuo29725
4175+ 0.0
p1 -34.97:+ 0.00

TP delay

TVC(cbch) (4,11,4

[ns]

T i rz4e+04 [ 25
4206+ 0.0
-36.41+ 0.00

F pO
p1
FC N
1 1 "
50 100
TP delay [ns]
TVC(c,b, ch) (4,11,8)
i, ruge+u4 / 25
- pO 4211+ 0.0
pl -35.08 + 0.00

TP delay

TVC(cbch) (4,11, 12

[ns]

X~ 1 az8e+04 [ 25
= po 4227+ 0.0
pl -34.97 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,11,1)

Fome, po

AT rmuLurve+ud [ 25
4175+ 0.0
pl -35.21+ 0.00

TP delay

TVC(cbch) (4,11,5

F- pO

[ns]

~nui ryle+u4d / 25
4221+ 0.0
pl -36.69 + 0.00

TP delay

TVC(eh.eh)=(4, 11, 9

e, po

[ns]

Tnan4.25e+04 1 25
4247+ 0.0
-35.9 + 0.0

1
50 100

TP delay

TVC(c, bch) (411,13

pO

[ns]

T nui sbae+ud / 25
4246+ 0.0
pl -36.13+ 0.00

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

1000

1000

0

TVC(CbCh) (4,11, 2)

froese po

A7 1 nuiLuzoe+u4 /25
4191+ 0.0
-36.1+ 0.0

pl

TP delay

TVC(cbch) (4,11,6

pO
p1

[ns]

- i, ro8e+u4 [ 25
4218+ 0.0
-36.28 + 0.00

TP delay

TVC(e.bch)=(4, 11, 10

[ns]

X~ 1 nuiz432e+04 [ 25
-, po 4253+ 0.0
- pl -36.97 + 0.00

TP delay

TVC(cbch) (4,11, 14

[ns]

X~ 1 gyze+04 [ 25
__ po 4246+ 0.0
L pl -36.08 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,11,3)

po

AT rnuiLizve+ud [ 25
4203+ 0.0
pl -35.93+ 0.00

TP delay

TVC(cbch) (4,11,7

o= pO

[ns]

-1 nui g1be+u4 / 25
4228+ 0.0
pl -36.07 + 0.00

50 1(;0
TP delay

TVC(cbch) (4, 11 11

= pO

[ns]

TinuiLs//e+u4 [ 25
4263+ 0.0
pl -36.05+ 0.00

TP delay

TVC(c, bch) (411,15

[ns]

T nui s3ae+u4 /25
4236+ 0.0
-35.91+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (4,12,0)

1 nuizu1e+ud [ 25

e p; " 4201+ 0.0
pL -34.4+ 0.0
[ C=29.07 [ps/ch],_ 7
1 L -
50 100
TP delay [ns]
TVC(c,b ch) (4, 12 4)
T nunL z35e+04 / 25
3 pO 4208+ 0.0
pl -34.77 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4, 12 8

T i, ro3e+04 / 25
- po 4229+ 0.0
pl -34.89 + 0.00

TP delay [ns]

TVC(Cbch) (4, 12 12

T rnuiLsyle+u4 / 25
= po 4217+ 0.0
-34.14+ 0.00

[ C =29.29 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

TVC(chh) (4,12,1)

4000 fur po

AT 1 nuiLLive+ud [ 25
4203+ 0.0
-35.05+ 0.00

p1

3000

2000

1000

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (4, 12 5

=i 1.30e+04 /25
4000 pO 4221+ 0.0
pl -35.19+ 0.00

3000

2000

1000

TP delay [ns]

TVC(c, bch) (4,12,9

4000 [

T 1 nup.b3ve+u4 25
4230+ 0.0
-33.63 + 0.00

3000 -

2000 -

w0 C =29.74 [ps/ch] ™.

1
50 100

TP delay [ns]

TVC(c,b ch) (4,12,13

2zoe+ud | 25
4214+ 0.0
-34.84+ 0.00

X rnan g

4000 e 0

p1

3000

2000

1000 |~

TP delay [ns]

TVC(CbCh) (4,12,2)

4000, po

3000
2000

1000

A7 1 nuiz44e+04 /25
4227+ 0.0
p1 -36.34+ 0.00

TP delay

TVC(Cbch) (4, 12 6

4000 e, pO

pl

[ns]

- rnuiLzg1e+u4 / 25
4226+ 0.0
-35.82 + 0.00

3000 |~

2000~

wol- C = 27.92 [ps/ch

TP delay

TVC(cbch) (412,10

40008 pO

pl

[ns]

©1nuz 3be+u4 | 25
4262+ 0.0
-34.46 + 0.00

3000

2000~

wof C = 29.02 [ps/ch]

1
0 50 100

TP delay

TVC(CbCh) (4, 12 14

4000 [

[ns]

T uie+u4/ 25
4219+ 0.0
pl -35.68 + 0.00

3000
2000

1000

TP delay

[ns]

TVC(Cbch) (4,12,3)

AT 1 nuiL43ve+ud [ 25
4223+ 0.0
p1 -36.43+ 0.00

4000 [u

po

3000

2000

1000

TP delay

TVC(c,b Ch) (4, 12 7

4000 fum pO

[ns]

= 11U bbye+u4 / 25
4241+ 0.0
pl -35.38+ 0.00

3000 -

2000 -

wool- C = 28.27 [ps/ch

TP delay

TVC(c, bch) (4, 12 11

4000 e, pO

pl

[ns]

T nai 15e+04 / 25
4254+ 0.0
-34.31+ 0.00

3000 -

2000 -

00 C = 29.15 [ps/ch]

1
50 100

TP delay

TVC(cbch) (4, 12 15

4000 [u.

[ns]

Tinuiss/e+ud [ 25
4222+ 0.0
p1 -34.76 + 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (4, 13 0)

1 nu syze+ud | 25

Foe pO 4206+ 0.0
pL -35.93  0.00

TP delay [ns]

TVC(Cbch) (4, 13 4

-1 i 39ve+04 / 25

b pO 4214+ 0.0
p1 -36.55+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (4,13,8

- i 1 9%e+ud /25
- po 4233+ 0.0
p1 -35.58:+ 0.00

TP delay [ns]

TVC(Cbch) (4, 13 12

- i zyle+ud [ 25
= po 4238+ 0.0
p1 -35.97 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4,13,1)

F.... po

p1

A1 L abae+Ud ] 25
4214+ 0.0
-35.97+ 0.00

TP delay [ns]

TVC(c,b Ch) (4, 13 5

- 11 3b4e+04 / 25
4234+ 0.0
-36.72+ 0.00

TP delay [ns]

TVC(ebeh)=(4, 13,9

[, pO

-1 nu.ygze+ud [ 25
4246+ 0.0
-36.14+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (4, 13 13

T inui 1sze+ud [ 25
4234+ 0.0
-35.62+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

0

TVC(CbCh) (4,13,2)

TP delay [ns]

TVC(Cbch) (4, 13 6

A~ 1w L ooe+u4 /25
F.... po 4202+ 0.0
- pl -35.59+ 0.00

3000

1 nuiL 199e+U4 / 25

- pO 4206+ 0.0
[ p1 -35.14 + 0.00

TP delay [ns]

TVC(ebeh)=(4, 13, 10

= o

1 nuiz gy3e+ud | 25

pl -37.47 £ 0.00

4280+ 0.0

TP delay [ns]

TVC(CbCh) (4, 13 14

- 1 130e+04 / 25
-, pD 4244+ 0.0
[ pl -35.59 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,13,3)

s, po

A~ 1 nuiZ, 160e+U4 | 25
4203+ 0.0
-34.5+ 0.0

pl

[ C =28.99 [ps/ch]

L
50 100

TP delay

TVC(c,b Ch) (4, 13 7

= pO

[ns]

- i z41e+04 / 25
4218+ 0.0
p1 -35.73+ 0.00

TP delay

TVC(eheh)=(4, 13, 11

= pO

[ns]

~ 1 nuiz.u4se+ud [ 25
4271+ 0.0
-36.4 £ 0.0

1
50 00

TP delay

TVC(cbch) (4, 13 15

[ns]

T nuiazve+ud [ 25
4248+ 0.0
p1 -36.43+ 0.00

TP delay

[ns]



TVC(cbch) (4,14,0) TVC(cbch) (4,14,1) TVC(cbch) (4,14,2) TVC(cbch) (4,14,3)
T rnuiLzioe+u4 [ 25 AT 1 nuiLzose+ud [ 25 A7 1 nui soze+04 /25 AT 1 nuiLzsoe+ud [ 25
4000 pO 4207+ 0.0 400k, po 4202+ 0.0 4000, po 4226+ 0.0 4000 [, po 4231£ 0.0
pl -36.08 + 0.00 pl -36.09 + 0.00 - pl -35.58 + 0.00 pl -36.73+ 0.00

- 3000

3000 - 3000 -1 3000 -

2000 - 2000 N 2000~ 2000

1000

1000 - 1000

ool C = 28.10 [ps/ch

L 1 | 1 ] 0
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (4,144 TVC(c, bch) (4,145 TVC(cbch) (4,146 TVC(c, bch) (4,14,7

S i 1.04e+04 /25 - rnur uzbe+ud [ 25 -1 nunLuBBe+u4 / 25 -1 nur Ubze+u4 / 25
4000k, pO 4206+ 0.0 4000 o, pO 4198+ 0.0 4000 4227+ 0.0 4000 e, pO 4213+ 0.0
Pl -36.04 0.00 Pl -36.02: 0.00 3 -36.4 % 0.0 Pl -35.34 0.00

3000 - - 3000 - 3000 : —: 3000 -
2000 E 2000 - 2000 : ': 2000 [~ -
10001 C 71 1000 ] 1o0or ] wooF C = 28.29 [ps/ch 7]
| 1 ~- oL | 1 - | -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b, ch) (4,14,8) TVC(c,b ch) (4,14,9) TVC(c,b ch) (4,14,10) TVC(c,b ch) (4,14,11)
T iz 118e+u4 / 25 T b, bz3e+u4 [ 25 T nuzp13e+ud / 25 -1 yoge+u4 / 25
4000 e pO 4212+ 0.0 4000 4233+ 0.0 4000 DO 4253+ 0.0 4000} p0 4259+ 0.0
pl -35.61 0.00 35,6+ 0.0 3 pl -35.63+ 0.00 pL -36.01+ 0.00

3000

-1 3000 - 3000 - 3000 -1

2000 . 2000 - 2000 - 2000

1000 N 1000 - 1000 L ] 1000 -
1 1 - L 1 1 - 1 L 1 -
50 100 0 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b ch) (4,14,12) TVC(c,b ch) (4.14,13) TVC(c,b ch) (4.14,14) TVC(c,b ch) (4,14,15)
T i, r49e+04 / 25 Tinai/18e+ud [ 25 T ore+u4 [ 25 T nuiL s oe+ud [ 25
4000 4242+ 0.0 4000 [, pO 4248+ 0.0 4000 PD 4228+ 0.0 4000 4238+ 0.0
-35.81+ 0.00 pl -36.79+ 0.00 I pl -35.46 + 0.00 -35.91+ 0.00

3000

-1 3000 -1 3000 - 3000 -1

2000 -1 2000 N 2000 - 2000

1000 - 1000

1000 - 1000

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (4,15,0)

[ C =28.69 [ps/ch] ]

AT g se+ud /25
4246+ 0.0
-34.86+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (4,154

- 1L Y4ye+04 | 25
o, pO 4212+ 0.0
pl -36.44 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4, 15 8

T L, r3pe+u4 / 25
- pO 4224+ 0.0
p1 -37.3+ 0.0

TP delay [ns]

TVC(cbch) (4,15,12

T i, ryve+u4 / 25
- po 4259+ 0.0
pl -36.31+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4,15,1)

AT 1 nuiLbloe+ud /25
eaee po 4230+ 0.0
p1 -34.26+ 0.00

[ C=29.19 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c, bch) (4,155

-1 nui BY4e+u4 [ 25
F po 4221+ 0.0
p1 -37.04+ 0.00

TP delay [ns]

TVC(c, bch) (4, 15 9

<1 nup.b4ve+u4 [ 25
= po 4235+ 0.0
pl -35.72+ 0.00

TP delay [ns]

TVC(C, bch) (415,13

-1 nuiLpouve+ud / 25
pO 4273+ 0.0
pl -36.77 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

4000
3000
2000

1000

1000

TVC(CbCh) (4,15,2)

A7 1 nui ro0e+U4 /25
po 4256+ 0.0
pl -36.59 + 0.00

TP delay [ns]

TVC(cbch) (4,156

- rnuz103e+04 / 25
pO 4227+ 0.0
pl -36.83+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (4, 15 10

1 nuzgz8e+04 | 25
po 4255+ 0.0
pl -35.78 + 0.00

TP delay [ns]

TVC(cbch) (415,14

~ 1 nuiLpsYe+u4 / 25
pD 4269+ 0.0
pl -36.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,15,3)

AT 1 nuiLynse+ud [ 25
po 4267+ 0.0
pl 354+ 0.0

1
100

TP delay [ns]

TVC(c, bch) (4,157

-1 nuz.uyle+ud / 25
pO 4233+ 0.0
pL -36.15+ 0.00

1(;0
TP delay [ns]

TVC(ehch)=(4 15, 11

Tinuzy/ie+u4 /25
pO 4265+ 0.0
pl -36.26 + 0.00

TP delay [ns]

TVC(cbch) (4,15,15

T nuipole+ud / 25
4255+ 0.0
-35.51+ 0.00

1
100

TP delay [ns]



TVC(ehet)=(5,0,0) TVC(ebe)=(5,0,1) TVC(ehe)=(5,0,2) TVC(ebe)=(5,0,3)
AT rnuiLzzre+u4 [ 25 A~ 1w Zzobe+ud | 25 S Yos6 /25 A~ 1w 1ize+ud [ 25
a0, po 4205 0.0 4000k, po 4207+ 0.0 a0, po 4217 0.0 4000 [, po 4224% 0.0
Pl -36.44% 0.00 Pl -36.12% 0.00 L pl 3593+ 0.00 pl_ -35.79% 0.00

3000

N 3000 -1 3000 - 3000 -

2000 -1 2000 - 2000 - 2000

1000 — 1000 - 1000 u 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (5,0,4) TVC(cbch) (5,0,5) TVC(cbch) (50,6) TVC(cbch) (5,0,7)
- L0 r4e+u4 / 25 -1 nui Zole+u4d / 25 T ib/e+u4 [ 25 -1 nui Z3ye+u4 / 25
4000, pO 4221+ 0.0 4000 pO 4236+ 0.0 4000 feme, pO 4245+ 0.0 4000 fes pO 4245+ 0.0
pl -35.91+ 0.00 Pl -36.84 0.00 [ Pl -36.33 0.00 pl -36.51+ 0.00
3000 |- E 3000 E a000|- 3 3000 -
2000 ] 2000 4 2000 — — 2000 g
. [ ]
1000 C B 1000 7] woor C = 27.53 [ps/ch 7 woof C ]
1 1 - 1 1 ™ 1 1 - o 1 1 -
50 00 50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(ebeh)=(5,0,8) TVC(eb.eh)=(5,0,9) TVC(eb.ch)=(5,0,10) TVC(eb.eh)=(5,0,11)
T nuiL438e+U4 / 25 -1 148e+04 [ 25 © i 308e+u4 / 25 Ty Zoe+u4 / 25
4000 e, pO 4230+ 0.0 4000 e, pO 4260+ 0.0 4000 fmm, DO 4257+ 0.0 4000 [ p0 4268+ 0.0
Pl -36.76 0.00 Pl -37.08+ 0.00 L Pl -35.34% 0.00 Pl -36.45: 0.00

3000 B 3000 — 3000 - 3000 e

2000 E 2000 ] 2000

2000

1000 -1 1000 1000

1000

0, 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(SOl ) TVC(cbch)(5013) TVC(Cbch)(501 ) TVC(cbch)(5015)
T, zg4e+u4 25 T g soge+u4 [ 25 Tinug. zole+ud [ 25 - nug 143e+04 / 25
4000 [ pO 4232+ 0.0 4000 [ pO 42312 0.0 4000 [, PD 4227 0.0 4000 4235+ 00
pl -35.56 + 0.00 pl -35.85+ 0.00 r pl -35.77 + 0.00 -35.61+ 0.00

3000 -1 3000 -1 3000 -1 3000 -1

2000 -1 2000 1 2000 1 2000

1000 -1 1000

- 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (51,0

X~ 1w io1e+U4 /25

P po 4206 + 0.0
p1 365 0.0

TP delay [ns]

TVC(cbch) (51,4

- i, Tsye+04 / 25
o, pO 4195+ 0.0
pl -34.63+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 1,8

1 nuiLgyze+u4 | 25
- pO 4234+ 0.0
pl -35.99+ 0.00

TP delay [ns]

TVC(cbch) (51,12

T 1dae+04 /25
= po 4212+ 0.0
pl -34.07 + 0.00

[ C =29.35 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (51,1

AT 1 nun1yse+ud [ 25
s po 4200+ 0.0
pl -35.35+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (5 1,5

-1 nui Z3be+u4 [ 25
= 4203+ 0.0
-33.93+ 0.00

[ C =29.47 [ps/ch] 7]

50 1(;0
TP delay [ns]

TVC(c,b ch) (5 1,9

-1 naig.zyoe+ud | 25
- pO 4245+ 0.0
pl -36.39 + 0.00

TP delay [ns]

TVC(cbch) (51,13

TinaiL s/ e+ud [ 25
= pO 4229+ 0.0
pl -34.72+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (5.1,2)

[Foeee, PO

AT nun 3s0e+u4 /25
4226+ 0.0

TP delay [ns]

TVC(cbch) (5.1,6

pl -36.57 + 0.00

FC =30.63 [ps/ch] -, 7

50 10‘0
TP delay [ns]

TVC(cbch) (5, 1 10

T rnuiL1/ze+04 [ 25
. pO 4204+ 0.0
X pl -32.65+ 0.00

3000

© 1 nuig.yu4e+ud | 25
. po 4255+ 0.0
L pl -35.17 + 0.00

TP delay [ns]

TVC(cbch) (51,14

~1nuiLgn4e+04 [ 25
F-. pD 4210+ 0.0
L -34.04 + 0.00

- C = 29.38 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (51,3

AT rnuiL3s1oe+ud [ 25
- po 4221+ 0.0
pl -35.55+ 0.00

TP delay [ns]

TVC(c,b ch) (5 1,7

-1 nun 248e+04 [ 25
- pO 4206+ 0.0
p1 -32.94+ 0.00

[ C =30.36 [ps/ch] ™ 7]

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, l

T Uue+u4/25
- pO 4251 0.0
-36+ 0.0

TP delay [ns]

TVC(cbch) (51,15

T nui syse+ud / 25
e pO 4214+ 0.0
p1 -34.56 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,2,0)

1z1e+U4 /25
4180+ 0.0
-36.34+ 0.00

A1

TVC(cbch) (524

g
pO
pL

1
50 100

TP delay [ns]

5r3e+U4 /25
4203+ 0.0
-36.53+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5 2,8

- pD

T zz/e+04 /25
4198+ 0.0
-35.64 + 0.00

p1

TP delay [ns]

TVC(cbch) (5,2, 12

= po
p1

Tz e+u4 /25
4221+ 0.0
-37.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (5,2,1)

. PO

AT rnuiLzsze+ud [ 25
4180+ 0.0
-36.5 + 0.0

p1

TP delay [ns]

TVC(c,b ch) (5 2,5

2,5)
1 nui 515e+04 / 25
- pO 4196+ 0.0
pl -35.84+ 0.00
I C=27.90 [ps/ch 7
| -
50 100
TP delay [ns]

TVC(c,b ch) (5 2,9

==, po

T nun.y4se+ud [ 25
4231% 0.0
-36.23 + 0.00

pl

TP delay [ns]

TVC(C, bch) (52,13

Tinuiaz/e+ud [ 25
4208+ 0.0
-36.24+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (5,2,2)

e, PO

A7 1nun 3sve+ud /25
4189+ 0.0
-36.67 + 0.00

pl

TP delay [ns]

TVC(cbch) (5.2,6

= Ui bbbe+ud / 25
4209+ 0.0
-36.77 + 0.00

- PO

[ o

F C = 27.20 [ps/ch .
5(') 100 -

TP delay [ns]

TVC(cbch) (5, 2 10

= 90

© 1 nuz158e+04 / 25
4242+ 0.0
-36.17 + 0.00

pl

TP delay [ns]

TVC(cbch) (5.2 14

T ssse+u4 [ 25
4213+ 0.0
-36.09 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,2,3)

e, po

AT 1L zese+ud [ 25
4206+ 0.0
-36.82+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (5 2,7

pe=e. pO
pl

- nui br8e+u4 [ 25
4218+ 0.0
-36.13+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (5, 2

. pO

T aue+u4/25
4247+ 0.0
-36.34+ 0.00

pl

TP delay [ns]

TVC(C, bch) (52,15

T inaiaiye+ud [ 25
4208+ 0.0
-35.44+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,3,0

X~ 1y, 1zoe+U4 [ 25
P, po 4172+ 0.0
pl -35.15+ 0.00

TP delay [ns]

TVC(cbch) (53,4

- i, 381e+04 / 25
P, pO 4185+ 0.0
pl -36.33+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 3,8

T g, 3z8e+04 [ 25
= po 4219+ 0.0
pl -36.86 + 0.00

TP delay [ns]

TVC(cbch) (5,312

Ty roe+ud /25
= po 4230+ 0.0
pl -37.03+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,3, 1

AT nussyLe+ud [ 25
=N po 4171% 0.0
pl -35.52+ 0.00

TP delay [ns]

TVC(c,b ch) (5 3,5

-1 3/0e+u4 / 25
e, pO 4190+ 0.0
pL -36.92:+ 0.00

TP delay [ns]

TVC(c,b ch) (5 3,9

-1 nub.oyse+u4 / 25
= po 4227+ 0.0
pl -36.76 + 0.00

TP delay [ns]

TVC(C, bch) (53,13

Tinai zse+ud [ 25
= pO 4218+ 0.0
pl -36.94 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (5,3,2)

X~ 1 g urse+u4 [ 25
P po 4192+ 0.0
L p1 -36.5+ 0.0

3000

TP delay [ns]

TVC(cbch) (53,6

- rnurbple+ud / 25
- pO 4222+ 0.0
[ pl -37.19+ 0.00

3000

TP delay [ns]

TVC(cbch) (5, 3 10

0

T rnuizslie+ud [ 25
= po 4238+ 0.0
- pl -37.19+ 0.00

3000

TP delay [ns]

TVC(cbch) (5,3 14

T L p3se+ud / 25
- pD 4225+ 0.0
[ p1 -37.38+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,3,3

AT 1 nus.svse+ud [ 25
- po 4190+ 0.0
p1 -34.82+ 0.00

TP delay [ns]

TVC(c,b ch) (5 3,7

-1 nui bybe+u4 / 25
- pO 4214+ 0.0
pL -36.08:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 3

Ty we+u4/25
- pO 4247+ 0.0
pl -36.51+ 0.00

TP delay [ns]

TVC(C, bch) (53,15

Tinan g ole+ud [ 25
- pO 4234+ 0.0
p1 -37.29.+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,4,0)

K71 nui ozae+V4 /25
4173+ 0.0
-35.75+ 0.00

TP delay [ns]

TVC(cbch) (54,4

-1 nuiL430e+04 / 25
4201+ 0.0
-37.04 + 0.00

= pO
pl
[ C=27.00[ps/c ]
5(') 100 =
TP delay [ns]
TVC(cbch) (54.8)
T rnuz z3se+u4 [ 25
= pD 4237+ 0.0
pl -37.82 :;‘

0

TVC(cbch) (5,4, 12

50 100

TP delay [ns]

pO
p1

Trun14ve+ud /25
4214+ 0.0
-34.93+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5.4,1)

. pO

T 1sse+ud [ 25
4172+ 0.0
-36.2+ 0.0

p1

TP delay

TVC(c,b ch) (5 4,5

[ns]

-1 nui bzze+u4 [ 25
4216+ 0.0
pl -37.95+ 0.00

TP delay

TVC(c,b ch) (5 4,9

— po

1=
50 100

[ns]

T nug.30e+ud [ 25
4251% 0.0
pl -36.41+ 0.00

TP delay

TVC(C, bch) (54,13

[ns]

TinaiLgrze+ud [ 25
4228+ 0.0
pl -35.59+ 0.00

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (5,4,2)

™, po

K™ 1 nui ozye+ud /25
4199+ 0.0
pl -35.81+ 0.00

TP delay

TVC(cbch) (54,6

pO
p1

[ns]

- rnunLg13e+u4 / 25
4216+ 0.0
-37.85+ 0.00

TP delay

TVC(cbch) (5, 4 10

- b

[ns]

©1nuz3y4e+04 | 25
4258+ 0.0
pl -36.34 + 0.00

TP delay

TVC(cbch) (54,14

[ns]

T rnuiLbo/e+U4 /25
4220+ 0.0
-34.6 + 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,4,3)

PSRN

e po
pL

ore+ud /25
4205+ 0.0
-36.66 + 0.00

TP delay [ns]

TVC(c,b ch) (5 4,7

pO
pl

=1 nui Yyve+u4 / 25
4213+ 0.0
-36.89 + 0.00

50 100

TP delay [ns]

TVC(c,b ch) (5,4,

X~ g,

/yue+u4 125
4265+ 0.0
-37.59 + 0.00

TP delay [ns]

TVC(C, bch) (54,15

TinuiLpr1e+ud /25
4219+ 0.0
-35.26 + 0.00

TP delay [ns]



TVC(cbch)(550) TVC(cbch)(551) TVC(cbch)(552) TVC(cbch)(553)
AT rnuig1zre+u4 /25 A~ 1w zyse+Ud | 25 AT zz1e+04 [ 25 A~ v 1 rse+ud | 25
4000 _- PO 4184+ 0.0 4000 - po 4191+ 0.0 4000 ._- po 4203+ 0.0 4000 Fun, po 4209+ 0.0
pl -36.45+ 0.00 pl -38.01+ 0.00 : pl -37+ 0.0 pl -36.08 + 0.00

3000

1 3000 -1 3000 -1 3000

2000 -1 2000 -1 2000 - = 2000

1000 1 1000

— 1000:— C=27.02 [pS/C —: 1000

o o 1 |- o 1 1| o
50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (5 5,4) TVC(cbch) (5 5,5) TVC(cbch) (5 5,6) TVC(cbch) (5 5,7)
“nuiy111e+u4 /25 - rnurg 1bye+ud [ 25 - 1nuiL 3uze+u4 [ 25 -1 44q0e+04 [ 25
4000 e pO 4186+ 0.0 4000 o, pO 4191% 0.0 4000 o, pO 4202+ 0.0 4000 e, pO 4206+ 0.0
pl -36.87 + 0.00 pl -37.01+ 0.00 : pl -36.28 + 0.00 pl -36.21+ 0.00
3000 =1 3000 - -1 3000 :— —: 3000 |~ =1
2000 - 2000 - 2000 :— —: 2000 -
wol C = 27.12 [ps/c . wol C = 27.02 [ps/c . wof C = 27.56 [ps/ch . wol C = 27.61 [ps/ch .
0 55 5 = 0 5 105 = 0 =5 56 = 0 5 0% =
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (5 5,8) TVC(c,b ch) (5 59) TVC(c,b, ch) (5, 5 10) TVC(c,b ch) (5, 5 1)
T g 1s3e+ud / 25 -1 nug gsze+u4 [ 25 - rnuzulge+ud / 25 - i b33e+u4 / 25
4000 PD 4239+ 0.0 4000 4264 0.0 4000 __- 90 4270+ 0.0 4000 e, pO 4266+ 0.0
pl -37.49+ 0.00 -37.5+ 0.0 : pl -37.16 + 0.00 pl -37.13+ 0.00

3000 -1 3000 - 3000 - 3000 -1

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 - 1000 - 1000

0 50 T 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(551 ) TVC(cbch)(5513) TVC(cbch)(551 ) TVC(cbch)(5515)
T 1nuiLsu4e+ud /25 T 13be+u4 / 25 T zze+u4 [ 25 T 148e+04 [ 25
4000 pO 4229+ 0.0 4000 pO 4228+ 0.0 4000 PD 4241 0.0 4000 o, pO 42291 0.0
pl -35.37 + 0.00 pl -34.78 + 0.00 r pl -36.03+ 0.00 pl -35.02+ 0.00

3000 N 3000

- 3000 — 3000

2000 T 2000 - 2000 2000

1000 1000 1000 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch)(560) TVC(cbch)(561 TVC(cbch)(562) TVC(cbch)(563

~nuaiL44ze+04 25 AT, J)U£e+l)4/25 X~ 1w s41e+04 /25 “ 1)4ue+u4125
4000 LY 4182+ 0.0 4000 po 4198+ 0.0 4000 po 4211% 0.0 4000 po 42141 0.0
pl -37.7+ 0.0 pl -38.39+ 0.00 I pl -38.5+ 0.0 pl -37.87+ 0.00
3000~ — 3000 - 3000} ] 3000 [ E
2000~ 1 2000 B 2000 ] 2000 [ T
wof C = 26.52 [ps/c . ] wof C = 25.97 [ps/c ] .
0 £ oo 0 50 0% 0 £ oo 0 50 0%
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (5.6.4) TVC(cbch) (5.6,5) TVC(cbch) (5.6,6) TVC(cbch) (5.6,7)
- 1 Zz9e+u4 [ 25 - 1y Sz4e+04 1 25 - 1 As3e+ud [ 25 - 1 Ggoe+ud | 25
4000, pO 4196 0.0 4000 fom, DU 4189+ 0.0 4000 e, pO 4195+ 0.0 4000 o, pO 4205+ 0.0
pl -37.2+ 0.0 pl -37.17+ 0.00 I pl -37.16+ 0.00 pl -36.45+ 0.00
3000~ — 3000 - 3000 ] 3000 [ —
2000 - E 2000 - 2000 ] 2000 [ E
woo- C = 26.88 [ps/c ] 1000 ] woo- C = 26.91 [ps/c 7] 1000 C ]
0 EY 0o 0 0 EY 0 0 5 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (5.6,8) TVC(c,b ch) (5.6,9) TVC(c,b, ch) (5.6,10) TVC(c,b ch) (56,11)
~rnuiLyyle+ud / 25 - Ty g3ze+u4 [ 25 - © 1 nuz, 309e+u4 / 25 - T i byle+u4 / 25
4000 = pO 4217+ 0.0 4000 pO 4225+ 0.0 4000 DO 4243+ 0.0 4000, pO 4245+ 0.0
pl -36.15 0.00 pL -36.23+ 0.00 F pl -36.87 + 0.00 pL -36.15+ 0.00

3000 -1 3000 - 3000 - 3000 -1

2000 E 2000 E 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

0

0, 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(561 ) TVC(cbch)(5613) TVC(cbch)(561 ) TVC(cbch)(5615)
T nuiLpuLe+ud / 25 T byge+u4 [ 25 TnuiL4roe+04 [ 25 T rnuiLb4re+04 [ 25
4000 pO 4233+ 0.0 4000 s pO 422200 4000 PD 4212+ 00 4000} pO 4230£ 00
pl -36.23+ 0.00 pl -36.28 + 0.00 : pl -35.88+ 0.00 pl -36+ 0.0

3000 -1 3000 - 3000 - 3000 -1

2000 . 2000 - 2000 -1 2000

1000 -1 1000 -1 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,7,0

X~ 1 sore+U4 /25
- PO 4199+ 0.0
pl -36.37+ 0.00

TP delay [ns]

TVC(cbch) (57,4

- 1L 50ye+04 / 25
P, pO 4212+ 0.0
pl -37.09+ 0.00

TP delay [ns]

TVC(cbch) (5 7,8

T rnuig.yloe+u4 / 25
- PD 4225+ 0.0
pl -36.47 + 0.00

TP delay [ns]

TVC(cbch) (57,12

T nuiL43ze+04 [ 25
- PO 4249+ 0.0
pl -35.75+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (57,1

AT 1 nuiLbsze+u4 [ 25
. po 4213+ 0.0
pL -36.33+ 0.00

TP delay [ns]

TVC(cbch) (57,5

Trna 8312/ 25
DU 4214+ 0.0
pL -36.32.+ 0.00

TP delay [ns]

TVC(c,b ch) (5 7,9

1 nu.ag8e+u4 | 25
DO 4256+ 0.0
pl -36.46 + 0.00

TP delay [ns]

TVC(C, bch) (5.7,13

- nuiLa4e+U4 [ 25
pO 4254+ 0.0
pl -36.3 + 0.0

TP delay [ns]

4000

2000

1000

4000

2000

4000

2000

1000

4000

2000

1000

TVC(cbch) (5,7,2)

X~ 1w 4use+U4 [ 25
- po 4205 0.0
3 Pl -36.38+ 0.00

3000

TP delay [ns]

TVC(cbch) (57,6

1000

-1 i b40e+04 / 25
- pO 4219+ 0.0
I pl -36.39:+ 0.00

3000

TP delay [ns]

TVC(cbch) (5, 7 10

T z43e+04 [ 25
- DO 4254+ 0.0
I pl -36.02.+ 0.00

3000

TP delay [ns]

TVC(cbch) (57,14

~ 1 nuiL zoye+ud / 25
- PD 4253+ 0.0
I pl -35.47 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,7,3

AT 1 nuiLb4ze+u4 [ 25
- po 4225+ 0.0
p1 -36.47 + 0.00

TP delay [ns]

TVC(c,b ch) (5 7,7

“nui /b/e+u4 / 25
- PO 4231% 0.0
pl -35.31+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 7

ALV U':ue+l]4/25
- pO 4256+ 0.0
pl -36.79 + 0.00

TP delay [ns]

TVC(C, bch) (57,15

T 37oe+04 [ 25
- pO 4254+ 0.0
pl -35.3+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,8,0

K™ nuiLguie+ud /25
e, po 4212+ 0.0
pl -35.13+ 0.00

TP delay [ns]

TVC(cbch) (58,4

T U3 /e+ud [ 25
e pO 4193+ 0.0
p1 -34.86+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 8,8

T 3poe+ud /25
= po 4223+ 0.0
pl -35.95+ 0.00

TP delay [ns]

TVC(cbch) (5,812

T rnuiLzrve+u4 | 25
- po 4263+ 0.0
p1 -35.6+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,81

AT rnunLizye+ud [ 25
.. po 4197+ 0.0
pl -35.1+ 0.0

TP delay [ns]

TVC(c,b ch) (5 8,5

- nui Z31e+u4 / 25
o pO 4197+ 0.0
pL -36.33+ 0.00

TP delay [ns]

TVC(c,b ch) (5 8,9

T nu n3ze+u4 /25
= pO 4251% 0.0
pl -36.89 + 0.00

TP delay [ns]

TVC(C, bch) (5,813

T inai s43e+u4 / 25
- pO 4267+ 0.0
p1 -36.45+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (5,8,2)

AT 1nuiiroe+V4 /25
=, po 4200+ 0.0
L pl -35.48 + 0.00

3000

TP delay [ns]

TVC(cbch) (58,6

- 1nun3z0e+04 [ 25
e pO 4221 0.0
[ pl -35.64+ 0.00

TP delay [ns]

TVC(cbch) (5, 8 10

1000

T rnuizurze+u4 | 25
-, po 4263+ 0.0
- pl -35.89+ 0.00

TP delay [ns]

TVC(cbch) (5,814

- rnu ) yys5 /25
F-. pD 4248+ 0.0
L pl -34.59 + 0.00
FC =28.91 [psich™., 1

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,8,3)

AT 1 nuiL,1b4e+u4 [ 25
po 4228+ 0.0
pl -36.36 + 0.00

TP delay [ns]

TVC(c,b ch) (5 8,7

- nun Z3ze+u4 [ 25
pO 4215+ 0.0
pL -35.22:+ 0.00

TVC(c,b ch) (5, 8

TP delay [ns]

T au1e+u4/25
po 4276+ 0.0
pl -36.85+ 0.00

TP delay [ns]

TVC(C, bch) (5,815

T nai1zze+u4 /25
pO 4239+ 0.0
p1 -34.98 + 0.00

TP delay [ns]



TVC(c,b Ch) (5,9,0) TVC(c,b Ch) (5,9,1) TVC(c,b Ch) (5,9,2) TVC(c,b Ch) (5,9,3)
X~ Luse+0a ] 25 %1 Lure+Ud ] 25 X~ 0y re+0a ] 25 % 1 Gaserud ] 25
4000 fe,, po 4230 0.0 4000 fmm,, po 4228+ 0.0 4000 fm, po 4232+ 0.0 4000 e, po 4253+ 0.0
Pl -36.64% 0.00 Pl -36.750.00 [ Pl -36.95: 0.00 pl  -37.23% 0.00

3000

-1 3000 =1 3000 =1 3000 -1

2000 - 2000 =1 2000 =1 2000

1000 - 1000 =1 1000 =1 1000

0, 0, 1 0, L 1 1 -F ] 0,
50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (5.9,4) TVC(cbch) (5.9.5) TVC(cbch) (5.9,6) TVC(cbch) (5.9.7)

-1 zbge+u4 [ 25 - nu 333e+04 / 25 - 1 1uiL4p4e+04 [ 25 -1 nui bgze+u4 / 25
4000 e pO 42154 00 4000 pO 4223+ 0.0 4000 fe, pO 4244+ 0.0 4000 e, pO 42512 0.0
Pl -36.58+ 0.00 Pl -36.05+ 0.00 r pl 3743+ 0.00 pL -37.31% 0.00

3000 [ B 3000 — 3000 — — 3000 B

2000~ B 2000 E 2000 — — 2000 [ e

1000 C - 1000 - 1000:— C=26.71 [pS/C — 1000 C -

0 EY o 0 EY 0 . 0 5 0o
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (5.9,8) TVC(c,b ch) (5.9,9) TVC(c,b, ch) (5,9,10) TVC(c,b ch) (59,11)

©nu z00e+u4 / 25 < 1 1ub.bUbe+U4 / 25 T zz1e+u4 /25 < 1 yube+u4 / 25
4000 pO 4219+ 0.0 4000 pO 4239+ 0.0 4000 o DO 4240+ 0.0 4000 o, 4248+ 0.0
Pl 3502 0.00 Pl -34.52% 0.00 L Pl 3366+ 0.00 -34.55+ 0.00

3000 B 3000 - 3000 ] 3000 E

2000 1 2000 — 2000 ] 2000 1

1 wob C = 28.97 [ps/ch]™,_ 1 ool C = 29.71 [ps/ch] ™. 1 wob C = 28.95 [ps/ch]™,_ 1

1 1 - [ 1 1 -] 1 1 "
50 00 0 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(591 ) TVC(cbch)(5913) TVC(cbch)(591 ) TVC(cbch)(5915)

~ 1 nuiL50ye+u4 / 25 T sb4e+u4 [ 25 ~ 1L zooe+ud / 25 S rnuziie+ud [ 25
4000 e pO 4244+ 0.0 4000 [ pO 4245+ 0.0 4000 4229+ 0.0 4000 e, pO 4249 0.0
pl -35.97 + 0.00 pl -36.23+ 0.00 r -34.21+ 0.00 pl -35.52+ 0.00

3000 -1 3000 - 3000

T 3000

2000 E 2000 2000

2000

1000 1 1000 1000

wol C = 29.23 [ps/ch]™, 7

PR IR SRR |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(c,b,ch)=(5, 10,0)

=, po

A T 1ev04 /25
4159+ 0.0
pl -35.31+ 0.00

TP delay

TVC(cbch) (5.10,4

pO

[ns]

T i 1z3e+04 / 25
4212+ 0.0
pl -35.28 + 0.00

TP delay

TVC(cbch) (5, 10 8

= pD

[ns]

T 1nuigplae+ud [ 25
4219+ 0.0
pl -36.41+ 0.00

TP delay

TVC(cbch) (5,10, 12

[ns]

T i zsse+u4 | 25
4248+ 0.0
-36.56 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,10,1)

=, po

A nunLuYre+ud [ 25
4186+ 0.0
pl -35.16 + 0.00

TP delay

TVC(c, bch) (5,10,5

[ns]

- i 11ze+u4 [ 25
4205+ 0.0
pl -35.09 + 0.00

TP delay

TVC(c,b ch) (5, 10

== pO

[ns]

~ 1 nu.ay3e+ud 25
4240+ 0.0
pl -36.42 + 0.00

TP delay

TVC(cbch) (510,13

[ns]

TinuiLzoe+ud [ 25
4257+ 0.0
-36.1+ 0.0

PR BRSNS |
50 100

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

4000
3000
2000

1000

1000

TVC(cbch) (5,10,2)

- po

A7 nun L uoe+ud [ 25
4180+ 0.0
pl -34.96 + 0.00

TP delay

TVC(cbch) (5.10,6

[ns]

=1 nurLz209e+04 / 25
4228+ 0.0
pl -36.59 + 0.00

- pO
- C = 27.33 [ps/ch .
5(‘) 10‘0 =
TP delay [ns]

TVC(cbch) (5, 10 10

1000

0

- DO

© o 187e+04 [ 25
4266+ 0.0
pl -37.33+ 0.00

TP delay

TVC(cbch) (5.10, 14

[ns]

©1nuiLzuse+ud [ 25
4251+ 0.0
-36.21+ 0.00

PR IR SRR |
50 100

TP delay

[ns]

TVC(cbch) (5,10,3)

4000 00

AT 1 nuiLuoze+ud [ 25
4185+ 0.0
-35.3+ 0.0

p1

3000

2000

1000

TP delay

TVC(c, bch) (5,10, 7

2000 pO

[ns]

- nun 39ze+u4 / 25
4233+ 0.0
pl -35.74 % 0.00

3000

2000

wof C = 27.98 [ps/ch

TP delay

TVC(cbch) (5, 10 1

4000 o

[ns]

"1 nuiLpble+ud / 25
4258+ 0.0
-35.9 + 0.0

3000

2000

1000

TP delay

TVC(cbch) (5.10,15

4000 o

[ns]

S 1 z3e+ud [ 25
4230+ 0.0
pl -35.74 + 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (5,11,0)

[ C =29.67 [ps/ch]

A7 1 nuiLusae+ud [ 25
.. po 4166+ 0.0
p1 -33.7+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (511,4

T 3/ze+04 [ 25
- pO 4227+ 0.0
p1 -35.54 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 11 8

T 1nuz41pe+04 / 25
= po 4225+ 0.0
pl -36.75+ 0.00

TP delay [ns]

TVC(cbch) (5,11, 12

K71 nui ozge+u4 / 25
= PO 4238+ 0.0
pl -36.69 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5, 11 1)

- pO

p1

T Luse+ud /25
4179+ 0.0
-33.57 + 0.00

[ C=29.79 [ps/ch]

1 1
50 100

TP delay

TVC(cbch) (5 11,5

F- pO

[ns]

“nuiL 1/ e+u4 [ 25
4218+ 0.0
pl -36.03 + 0.00

TP delay

TVC(cbch) (5, 11 9

e, po

[ns]

<1 nuw, r8be+u4 | 25
4244+ 0.0
pl -35.48 + 0.00

TP delay

TVC(cbch) (511,13

= po

[ns]

)

- o g aze+u4 | 25
4236+ 0.0
p1 -36.75+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

2000

1000

TVC(CbCh) (5,11, 2)

- C = 29.99 [ps/ch]

AT 1nuiLuroe+u4 /25
e, po 4186+ 0.0
o pl -33.35+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (511,6

=i buze+ud [ 25
pe, pO 4238+ 0.0
[ pl -36.95+ 0.00

TP delay [ns]

TVC(cbch) (5,11, 10

X~ 1 nuizuzge+u4 | 25
-, po 4250+ 0.0
- pl -35.07 + 0.00

TP delay [ns]

TVC(cbch) (5,11, 14

X1 s8ze+04 [ 25
- po 4227+ 0.0
L pl -35.47 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5, 11 3)

oar g

- 1e+ud /25
== pO 4184+ 0.0
pl -33.24+ 0.00
[ C=30.08[ps/ch] . ]
TP delay [ns]

TVC(cbch) (511,7

- pO

- i bzze+u4 [ 25
4250+ 0.0
pl -36.55+ 0.00

TP delay

TVC(cbch) (5 11,11

e pO

[ns]

<1 nuiL pbae+u4 / 25
4252+ 0.0
pl -35.82+ 0.00

TP delay

TVC(cbch) (511,15

[ns]

T nui sbae+ud [ 25
4225+ 0.0
p1 -35.39+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 =,

3000

2000

1000

TVC(CbCh) (5, 12 0)

T se+ud /25
P pO 4183+ 0.0
p1 -34.79+ 0.00

TP delay [ns]

TVC(cbch) (5.12,4

- i zo3e+ud / 25
= pO 4204+ 0.0
pl -36.96+ 0.00

TP delay [ns]

TVC(cbch) (5, 12 8

1 nuiLgEYe+U4 / 25
= po 4200+ 0.0
pl -36.23 + 0.00

TP delay [ns]

TVC(cbch) (512,12

T rnuiLsi4e+04 /25
4214+ 0.0
-36.11 + 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,12,1)

AT rnunLz1se+ud [ 25
P po 4218+ 0.0
pl -35.79+ 0.00

TP delay [ns]

TVC(cbch) (5,125

- nui 3z1e+04 / 25
e, pO 4207+ 0.0
p1 -36.43+ 0.00

TP delay [ns]

TVCEeDeN)=(5, 12,9

~ 1 nug.zzge+ud [ 25
4214+ 0.0
-36.6 + 0.0

1
50 100

TP delay [ns]

TVC(cbch) (512,13

- ~ 1 nuiLa40e+u4 [ 25
- pO 4196+ 0.0
p1 -35.6 + 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,
3000
2000

1000

4000 =,
3000
2000

1000

TVC(CbCh) (5,12,2)

- C = 29.35 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5.12,6

-1 nuiLz9ve+u4 [ 25
- pO 4209+ 0.0
[ pl -36.31¢ 0.00

AT L zze+u4 | 25
__— po 4193+ 0.0
[ p1 -34.08 + 0.00

TP delay [ns]

TVC(cbch) (5, 12 10

Tz zzze+04 | 25
po 4241+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(cbch) (512,14

T nuiLgnze+u4 [ 25
pD 4200+ 0.0
pl -35.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,12,3)

AT 1L sane+ud [ 25
o=, po 4195+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(c, bch) (5,127

=1 nui boge+u4 / 25
4220+ 0.0
-36.7 + 0.0

50 1(;0
TP delay [ns]

TVC(ehch)=(5, 12, 11

Tonan1o1e+ud /25
= po 4236+ 0.0
pl -35.54 + 0.00

TP delay [ns]

TVC(cbch) (5.12,15

- T nui bzye+ud [ 25
4204+ 0.0
-35.41+ 0.00

TP delay [ns]



TVC(CbCh) (5, 13 0)

4000

3000

2000

1000

Tz, s4ze+04 [ 25
o, pO 4292+ 0.0
pl -37.26+ 0.00

TP delay [ns]

TVC(cbch) (5.13,4

4000

3000

2000

1000

T rnuiL1/4e+04 / 25
[oese. PO 4230+ 0.0
pl -36.39+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 13 8

4000

3000

2000

1000

T i 1noe+U4 / 25
e, PD 4269+ 0.0
-34.23+ 0.00

[ C=29.22 [ps/ch] ™.

0

1
50 100

TP delay [ns]

TVC(cbch) (5,13, 12

4000

3000

2000

1000

T szze+04 [ 25
- po 4235+ 0.0
pl -35.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,13,1)

AT 1 nuz.svse+ud [ 25
e po 4284+ 0.0
pl -37.16+ 0.00

TP delay [ns]

TVC(c, bch) (5.13,5

~1nui4n/e+04 [ 25
4218+ 0.0
-36.1+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 13

T nuisob/e+ud / 25
- pO 4304+ 0.0
pl -35.89 + 0.00

TP delay [ns]

TVC(cbch) (513,13

Tinangave+ud /25
- pO 4239+ 0.0
pl -35.32+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(CbCh) (5,13,2)

A~ 1nuzasie+ud /25
e, po 4299+ 0.0
: pl -37.59+ 0.00

3000

TP delay [ns]

TVC(cbch) (5.13,6

-1 nun 389e+04 / 25
po 4248+ 0.0
pl -37.25+ 0.00

TP delay [ns]

TVC(cbch) (5, 13 10

T nuiLgge+u4 [ 25
- po 4316+ 0.0
: pl -35.28 + 0.00

- C = 28.35 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5.13, 14

T gLre+u4 /25
- pD 4244+ 0.0
| pl -35.47 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,13,3)

AT 1z, 1o0e+U4 1 25
po 4310+ 0.0
pl -36.75+ 0.00

TP delay [ns]

TVC(c, bch) (5,137

-1 nui 448e+04 / 25
- pO 4260+ 0.0
pL -37.33+ 0.00

50 100
TP delay [ns]

TVC(cbch) (5, 13 11)

- pO

ut 3130/ 25
4320+ 0.0
pl -35.17 + 0.00

[ C=28.43 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (513,15

Tnaizrse+ud [ 25
- pO 4252+ 0.0
p1 -35.55+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5, 14 0)

b po

Tz, 158e+04 [ 25
4240+ 0.0
p1 -36.53+ 0.00

TP delay

TVC(Cbch) (5, 14 4

pO

[ns]

- i zo3e+ud / 25
4245+ 0.0
pl -36.23 0.00

TP delay

TVC(cbch) (5, 14 8

[ns]

-1, (3ge+u4 [ 25
4205+ 0.0
-35.4 + 0.0

TP delay

TVC(Cbch) (5, 14 12

- pO

[ns]

- 1 i pzoe+u4 [ 25
4285+ 0.0
p1 -37.44 £ 0.00

P R |
50 100

TP delay

[ns]

TVC(chh) (5,14,1)

4000 fur po

p1

AT 1 nub3ve+u4 [ 25
4234+ 0.0
-35.66 + 0.00

3000

2000

1000

TVC(c,b Ch) (5, 14 5

4000 e, DO

pl

1 1
50 100

TP delay [ns]

-1 nui 13%e+04 / 25
4257+ 0.0
-37.01+ 0.00

3000 -

2000

w0l C = 27,02 [ps/ch

TP delay [ns]

TVC(c, bch) (5, 14 9

4000 [

T nu.y3sze+ud [ 25
4236+ 0.0
-34.88 + 0.00

3000

2000

1000

TP delay [ns]

TVC(c,b ch) (5, 14 13

4000 s PO

-1 nuiLquae+ud [ 25
4270+ 0.0
-36.27 + 0.00

3000

2000

1000

TP delay [ns]

TVC(CbCh) (5,14,2)

4000 [y po

pl

3000 =

2000~

1o C = 28,05 [ps/ch

X~ 1 iz 5z9e+04 [ 25
4243% 0.0
-35.65+ 0.00

=]

1
50 100

TP delay

TVC(Cbch) (5, 14 6

4000 s, PO

p1

[ns]

© i zoge+u4 | 25
4249+ 0.0
-35.91+ 0.00

3000~

2000~

1000:— C=27.85 [pS/Ch

TP delay

TVC(e,b,ch)=(5, 14, 10

- 531e+04 ] 25
4238+ 0.0
pl -34.77 £ 0.00

4000 [

pO

[ns]

3000
2000

1000

TP delay

TVC(CbCh) (5, 14 14

4000 =, PD

[ns]

- i psre+ud [ 25
4260+ 0.0
pl -36.16 + 0.00

3000
2000

1000

TP delay

[ns]

TVC(Cbch) (5,14,3)

A1 nuizsore+ud [ 25
4236+ 0.0
pL -34.89+ 0.00

4000 fwm

po

3000

2000

1000

TP delay

TVC(c,b Ch) (5, 14 7

4000 e, PO

[ns]

-1 nui 433e+04 / 25
4278+ 0.0
p1 -36.09+ 0.00

3000 -

2000 -

w0 C =27.71 [pS/Ch

TP delay

TVC(e.beh)=(5, 14, 11

4000 [ue.

[ns]

T nui g43e+u4 / 25
4236+ 0.0
-34.7+ 0.0

3000

2000

1000

TP delay

TVC(cbch) (5, 14 15

4000 e, PO

[ns]

S ze+ud [ 25
4263+ 0.0
p1 -35.93 + 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (5, 15 0)

T rnaLolie+ud /25
Frcea 4199+ 0.0
-37.11+ 0.00

TP delay [ns]

TVC(Cbch) (5, 15 4

- rnun139e+04 / 25

k. pO 4195+ 0.0
p1 -35.77:+ 0.00

50 5
TP delay [ns]

TVC(cbch) (5, 15 8

1112 bose+u4d | 25

E pD 4222+ 0.0
p1 -36.29+ 0.00

TP delay [ns]

TVC(Cbch) (5, 15 12

- rnuzsiie+ud [ 25
pO 4223+ 0.0
pl -34.73+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,15,1)

A1 Lo (e+U4 | 25

Foase po 4184+ 0.0
pL -36.4% 0.0

TP delay [ns]

TVC(c,b Ch) (5, 15 5

- i zlle+ud [ 25
pO 4205+ 0.0
p1 -35.73+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 15

- i, r53e+04 1 25
e, pO 4246+ 0.0
pL -37.28:+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 15 13

T nuiz.p48e+u4 25
- pO 4224+ 0.0
p1 -36.2+ 0.0

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (5,15,2)

TP delay [ns]

TVC(Cbch) (5, 15 6

X~ 1L s z8e+04 [ 25
F.... po 4210+ 0.0
[ p1 -36.67 £ 0.00

3000

T 14/e+04 /25
- pO 4217+ 0.0
- pl -36.81+ 0.00

TP delay [ns]

TVC(e,b,ch)=(5, 15, 10

1000

0

- 1L ya4e+04 [ 25
-, po 4244+ 0.0
o pl -36.62 + 0.00

TP delay [ns]

TVC(CbCh) (5, 15 14

1 nuizgyde+u4 [ 25
- pD 4232+ 0.0
L p1 -37.54.+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,15,3)

A1 nuiL rose+ud [ 25

po 4212+ 0.0
p1 -35.92:+ 0.00

TP delay [ns]

TVC(c,b Ch) (5, 15 7

-/ uiLadze+04 | 25
- pO 4214+ 0.0
p1 -35.92:+ 0.00

50 160
TP delay [ns]

TVC(e,beh)=(5, 15, 11

X nun 15 /e+Ud 25
e, po 42541 0.0
p1 -36.39+ 0.00

TP delay [ns]

TVC(cbch) (5, 15 15

-z zove+ud [ 25
== pO 4219+ 0.0
p1 -35.34 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,0

A~ 1 nui Svae+ud [ 25
e po 4149 0.0
p1 -34.05+ 0.00

TP delay [ns]

TVC(cbch) (60,4

- rnuizS8e+u4 [ 25
Faue po 4169 0.0
pl -34.01+ 0.00

[ C =29.41 [ps/ch]

50 5
TP delay [ns]

TVC(cbch) (6 0,8

- Zs3e+0d | 25
b pD 4176+ 0.0
p1 -35.99+ 0.00

TP delay [ns]

TVC(cbch) (6,0,12

- 1 nuizugae+u4 [ 25
E po 4207+ 0.0
p1 -35.33+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,1

K™ 1L rse+ud [ 25
e po 4165+ 0.0
pl -35.5 £ 0.0

TP delay [ns]

TVC(c,b ch) (6 0,5

= nun 5u3e+u4 /25
Focse po 4180+ 0.0
pl -35.52+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,9

T nuiL418e+U5 / 25
P pO 4196+ 0.0
pl -36.58 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, O 13

T nuiz 1ove+ud 25
E. pO 4202+ 0.0
p1 -35.68 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,0,2)

- C = 28.64 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (60,6

X~ 1L oB/e+u4 [ 25
o po 4170+ 0.0
[ p1 -34.91+ 0.00

RNl 3e+04 /25
Fe pO 4197+ 0.0
[ p1 -35.78+ 0.00

TP delay [ns]

TVC(cbch) (6, 0 10

- 1 1. 4lae+ud | 25
- po 4215+ 0.0
L pl -35.88:+ 0.00

TP delay [ns]

TVC(cbch) (6,0,14

T rnuizuzie+u4 /25
E. pD 4198+ 0.0
L pl -35.17 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,3

A 1nuiL7z1e+ud [ 25
Foe po 4184+ 0.0
pL -35.57+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,7

=1 nuz 299e+04 | 25
Fueee po 4203+ 0.0
pl -34.77 + 0.00

[ C =28.76 [ps/ch]

50 100
TP delay [ns]

TVC(c,b ch) (6, O

=/, baﬁe+u4 125
E po 4222+ 0.0
pL -35.72.+ 0.00

TP delay [ns]

TVC(c,b ch) (6, O 15

L
=]
5}

T inuiz 114e+ud [ 25
4213+ 0.0
p1 -35.96 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,0)

o, po

A7 nun suse+ud / 25
4175+ 0.0
-36.94 + 0.00

pl

TP delay [ns]

TVC(cbch) (6.1,4

-1z, 4uze+04 [ 25
4177+ 0.0
-34.26 + 0.00

TP delay [ns]

TVC(cbch) (6 1,8

e pD

p1

© L g14e+04 / 25
4199+ 0.0
-34.62+ 0.00

TP delay [ns]

TVC(cbch) (61,12

= po
p1

T rnuiLpz1e+u4 / 25
4198+ 0.0
-35.73+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,1)

Fome, po

p1

AT rmuLo1se+ud /25
4195+ 0.0
-37.46 + 0.00

TP delay [ns]

TVC(c,b ch) (6 1,5

“nubr3e+ud [ 25
4162+ 0.0
-35.29 + 0.00

TP delay [ns]

TVC(c,b ch) (6 1,9

~ 1 nu.Usse+ud / 25
4231% 0.0
-34.88 + 0.00

TP delay [ns]

TVC(cbch) (61,13

T inuip4/e+u4 /25
4192+ 0.0
-35.54+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,1,2)

[roese po

K™ 1 nuiouse+u4 / 25
4211+ 0.0
pl -37.92+ 0.00

TP delay

TVC(cbch) (61,6

[ns]

- rnubble+ud [ 25
4197+ 0.0
-36.1+ 0.0

TP delay

TVC(cbch) (6, 1 10

= o

[ns]

©1nuzpage+ud | 25
4244+ 0.0
pl -35.57 + 0.00

TP delay

TVC(cbch) (61,14

- DD
L pl

[ns]

T Lore+ud /25
4191+ 0.0
-35.1+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,3)

po

pl

AT rnuiLsuze+ud [ 25
4195+ 0.0
-37.46 0.00

TP delay [ns]

TVC(c,b ch) (6 1,7

REAITDR

lo/e+u4 /25
4191+ 0.0
-34.8+ 0.0

TP delay [ns]

TVC(c,b ch) (6,1,

X~ g,

/me+u4 125
4254+ 0.0
-35.58 + 0.00

TP delay [ns]

TVC(cbch) (6,1,15

-1 nui ouye+ud / 25
4199+ 0.0
-35.68 + 0.00

TP delay [ns]



TVC(cbch)(620) TVC(cbch)(621) TVC(cbch)(622) TVC(cbch)(623)
AT 1L ryze+u4 [ 25 AT a1 ye+ud [ 25 A™ 1 nuizusbe+u4 [ 25 A~ 1z ule+ud | 25
4000 po 4199+ 0.0 400, PO 4210+ 0.0 4000, po 4209+ 0.0 4000, PO 4213+ 0.0
pl -37.45+ 0.00 pl -36.09 + 0.00 F pl -35.45+ 0.00 pl -36.51+ 0.00
3000 7 3000 — 3000 ] 3000 E
2000 B 2000 s 2000 ] 2000 B

1000 1000 1000

wol- ¢ = 28.21 [ps/ch

0, —L 1 1 1 1 1
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (6.2,4) TVC(cbch) (6.2,5) TVC(cbch) (6.2,6) TVC(cbch) (6.2,7)
T LB/ re+u4 [ 25 - 11U Yuge+u4 / 25 -1 nurLByze+ud [ 25 -1 nuz.034e+04 / 25
4000 R, pO 4214+ 0.0 4000 4220+ 0.0 4000 [, pO 4235+ 0.0 4000 pO 4249+ 0.0
pl -35.91:+ 0.00 -36.2:+ 0.0 3 pl -35.79:+ 0.00 pL -36.25+ 0.00
3000~ 4 3000 E a000|- 3 3000 -
2000 E 2000 - 2000 — — 2000 E
1000 C - 1000 - moo:— C=2794 [pS/Ch — 1000 —
1 1 - 1 1 - L 1 1 -
50 100 50 00 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (6,2,8) TVC(c,b ch) (6.2,9) TVC(c,b, ch) (6,2,10) TVC(c,b ch) (6,2,11)
© i pozae+u4 [ 25 Ty, rp4e+u4 [ 25 Trnuz.a3/e+04 /25 T ruiz.4u1e+04 /25
4000 fome, pO 42213 0.0 4000 fae, pO 4264+ 0.0 4000 fome, DO 4263+ 0.0 4000 fs p0 4276+ 0.0
pl -35.04 + 0.00 pL -37.06 + 0.00 3 pl -35.89 + 0.00 pL -36.83  0.00

3000 - 3000 1 3000 - 3000 -1

2000 - 2000 -1 2000 - 2000

1000 1000 1000 4 1000

0 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(6212) TVC(cbch)(6213) TVC(Cbch)(621 ) TVC(cbch)(6215)
Tz 1/e+ud [ 25 T ysse+u4 [ 25 TinuiLs14e+U4 [ 25 T rore+u4 [ 25
4000 pO 4213+ 0.0 4000 pO 4239 0.0 4000 4225+ 0.0 4000 42441 0.0
pl -34.96 + 0.00 pl -36.64 + 0.00 r -35.4+ 0.0 -35.81+ 0.00

3000 -1 3000 1 3000 - 3000 -1

2000 ] 2000 T 2000 - 2000

1000 1000

1000 - 1000

P BT B PRI S S BT S ST |
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,0

AT 1nui413e+04 /25
Froesa po 4196+ 0.0
pl -36.73+ 0.00

TP delay [ns]

TVC(cbch) (63,4

T 1L b4 /e+u4 [ 25
Fraese. pO 4230+ 0.0
p1 375+ 0.0

I C =26.66 [ps/c ]

50 10‘0
TP delay [ns]

TVC(cbch) (6 3,8

T rnuiLYole+u4 / 25
- po 4236+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(cbch) (6,312

T rnuiLysie+u4 / 25
pO 4236+ 0.0
pl -35.76 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,31

AT 1 nuiLsyoe+ud [ 25
Frase po 4202+ 0.0
pl -36.97 + 0.00

TP delay [ns]

TVC(c,b ch) (6 3,5

=1 nui buge+u4 / 25
[Focee DO 4233+ 0.0
pl -36.47 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 3,9

Tunan 7.4e+04 /25
- pO 4254+ 0.0
-35.5+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (63,13

~ 1 nui oyse+ud / 25
4223+ 0.0
-35.11 + 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (6,3,2)

A~ 1nuiLoure+ud /25
e po 4214+ 0.0
o pl -36.78+ 0.00

3000

TP delay [ns]

TVC(cbch) (63,6

T nun149e+04 /25
- pO 4237+ 0.0
- pl -36.19 + 0.00

3000

TP delay [ns]

TVC(cbch) (6, 3 10

Tnuiza3/e+u4 | 25
__ DO 4282+ 0.0
- pl -35.94 + 0.00

3000

TP delay [ns]

TVC(cbch) (6,3 14

T i, ryoe+u4 | 25
- pD 4226+ 0.0
[ p1 -36.19+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,3

AT 1 nuiLzuze+ud [ 25
- po 4217+ 0.0
pl -35.85+ 0.00

TP delay [ns]

TVC(c,b ch) (6 3,7

“nan1.44e+04 /25
- pO 4248+ 0.0
pl -35.78 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 3

T u4e+u4/25
- po 4262+ 0.0
pl -35.75+ 0.00

TP delay [ns]

TVC(C, bch) (63,15

T inuip31e+ud /25
e po 4243+ 0.0
p1 -36.43+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,0)

PSRALTS

238e+U4 | 25
4198+ 0.0
-36.06 + 0.00

TP delay [ns]

TVC(cbch) (6,4,4

134e+04 /25
4187+ 0.0
-34.11 + 0.00

_—- po/“ml
pl
[ C=29.31[ps/ch]N\_ ]
% o
TP delay [ns]
TVC(cbch) (6 4,8
o pD

~1nuiLy4pe+u4 / 25
4190+ 0.0
-35.61+ 0.00

p1

TP delay [ns]
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T inaia/4e+04 /25
4251+ 0.0
-34.75+ 0.00

3000

2000 [~

w0 C = 28.78 [ps/ch]

50

il
100

TP delay [ns]
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3000
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1000
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4000

3000
2000

1000

TVC(CbCh) (6, 11 2)

e PO

T ose+u4 [ 25
4239+ 0.0
p1 -35.86 + 0.00

TP delay [ns]

TVC(chh) (6, 11 6

T z31e+u4 / 25
- pO 4205+ 0.0
- pl -36.96 + 0.00

TP delay

TVC(e,beh)=(6, 11, 10

1000

[ns]

X© 1 s, (o8e+U | 25
- po 4250+ 0.0
[ p1 -35.45+ 0.00

TP delay

TVC(c,b Ch) (6,11, 14

[ns]

A~ 1 nun s83e+04 / 25
-, po 4267+ 0.0
[ pl -35.79+ 0.00

TP delay

[ns]
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TVC(CbCh) (6,11,3)

- po

A~ nuiL, 138e+u4d [ 25
4246+ 0.0
-36.8+ 0.0

pl

TP delay [ns]

TVC(CbCh) (6, 11 7

=1 nuiLbase+ud | 25
= po 4213+ 0.0
p1 -35.98 + 0.00

50 160
TP delay

TVC(Deh)=(6, 11, 11

= pO

[ns]

-1 nuiz.usoe+ud / 25
4252+ 0.0
pl -35.68 + 0.00

TP delay

TVC(c,b Ch) (6, 11 15

[ns]

S sy e+ud [ 25
4266+ 0.0
-35.47 + 0.00

TP delay

[ns]
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1000
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1000

TVC(CbCh) (6, 12 0)

© i 1ove+u4 / 25
- pO 4181+ 0.0
p1 -34.54.+ 0.00

TP delay [ns]

TVC(cbch) (6,124

-1 nuiLas3e+u4 / 25
pO 4232+ 0.0
p1 -37.73+ 0.00

50 100
TP delay [ns]

TVC(cbch) (6, 12 8

1L 3s4e+04 / 25
= po 4197+ 0.0
pl -35.19+ 0.00

TP delay [ns]

TVC(cbch) (6,12, 12

T i gode+u4 / 25
4226+ 0.0
-34.8+ 0.0

TP delay [ns]
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1000
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1000

4000 [,
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2000

1000

TVC(chh) (6,12,1)

x-rwa 124125
F... po 4191% 0.0
p1 -33.68 £ 0.00

[ C =29.70 [ps/ch]

L

1
50 100

TP delay [ns]

TVC(cbch) (6,125

- i b34e+04 / 25
Fomes, po 4227+ 0.0
pl -36.94 + 0.00

50 1(;0
TP delay [ns]

TVC(ebeh)=(6, 12,9

~ 1 nug. ybse+ud / 25
= po 4223+ 0.0
pl -35.07 + 0.00

TP delay [ns]

TVC(cbch) (612,13

Tinaisz/e+ud [ 25
pO 4223+ 0.0
pl -34.93+ 0.00

TP delay [ns]
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1000

TVC(CbCh) (6,12,2)

- C = 29.67 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (6.12,6

AT 1nunizze+04 /25
_l'_ po 4189+ 0.0
- pl -33.71+ 0.00

“rnun 1 59e+04 [ 25
F po 4220+ 0.0
[ pl -36.94 + 0.00

TP delay [ns]

TVC(cbch) (6, 12 10

©1nuiz,guve+ud / 25
- po 4241+ 0.0
- pl -34.9+ 0.0

TP delay [ns]

TVC(cbch) (6.12,14

T s4re+04 /25
__ pD 4233+ 0.0
L pl -34.39+ 0.00

- C = 29.08 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]
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1000
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1000

TVC(Cbch) (6,12,3)

po 4215+ 0.0
p1 -35.64 + 0.00

AT rnuiLzrze+ud | 25

TP delay [ns]

TVC(c, bch) (6,127

E pO 4258+ 0.0
pL -38.32:+ 0.00

-1 nui bbye+u4 / 25

1=
50 100
TP delay [ns]

TVC(eheh)=(6, 12, 11

- pO 4263+ 0.0
pl -36.11 + 0.00

1 nuiL bz4e+u4 [ 25

TP delay [ns]

TVC(cbch) (6,12,15

- pO 4210+ 0.0

i zgve+ud | 25

34.39 + 0.00

[ C =29.08 [ps/ch]

PR PR S S |
50 100

TP delay [ns]



TVC(c,b Ch) (6, 13 0) TVC(c,b Ch) (6,13,1) TVC(c,b,ch)=(6, 13, 2) TVC(c,b Ch) (6,13,3)
~ioZse 04 ] 25 A 1 LoLlae+Ud ] 25 T Ko 927725 A 1L abae+Ud | 25
4000, pO 4199 0.0 4000, po 4209+ 0.0 4000 po 4207 0.0 4000, po 4212+ 0.0
Pl -36.87+0.00 pl_ -36.86+ 0.00 L Pl -36.42% 0.00 Pl -36.44% 0.00

3000

-1 3000 = 3000 = 3000 N

2000 -1 2000 -1 2000 =1 2000

1000 N 1000 = 1000 =1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6,134 TVC(c, bch) (6,135 TVC(cbch) (6.13,6 TVC(c, bch) (6,137

~ g Al)beﬂJA 125 T '::)/E+04/25 “ g b)le+u4 125 T nar bd)ze+l)4125
4000 4000 4000 4000

[ouse, pO 4161+ 0.0 Flonse pO 4163+ 0.0 e, pO 4168+ 0.0 [Froees, pO 4192+ 0.0
pl -35.59 + 0.00 pL -36.02.+ 0.00 3 pl -35.54+ 0.00 pL -35.77 + 0.00

3000 — 3000 - B a000f ] 3000 | E

2000 - 2000 B 2000 ] 2000 T

1000 ] wor C = 27.76 [ps/ch ] w00F C = 28.14 [ps/ch 7 ool C ]

1 - 1 = 1 1 =
50 00 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb,oh)=(6, 13,8) TVC(eb,oh)=(6, 13,9) TVC(eb,ch)=(6, 13, 10) TVC(eb.ch)=(6,13, 1)
©1nu pgse+ud / 25 T g 3/9e+u4 [ 25 T nuiL, (53e+u4 / 25 -1 guge+u4 / 25
A000R., pO 4197+ 0.0 4000 pO 4232+ 0.0 4000 [, DO 4215+ 0.0 4000, p0 42341 0.0
pl -34.86+ 0.00 pL -35.37+ 0.00 3 pl -34.04 % 0.00 pL -36.25+ 0.00

] 3000

- 3000 T

3000 - 3000 |~

4 2000 2000

2000 2000~

1000
1000 1000

wof C = 29.37 [ps/ch]

1
0 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b ch) (6.13,12) TVC(c,b ch) (6.13,13) TVC(c,b ch) (6.13,14) TVC(c,b ch) (6,13,15)
T L bsze+u4 [ 25 Tinan1re+ud [ 25 T, rsze+04 | 25 T nui szee+ud [ 25
4000k, PO 4208+ 0.0 4000 o, PO 4181+ 0.0 4000 _= PD 4200+ 0.0 4000 PO 4200+ 0.0
pl -35.2+ 0.0 pl -34.33+ 0.00 F pl -34.9+ 0.0 pl -35.34+ 0.00

3000

-1 3000 - 3000 - 3000 .

2000 T 2000 |- - 2000 ] 2000

1000 b wo C = 29.13 [ps/ch] . 1000: —: 1000 E
'5(')""10'0-' ""E‘d""m‘o-'

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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TVC(CbCh) (6, 14 0)

T zsoe+ud [ 25
.. pO 4198+ 0.0
p1 359+ 0.0

TP delay [ns]

TVC(cbch) (6,144

- i 104e+04 / 25
- pO 4201% 0.0
p1 -35.41% 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 14 8

[ C =29.47 [ps/ch]

T, (zze+04 | 25
= po 4180+ 0.0
-33.93+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6,14, 12

T L sive+u4 / 25
== po 4208+ 0.0
pl -35.29+ 0.00
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TVC(chh) (6,14,1)

AT rnunzzze+ud [ 25
P, po 4199+ 0.0
pl -35.59 + 0.00

TP delay [ns]

TVC(c, bch) (6,145

-1 nui 383e+04 / 25
- pO 4207+ 0.0
pL -36.57+ 0.00

TP delay [ns]

TVC(c, bch) (6, 14 9

[ C =29.29 [ps/ch]

T inun p.oge+u4 [ 25
= po 4202+ 0.0
p1 -34.14 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (614,13

Tinuiyle+ud / 25
- pO 4192+ 0.0
pl -35.94+ 0.00

TP delay [ns]

TVC(CbCh) (6,14,2)
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AT 1nunssze+04 /25
=, po 4203+ 0.0
L pl -35.85+ 0.00
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TVC(cbch) (6.14,6
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2000

1000

- 1nuiL4p1e+04 / 25
- pO 4220+ 0.0
[ pl -36.75+ 0.00

TP delay [ns]

TVC(cbch) (6, 14 10
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1000

© iz 118e+ud 25
= po 4210+ 0.0
- pl -34.11+ 0.00

- C = 29.32 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (6. 14,14
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© i suse+u4 / 25
= pD 4213+ 0.0
L -36.41+ 0.00

TP delay [ns]
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TVC(Cbch) (6,14,3)

x- 1 iL4lae+ud | 25
P, po 4221+ 0.0
p1 -35.56+ 0.00

TP delay [ns]

TVC(c, bch) (6,14, 7

=1 nui boye+u4d / 25
- pO 4238+ 0.0
pL -36.99+ 0.00

50 100
TP delay [ns]

TVC(ehch)=(6, 14, 11

T nuiL4/9e+u4 [ 25
= pO 4216+ 0.0
p1 -34.84+ 0.00

TP delay [ns]

TVC(cbch) (614,15

T nai zuze+ud [ 25
- pO 4202+ 0.0
-35.71+ 0.00

PR PR S S |
50 100

TP delay [ns]
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TVC(CbCh) (6, 15 0)

T rnuiLzoze+u4 [ 25
o pO 4148+ 0.0
p1 -36.1+ 0.0

TP delay [ns]

TVC(cbch) (6,154

- rnunLu3ze+ud / 25
4170+ 0.0
-345+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (6, 15 8

TonuiLi/1e+u4 /25
[aese. pO 4210+ 0.0
-34.01+ 0.00

[ C =29.41 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (6,15, 12

T i syse+u4 / 25
e po 4285+ 0.0
pl -37.24+ 0.00

TP delay [ns]
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TVC(chh) (6,15,1)

AT 1 nuiLugoe+ud [ 25
e po 4150+ 0.0
pl -35.08 + 0.00

TP delay [ns]

TVC(cbch) (6,155

~ 1 nui 24 /e+04 [ 25
Fomme pO 4183+ 0.0
-34.06 + 0.00

[ C =29.36 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 15

T inuiz1/ve+ud [ 25
4227+ 0.0
-34.55 + 0.00

[ C =28.95 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (6.15,13

T inuig15e+ud /25
be. pO 4279+ 0.0
pl -36.89+ 0.00
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TVC(CbCh) (6,15,2)

A7 1 nuiisye+ud / 25
e po 4156+ 0.0
o pl -35.28 + 0.00

3000

TP delay [ns]

TVC(cbch) (6.15,6

© 1 nuiL,QYse+u4 / 25
Foe pO 4193+ 00
[ Pl 3496+ 0.00

- C = 28.60 [ps/ch

50 10‘0
TP delay [ns]

TVC(cbch) (6, 15 10

T rnuiLa41e+04 /25
- po 4251+ 0.0
[ p1 -34.7+ 0.0

- C = 28.82 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (6. 15, 14

~ 1 nuiL4zoe+04 / 25
e, pD 4277+ 0.0
[ pl -36.33+ 0.00

TP delay [ns]

TVC(Cbch) (6,15,3)

4000 po

AT 1 nuiLzyve+ud [ 25
4174+ 0.0
pl -36.08 + 0.00

3000

2000

1000

TP delay

TVC(c, bch) (6,15, 7

wr

2000 pO

pl

[ns]

987 /25
4198+ 0.0
-33.86+ 0.00

3000

2000 -

10 C = 29.53 [ps/ch]

50 100
TP delay

TVC(cbch) (6, 15 1

4000 fum po

pl

[ns]

-1 nuiLugYe+u4 / 25
4241+ 0.0
-34.09 + 0.00

3000 -

2000 =

1o00F C = 29.34 [ps/ch]

1
50 100

TP delay

TVC(cbch) (6,15,15

4000 pO

[ns]

T naiayze+ud [ 25
4284+ 0.0
p1 -36.82+ 0.00
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2000

1000

TP delay

[ns]
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1000

TVC(cbch) (7,0,0

K71 nui p4ze+04 /25
- po 4193+ 0.0
pl -36.57 + 0.00

TP delay [ns]

TVC(cbch) (70,4

- rnuiLbble+ud / 25
4175+ 0.0
-34.4+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (7 0,8

T rnuz183e+04 / 25
e, pO 4207+ 0.0
pl -35.62+ 0.00

TP delay [ns]

TVC(cbch) (7,0,12

Tz ysre+ud [ 25
= po 4236+ 0.0
pl -37.76 + 0.00

50 100

TP delay [ns]
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1000
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1000

TVC(cbch) (7,0,1

AT 1 nuiLroye+ud [ 25
P s po 4194+ 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(c,b ch) (7 0,5

-1 i byge+u4 / 25
E pO 4191% 0.0
p1 -35.14 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7 0,9

T nug g33e+u4 / 25
= po 4210+ 0.0
pl -36.31+ 0.00

TP delay [ns]

TVC(C, bch) (7,0,13

T nuiz.ysae+ud [ 25
= pO 4230+ 0.0
pl -37.22+ 0.00

TP delay [ns]
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1000

TVC(cbch) (7,0,2)

TP delay [ns]

TVC(cbch) (7,0,6

i 75 e+04 ] 25
F pO 4185+ 0.0
L pl -34.56 + 0.00

AT ge+04 /25
Feasa po 4204+ 0.0
[ p1 -36.46 + 0.00

3000

EC = 28.94 [psichPy, 1

50 10‘0
TP delay [ns]

TVC(cbch) (7, 0 10

1000

0

T rnuizyzie+u4 | 25
- po 4248+ 0.0
L pl -36.72+ 0.00

TP delay [ns]

TVC(cbch) (7,0,14

T g 1use+u4 / 25
3 pD 4236+ 0.0
[ p1 -38.16 + 0.00

TP delay [ns]
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TVC(cbch) (7,0,3)

T nun Ls4e+u4 /25
P s pO 4196+ 0.0
pl -36.16+ 0.00

TP delay [ns]

TVC(c,b ch) (7 0,7

- nun194e+04 [ 25
4209+ 0.0
-35+ 0.0

TP delay [ns]

TVC(c,b ch) (7, O

T ab::e+u4/25
= pO 4244+ 0.0
pl -36.05+ 0.00

TP delay [ns]

TVC(C, bch) (7,0,15

Tnanz.y4e+ud | 25
= pO 4244+ 0.0
pl -37.36 + 0.00

TP delay [ns]
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TVC(cbch) (7,1,0)

T L4/e+u4 /25
Freee pO 4175+ 0.0
pl -35.69+ 0.00

TP delay [ns]

TVC(cbch) (7.1,4

- i buze+ud [ 25
Fraese. pO 4221+ 0.0
pl -36.06 + 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(7, 1,8

T rz(e+04 [ 25
[oese, PD 4226+ 0.0
pl -35.53+ 0.00

TP delay [ns]

TVC(cbch) (7,1,12

T i, ro4e+04 / 25
= po 4223+ 0.0
pl -35.24+ 0.00

TP delay [ns]
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TVC(cbch) (71,1

x- 1 i 7yae+U4 | 25
s po 4189+ 0.0
pL -36.54 + 0.00

TP delay [ns]

TVC(c,b ch) (7 1,5

-1 nui4nze+04 [ 25
4216+ 0.0
-35.5 % 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 1

~ 1 nuig 1gze+u4 / 25
- po 4235+ 0.0
-34.61+ 0.00

[ C =28.89 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (71,13

~ 1 nuiL yyse+ud / 25
= pO 4220+ 0.0
pl -35.47 + 0.00

TP delay [ns]

TVC(cbch) (7,1,2)
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TP delay [ns]

TVC(cbch) (7,1,6

4000
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2000

1000

A~ 1nuiLorze+V4 /25
Fuse po 4190+ 0.0
L pl -36.66 + 0.00

3000

T L4 4e+04 | 25
e pO 4230+ 0.0
- pl -35.76 + 0.00

TP delay [ns]

TVC(ebeh)=(7. 1, 10

4000
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1000

1 nuz5uve+u4 [ 25
_- DO 4248+ 0.0
- -33.4+ 0.0

FC =29.94 [ps/ch] ™. 1

b

1
50 100

TP delay [ns]

TVC(cbch) (7.1,14
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Ty roe+ud /25
. pD 4224+ 0.0
L pl -35.86 + 0.00

TP delay [ns]
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TVC(cbch) (7,1,3)

- Lbae+ud [ 25
Foem, pO 4220+ 0.0
pL -36.29+ 0.00

TP delay [ns]

TVC(c,b ch) (7 1,7

-1 nui 49pe+u4 / 25
- pO 4237+ 0.0
pL -35.99+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 1

1)
~ 1 nuiz.gule+ud / 25
- pO 4261+ 0.0
-34.75+ 0.00

I C=28.78 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (71,15

T nui s43e+u4 [ 25
4227+ 0.0
-35.31+ 0.00

TP delay [ns]
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TVC(cbch) (7,2,0)

A7 zzye+V4 /25
4204+ 0.0
-36.26 + 0.00

TP delay [ns]

TVC(cbch) (7,2,4

1z8e+U4 / 25
4185+ 0.0
-35.34+ 0.00

— po, s
pl
e 4
| L
50 100
TP delay [ns]
TVC(c,b ch) (7, 2 8
o pD

p1

.10/e+u4 /25
4231+ 0.0
-37.52+ 0.00

TP delay [ns]

TVC(cbch) (7,212

T rnuiLplze+u4 [ 25
4213+ 0.0
-36.13+ 0.00

TP delay [ns]
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1000

TVC(cbch) (7,2,1)

P PO

p1

AT 1L sose+ud [ 25
4189+ 0.0
-36.23+ 0.00

TP delay [ns]

TVC(c,b ch) (7 2,5

“rnu 1/5e+04 / 25
4205+ 0.0
-36.17 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 2

e, po

pl

~ 1 nug.zyae+ud 25
4235+ 0.0
-35.51+ 0.00

TP delay [ns]

TVC(C, bch) (7.2,13

=, pO

T inuislye+ud [ 25
4211+ 0.0
-35.87+ 0.00

TP delay [ns]
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1000
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0

TVC(cbch) (7,2,2)

[ oeee, po

pl

A7 1 nui zove+u4 / 25
4197+ 0.0
-36.6+ 0.0

TP delay

TVC(cbch) (7,2,6

pO
p1
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